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Topic:- Child Development & Pedagogy (CDP)

1) The hyperkinetic disorder is characterized by all of the following, except: / Fﬁmﬁﬂ?

R 3t faua Fafafeq & 9§ 59 seor Ivad &
1. Distractibility / TS faaferct

2. Hyperactivity / ffaafeaar

3. Hallucinations / FfcTyH

4. Impulsivity / SO Ifad

Correct Answer :-

« Hallucinations / AfdYH

2) Teachers must constantly deal with changing standards and

teaching profession. /ﬁT&ﬁﬁﬂﬁ Rreor sggarg | me 3R
& 1Y St BT AT

1. Syllabus / GT3Y-fdaRor

2. Curriculum /q'l"o'ilﬂ"':lf

3. Assessment / 3{Tha

4. Exam system / Y& HoTTet

Correct Answer :-

« Curriculum / ureaaaf

3) Piaget believed that language develops in a child as a result of: / s sramaT U fe
= ¥ Yty &7 faer, e & aRumrasu ghar &:

1. Cognitive development / IITHD EEQES
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2. Egocentric development / A ad fabra
3. Behavioural development / HIERTHAD [AHg
4, Environmental development /EITITETUﬂ?IﬁHTm

Correct Answer :-

« Cognitive development / TS faer

4) Mary is very outgoing. She is an exceptional Bharatanatyam dancer but does not score well
in her academics. Which of the teaching method will give more productive results for Mary? /

¥ aga At 81 98 vo STURYT WRaATeTH TdW! 8 Afp a8 Rign # Hatwe® o
51 urdt 8 | 7Y & fore o= <t Raror faftr siftres ey ghfie

1. Excursions /HHUT T e

2. Brainstorming methods /mﬁfﬂ

3. Grade acceleration /ﬂg@

4, Individualized instructions / %ﬁﬁaﬂﬁr&m

Correct Answer :-

« Excursions /HITUTQTG'HThE

5) The occurrence of is an indication of stagnation in the learning process. /

P e, ity Y ufean § fRRar o1 e G 2
1. Motivation / S{fYTROT

2. Plateau / fRRI® (@iel)

3, Progression / WA

4. Curve / 9% (F9)

Correct Answer :-

. Plateau / RRI® ([ﬁﬂ)

6) What is the main objective of teaching in inclusive classrooms? / TRt SHEmed | ugH
&1 Y31 IERT FT 87

1. Preparing students for job/ B B AL P 1T IR AT
2. Preparing students to pass the examination / BT DI URI&T U B B fag TR AT
3. Developing thinking power of students / B B feid Xfdd oI faH™ BT

4, Providing notes to students / STl &I Al Xl HalHd bl
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Correct Answer :-

« Developing thinking power of students / BT I (e fad &1 g™ BT

7) Development does not include changes that happen due to: ACCaLE: | %uﬁaﬂﬂwﬁrﬁﬁﬂﬁ
B o e F FRUTE §

1. Illness / SR

2. Learning / ST

3. Maturation / GRUGl
4. Aging / gl

Correct Answer :-

o Tllness / START

8) The key agent in Erikson’s Psychosocial stage of “Autonomy versus shame and doubt” is /

“TGTIRIAT §TH X4 3R Heg” (TS HTH! a8 WA US BT3¢) & TR & HAIGHING IR0 H
TIEUCH ¢ -

1. Primary caregiver / IR Yghe
2. Family / uRaRr

3. Parents / rar-foar

4. Teachers and peers / fRrerep iR Tt

Correct Answer :-

« Parents / ATal-UaT

9) When a child breaks a vase, his parents explain that this was wrong and tell him that he will not
receive his pocket money for a week. What type of parenting is this? / STd b d=dT pelgl- ?ﬁ?:?lT
8, O I® graT-firdT §w3id ¢ 3 g erd o1 ok 39 9a1d § % ve g & fog 3
SIS g1 T | 98 f5d TSR &1 Ura=-uror g2

1. Behaviourist/ IAGRATG]
2. Authoritarian / STATGT
3. Authoritative / BEIIRET

4. Permissive / Hﬂmﬁ

Correct Answer :-

« Authoritative / TTIBIRE
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10) Children with Autism are: / TIeN-IdT (3TfevH) A difgaT= gla &
1. Unable to make eye contact with others. / QFI?-I‘ & 1Y 3G T YU Hed A argaef
2. Unable to move about comfortably. / 3IRTH J ‘aj:le[ T argeef

3. Unable to fall asleep. /e ey
4. Unable to follow instructions. / ISR &1 UTei &3 § 3rqaef

Correct Answer :-

« Unable to make eye contact with others. / §¥I§.| & 1Y 3G TGP Hed o argaef

11) During stage of cognitive development, children acquire knowledge through
manipulating objects. / ST [AHN & ATTT & SR, T TGl | BIWR FIS
I U $ed 51

1. formal operational stage/ NI HfehuTed TR
2. sensorimotor stage / HERIHIER =T
3. concrete operational stage / @ﬂﬁﬂm STaxT

4. preoperational stage / Jd TfhaTd® SR

Correct Answer :-
« sensorimotor stage / HERIHIER SR

12) One way of minimizing the effects of diversity is to allow the children to: / fafaear & yua &
FH I BT TP aslD] gal B =1 B Srgafa T R:

1. Win over each other/ W—@:{ TR ofid B'Iﬁlﬁ B DI

2. Operate in separate groups/ SICT-3{cT ﬂ&@f T B HH DI

3. Start small communities of their own/3{0" W4 & Bl W@ Gl L= P P
4. Socialize with each other/ W—Eﬁﬁ' & 1Y A a'c.rﬁ @t

Correct Answer :-

« Socialize with each other/ @-gﬂ% & 1Y A Wlﬁ @t

13) According to Ivan Pavlov’s idea of Classical Conditioning, a particular natural response to a
stimulus becomes a conditioned response to another associated stimulus. Which one of the following

examples satisfies that theory?/ §aT- UTGAId & FATD T DI P [TIR & AR, TH
o1 & fore ue faiy wipfaes ufafiear g das SaoT & fore v w=r wfafshar o St
81 FufarEa & & 319 971 3Tl 39 Risid & 6ge HaT1 82

1. Children responding to the bell at school to indicate recess and associating it to happiness./ [CEIGEE]

° TO BT I IAHTY BT Tobd JHA & IR I =M & Wy Asd g1
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2. Children maintaining silence when the teacher raises her hand/ GWQTW BIY oIl % o ﬁéfqﬂ:ﬁ
LG B |

3. Children expecting to receive medals by the end of a race/ ?IE% 3id TP Uad U HA D1 SHIG
G AT = |

4. Children getting star stickers for the right answers asked in class./ &I | @ U a1 3R & [y ®R
fReehR YTt 3 arel = |

Correct Answer :-

« Children responding to the bell at school to indicate recess and associating it to happiness./ ICEIGEE:]

°E) T DI I SAHIY BT Mhd THIAd ¢ SR I GeM & 91y Sigd g

14) According to Cognitivism, learning is defined as a change in the learners’

AIFATHSDAIG & AR, AR B Rramdfd ﬁw%mﬁuﬁmﬁaﬁw
ST gl

1. Behaviour / dgIR

2. Schemata/ Hdog @ﬂﬂm)
3. Mindset / AR

4. Morals / -ifdd

Correct Answer :-

« Schemata/ Had @'FI'IE'I)

15) According to Bingham, what does an aptitude test disclose? Aciekg SR, \?rlﬁ-IQﬁl'q'\Pf&I'UT
< &1 qa1 Tl 87

1. The tendencies and capacities inherent in the individual's original constitution./ fad & Hel WdHIg i fAfga

&S 3R ygfrat
2. The achievement in different dispositions./ fafts m Iradr § Iuafsd

3. The readiness to acquire proficiency and exercise ability./ T 3R 31T R &I d=dl

4. The strength of the different dispositions./ fafis 3@1&@ Tl Bt ar

Correct Answer :-

« The readiness to acquire proficiency and exercise ability./ T 3R 31T HRA 1 d=a|

16) A child was taught to be afraid of cobras. Now, he is afraid of all snakes. What learning principle

is evident here? / U = ) PIERT I ST FRIRGTAT 747 AT 374, I8 I A0 & ST 8 | I8l B
|1 AR Rrgia @y 82

1. Reinforcement / QT'IE{FFT

2. Spontaneous recovery / ¥dd: QFR'Iﬁ?ﬁ
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3. Stimulus generalization / Fe TS EIHT
4. Stimulus discrimination / J&IUe fancieur

Correct Answer :-

« Stimulus generalization / &0 THTAIHRT

17) Carl Jung’s approach for a personality assessment is:/ TfakTed B & [eTT BTl T BT

1 Judging/ﬁmﬁﬂ

2. Perception /Fde
3. Structured / AR
4, Projective / gadE

Correct Answer :-

« Projective / UAURT

18) Which of the following is the term used to denote inborn patterns of behavior that are

biologically determined? / wifde =u 3 ﬁiﬁhﬁ Hdgl} & SIS Ue] Dl a'ﬂ'ﬁ G ﬁi’[{
Frafafea & 9 fvw 2reg o1 3uah faar s g2

1. Arousal / SIS (TRI3TA)

2. Drives / H<IHIG (ST509)

3. Instincts / H?fﬂ@ﬁl’q\f (31@?13)
4, Incentives / TAIHT (mﬁaﬁ)

Correct Answer :-

« Instincts / HEVIREl GReTe)

19) Which of the following is not a part of the process of memory? /Fafafeada aﬁﬂmﬂﬁf ot
yfshar &1 fowar 181 82

1. Storing information /BRI m PIAT
2. Encoding information / BRI BT b0l Bl

3. Acting on information / =T U BT HAT

4. Retrieving information / SIECARRCIINECRE]

Correct Answer :-

« Acting on information / AT U BT BT
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20) What substage of cognitive development is apparent when a baby learns to press the ‘play’
button on the iPad in order to play his favourite nursery rhyme? / HTTH® forr ot o=
SU-SERIT WY BI1 §, SId TP T 30 Widier 78 fdar ¢um ¥ R aE-ds
@ ge garHT Jiaar 82

1. Coordination of secondary schemes / e droH13 BT 9H-ag
2. Primary circular reactions it qudlh R ufafeamg

3. Secondary circular reactions / Heate qulhiR IGIEI

4, Tertiary circular reactions lm ESIEZN ufafeang

Correct Answer :-

+ Coordination of secondary schemes AT sl &1 aHad

21) What age is a child the most impressionable? / foa 31y BT =T Had Tl m-n‘mﬁ‘eﬂm%‘*
1. 14 to 18 years / 14 ¥ 18 T

2.2to 8years /29 8ay

3.9to 12 years /99 12 9§

4,6t l4years;’6@ 14 99

Correct Answer :-

« 6t0 14year33‘6% 1499

22) CCEisundertaken /RIS s fHarwmargl
1. Four times a year / Qav_aﬁﬁﬁ'l? IR

2. Throughout the year / i R A

3. Periodically / JHI-JHY U

4. Twice a year / U a4 H g1 IR

Correct Answer :-

« Throughout the year / CLRITEE|

23) Questioning in the classroom : / PE&IT o Uy BT
1. Develops inactivity / fAfspadr fawRid Har %l
2. Clarifies subject matter / TdUT %7 P TF HAT 5|
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3. Creates indiscipline / 3[RIRITg-Tdl UG HRdl B
4, Is a waste of time / JHI Bl aﬁh"r %l

Correct Answer :-

« Clarifies subject matter / IELE q¥g Ga Y DHdl %I

24) Needs which grow stronger when unsatisfied are called: IW Eo'-'\ﬁ W WB}% arett
ATIIHATY =1 Hgard §:

1. Deficiency needs / U TR A

2. Primary needs / T SReRd

3. Growth needs / 3G SEvd

4, Being needs / TARIH Sl
Correct Answer :-
« Deficiency needs / U TTRA

25) Who proposed the theory of observational learning? /verotr iftnma &1 Rrgia fFas
Tgd foar?

1. Ivan Pavlov / $aT9 UTdQ@Id
2, B.F. Skinner / 1.3%. flpR
3. Aaron Beck / 3R §b

4. Albert Bandura / ST

Correct Answer :-

« Albert Bandura / SR

26) A scoring guide use to evaluate the quality of students is called: / BEl B
gmmqwﬁmmﬁ%ﬁmaﬁwaﬁaﬁmwﬁﬁﬁﬂmﬁmm

1. Checklist / IPpiee
2. Rubrics / & Ieiad
3. Rating scales / 3T Wheq

4. Inventories / 39dfcH

Correct Answer :-
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. Inventories / S7af¢H

27) Both pleasant and unpleasant feelings are associated with WA LCH

3R 31T =T HTITS A ISl Bl
1. Double approach — avoidance conflict / fg @0 - ufer e
2. Avoidance - avoidance conflict / Uﬂ?l'{ - uﬁ‘sﬂmﬁ

3. Approach — approach conflict / TP - TR TEY
4. Approach — avoidance conflict / PP - URER Ty

Correct Answer :-

- Approach — avoidance conflict / DI - URER gy

28) Authentic Assessment is a form of assessment in which: / UTHIOTS Sfiha fTHa-
B TP ©7 ¢ o

1. Students are asked to perform real-world tasks that demonstrate meaningful application of

essential knowledge and skills. /Wﬁﬁﬁ%ﬁ%ﬁﬁaﬂﬁ%mwm%
ST AT FT SR BT &b T SN B! Uefdfd Hd §

2. Students results are compared to hypothetical average student / EJF|| %Wﬁw
SIS NTd B Y B Sl &

3. Student performance is measured against a fixed set of predetermined criteria or learning standards

/ BT & USH F gd FuUia AMcs! a1 Wen $ AHs! & TP R I & R{odia qr s @

4. Teacher determines students' individual strengths, weaknesses, knowledge, and skills prior to

instruction /ﬁlw S| &I TfaaTTd W, mﬁﬁ,aﬁeﬁ?ﬁwﬁaﬁmﬁuﬁﬁ
FufRa®ars

Correct Answer :-

« Students are asked to perform real-world tasks that demonstrate meaningful application of

essential knowledge and skills. / PG ARIESIEED gﬁm%aﬁfﬁmﬁ%ﬁwm%
Sl AT FH SR BRI & s SN & Ueifd Hd §

29) CANCELLED
Classical gestalt theory was put forth by: / FATRIS o TIRCTee RIgid 9 §RT UNd T T4 A

1. Thorndike | UTHSISH
2. Kohler / EF-E?‘IT
3. Piaget / U

Page- 9



4. Pavlov / UTdAId

Correct Answer :-

30) Which of the following factors influences a child's success and failure in school performance

éﬁaﬁ-@ﬁﬁﬁaﬁq-mwﬁam%wahﬁaéaﬁwsﬁ?maﬁmnﬁam

1. Parental education background / HTCTI-fUdT o RI& Bt qg‘l;l'\&l

2. Physical strength of child / T & ARING II\_schﬂ'

3. Teachers contribution in learning process / &m qraﬁ_“:" 'Ef fﬁT&ﬁﬁ aﬂw
4. Social Influence on child's learning / TP AR R JHINE THE

Correct Answer :-

« Teachers contribution in learning process / Siferm ufepar o Rre/! &1 AN

Topic:- General English(L1GE)

1) Fill in the blanks with the correct option in the given sentence:
Most plant species are not adapt -- to a desert environ--.

1. --ive ... --ment

2. -- able ... -- mental

3. --able ... -ment

4, --jon ... mentally

Correct Answer ;-

+ --able...--ment

2) Fill in the blank with the correct option in the given sentence:

A person of little or no importance is a --entity.
1. non--

2. trans --

3. uni--

4, dis --

Correct Answer :-
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3) Read the passage and answer the question that follows:

Fleas are perfectly designed by nature to feast on anything containing blood. Like a shark in the
water, fleas are ideally equipped to do what they do, making them very difficult to defeat. A flea
has a body covered by a tough, tile-like plate called a sclerite. Because of these plates, fleas are
almost impossible to squish. These are also waterproof and shock resistant, and therefore fleas
are highly resistant to the sprays and chemicals used to kill them. Little spines are attached to
this plate. The spines lie flat against the flea’s thin, narrow body as the flea scurries in search of
food. However, if anything tries to pull a flea off through the hair coat, these spines will extend
and stick to the fur like Velcro. Fleas are some of the best jumpers in the natural world. A flea
can jump seven inches, either vertically or horizontally. They have very long rear legs with huge
thigh muscles and multiple joints. When they get ready to jump, they fold their long legs up and
crouch like a runner on a starting block. Several of their joints contain a protein, which helps
catapult fleas into the air as they jump. The adult female flea mates after her first blood meal
and begins producing eggs in just 1 to 2 days. These eggs can be seen with the naked eye.
Shortly after being laid, the eggs begin to transform into cocoons. In the cocoon state, fleas are
fully developed and will hatch immediately if conditions are favorable. Fleas can detect warmth,
movement, and carbon dioxide in exhaled breath, and these three factors stimulate them to
emerge as new adults.

What helps fleas to jump very high?

1. They are naturally born high jumpers and take off like a plane.

2. They are not insects that jump very high but rather move very fast.

3. They have short front legs and very long rear legs and get ready to jump.

4. Their rear legs have huge thigh muscles and their joints have a protein that helps.

Correct Answer :-

» Their rear legs have huge thigh muscles and their joints have a protein that helps.

4) Read the passage and answer the question that follows:

Fleas are perfectly designed by nature to feast on anything containing blood. Like a shark in the
water, fleas are ideally equipped to do what they do, making them very difficult to defeat. A flea
has a body covered by a tough, tile-like plate called a sclerite. Because of these plates, fleas are
almost impossible to squish. These are also waterproof and shock resistant, and therefore fleas
are highly resistant to the sprays and chemicals used to kill them. Little spines are attached to
this plate. The spines lie flat against the flea’s thin, narrow body as the flea scurries in search of
food. However, if anything tries to pull a flea off through the hair coat, these spines will extend
and stick to the fur like Velcro. Fleas are some of the best jumpers in the natural world. A flea
can jump seven inches, either vertically or horizontally. They have very long rear legs with huge
thigh muscles and multiple joints. When they get ready to jump, they fold their long legs up and
crouch like a runner on a starting block. Several of their joints contain a protein, which helps
catapult fleas into the air as they jump. The adult female flea mates after her first blood meal
and begins producing eggs in just 1 to 2 days. These eggs can be seen with the naked eye.
Shortly after being laid, the eggs begin to transform into cocoons. In the cocoon state, fleas are
fully developed and will hatch immediately if conditions are favorable. Fleas can detect warmth,
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movement, and carbon dioxide in exhaled breath, and these three factors stimulate them to
emerge as new adults.

How is it impossible for anyone to detach themselves from fleas?
1. Fleas attach themselves to the skin of the animal.

2. Fleas have little spines that stick into animal fur like Velcro.

3. Fleas can jump very high and land on the same animal.

4. These insects are very clever and have a thinking mind.

Correct Answer :-

« Fleas have little spines that stick into animal fur like Velcro.

5) Read the passage and answer the question that follows:

Fleas are perfectly designed by nature to feast on anything containing blood. Like a shark in the
water, fleas are ideally equipped to do what they do, making them very difficult to defeat. A flea
has a body covered by a tough, tile-like plate called a sclerite. Because of these plates, fleas are
almost impossible to squish. These are also waterproof and shock resistant, and therefore fleas
are highly resistant to the sprays and chemicals used to kill them. Little spines are attached to
this plate. The spines lie flat against the flea’s thin, narrow body as the flea scurries in search of
food. However, if anything tries to pull a flea off through the hair coat, these spines will extend
and stick to the fur like Velcro. Fleas are some of the best jumpers in the natural world. A flea
can jump seven inches, either vertically or horizontally. They have very long rear legs with huge
thigh muscles and multiple joints. When they get ready to jump, they fold their long legs up and
crouch like a runner on a starting block. Several of their joints contain a protein, which helps
catapult fleas into the air as they jump. The adult female flea mates after her first blood meal
and begins producing eggs in just 1 to 2 days. These eggs can be seen with the naked eye.
Shortly after being laid, the eggs begin to transform into cocoons. In the cocoon state, fleas are
fully developed and will hatch immediately if conditions are favorable. Fleas can detect warmth,
movement, and carbon dioxide in exhaled breath, and these three factors stimulate them to
emerge as new adults.

What helps fleas to emerge quickly as adults from being cocoons?

1. The eggs are large enough and can be seen without the help of a microscope.

2. They hatch immediately and transform themselves into cocoons.

3. They are warm inside their cocoon and can emerge as full adults after only a day.

4. They can identify warmth, movement and carbon dioxide in exhaled breath.

Correct Answer :-

« They can identify warmth, movement and carbon dioxide in exhaled breath.

6) Read the passage and answer the question that follows:
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Fleas are perfectly designed by nature to feast on anything containing blood. Like a shark in the
water, fleas are ideally equipped to do what they do, making them very difficult to defeat. A flea
has a body covered by a tough, tile-like plate called a sclerite. Because of these plates, fleas are
almost impossible to squish. These are also waterproof and shock resistant, and therefore fleas
are highly resistant to the sprays and chemicals used to kill them. Little spines are attached to
this plate. The spines lie flat against the flea’s thin, narrow body as the flea scurries in search of
food. However, if anything tries to pull a flea off through the hair coat, these spines will extend
and stick to the fur like Velcro. Fleas are some of the best jumpers in the natural world. A flea
can jump seven inches, either vertically or horizontally. They have very long rear legs with huge
thigh muscles and multiple joints. When they get ready to jump, they fold their long legs up and
crouch like a runner on a starting block. Several of their joints contain a protein, which helps
catapult fleas into the air as they jump. The adult female flea mates after her first blood meal
and begins producing eggs in just 1 to 2 days. These eggs can be seen with the naked eye.
Shortly after being laid, the eggs begin to transform into cocoons. In the cocoon state, fleas are
fully developed and will hatch immediately if conditions are favorable. Fleas can detect warmth,
movement, and carbon dioxide in exhaled breath, and these three factors stimulate them to
emerge as new adults.

Why are fleas considered impossible to defeat?

1. They can jump very high.

2. They run at an enormous speed.

3. They are well outfitted to feast on any animal blood.

4. They are too tiny to catch.

Correct Answer :-
» They are well outfitted to feast on any animal blood.

7) Read the sentence carefully and choose the option that has an error in it:

Which was the best of the two books?
1. best

2. Which was

3. the

4, of the two books?

Correct Answer :-
* best
8) Read the passage and answer the question that follows:

In 1864 gold was found in California. Thousands of people rushed there to get some. Many people liked living
there and decided to stay on. But there wasn’t a whole lot to go on because the train service had not yet started as
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the railway line was incomplete. There was no phone either...so what do you do if you wanted to get a message
across to a distant place...? Well, you used the Pony Express.

The Pony Express was the fastest way to get news from one place to another. The trail that they rode was around
2000 miles. Most people would be able to travel that distance in about 30 days....the Pony Express did it in 10 days.
It had 184 stations along the way about 10 miles apart. The rider would switch to a new horse at every station. He
would only take his mail pouch with him. After completing 75 miles, the rider would get a home station. It was
tough to ride the Pony Express. For the men who rode the horses, weight mattered. Therefore, most riders of the
Pony Express were teenage boys and they rode at a fast pace...up to 100 miles a day. The ride could be rough and
dangerous as the native Americans attacked them continuously. The Pony Express was able to fulfill an imperative
need at that time.

Why do you think the rider of the Pony Express had to change horses every 10 miles?
1. The rider would get tired of riding the same horse.

2. The rider had to reach the home station quickly.

3. The horse was ridden fast and would get tired.

4. He had to take his mail pouch with him on the horse.

Corré& Aﬁsuﬁer i

« The horse was ridden fast and would get tired.

9) Read the passage and answer the question that follows:

In 1864 gold was found in California. Thousands of people rushed there to get some. Many people liked living
there and decided to stay on. But there wasn’t a whole lot to go on because the train service had not yet started as
the railway line was incomplete. There was no phone either...so what de you do if you wanted to get a message
across to a distant place...? Well, you used the Pony Express.

The Pony Express was the fastest way to get news from one place to another. The trail that they rode was around
2000 miles. Most people would be able to travel that distance in about 30 days....the Pony Express did it in 10 days.
It had 184 stations along the way about 10 miles apart. The rider would switch to a new horse at every station. He
would only take his mail pouch with him. After completing 75 miles, the rider would get 2 home station. It was
tough to ride the Pony Express. For the men who rode the horses, weight mattered. Therefore, most riders of the
Pony Express were teenage boys and they rode at a fast pace...up to 100 miles a day. The ride could be rough and
dangerous as the native Americans attacked them continuously. The Pony Express was able to fulfill an imperative
need at that time.

Why did people rush to California in the 1860s?

1. Gold was found in the state and everyone wanted some.
2. The Pony Express was founded in the state.

3. It opened the way for new communications.

4. It was a place for new settlements.

Correct Answer :-

= Gold was found in the state and everyone wanted some,
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10) Read the passage and answer the question that follows:

In 1864 gold was found in California. Thousands of people rushed there to get some. Many people liked living
there and decided to stay on. But there wasn’t a whole lot to go on because the train service had not yet started as
the railway line was incomplete. There was no phone either...so what do you do if you wanted to get a message
across to a distant place...? Well, you used the Pony Express.

The Pony Express was the fastest way to get news from one place to another. The trail that they rode was around
2000 miles. Most people would be able to travel that distance in about 30 days....the Pony Express did it in 10 days.
It had 184 stations along the way about 10 miles apart. The rider would switch to a new horse at every station. He
would only take his mail pouch with him. After completing 75 miles, the rider would get a home station. It was
tough to ride the Pony Express. For the men who rode the horses, weight mattered. Therefore, most riders of the
Pony Express were teenage boys and they rode at a fast pace...up to 100 miles a day. The ride could be rough and
dangerous as the native Americans attacked them continuously. The Pony Express was able to fulfill an imperative
need at that time.

Why did the Pony Express begin?

1. Ponies were the fastest means of transport.

2. America had a lot of ponies and made good use of it.

3. There was no telephone or trains and no means to get or send news.

4. There were many wild horses roaming the countryside.

Correct Answer :-

« There was no telephone or trains and no means to get or send news.

11) Read the passage and answer the question that follows:

In 1864 gold was found in California. Thousands of people rushed there to get some. Many people liked living
there and decided to stay on. But there wasn’t a whole lot to go on because the train service had not yet started as
the railway line was incomplete. There was no phone either...so what do you do if you wanted to get a message
across to a distant place...? Well, you used the Pony Express.

The Pony Express was the fastest way to get news from one place to another. The trail that they rode was around
2000 miles. Most people would be able to travel that distance in about 30 days....the Pony Express did it in 10 days.
It had 184 stations along the way about 10 miles apart. The rider would switch to a new horse at every station. He
would only take his mail pouch with him. After completing 75 miles, the rider would get a home station. It was
tough fo ride the Pony Express. For the men who rode the horses, weight mattered. Therefore, most riders of the
Pony Express were teenage boys and they rode at a fast pace...up to 100 miles a day. The ride could be rough and
dangerous as the native Americans attacked them continuously. The Pony Express was able to fulfill an
imperative need at that time.

Give a synonym of ‘imperative’.
1. Trifling
2. Trivial

3. Crucial
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4. Inconsequential

Correct Answer :-

+ Crucial

12) Choose the appropriate tense to fill in the blank in the given sentence:

| the book that you lent me. I have got another 80 pages to read.
1. have been reading

2. has been reading

3. had been reading

4, am reading

Correct Answer :~-
« have been reading

13) Fill in with correct determiner in the given sentence:

My brother does not drink coffee.
1. few

2. alot

3. much

4, many

Correct Answer :-
« much

14) Rewrite the following changing the active sentence to passive.

Seema informed me about her late arrival.

1. I has been informed by Seema about her late arrival.
2. I was informed by Seema about her late arrival.

3. I informed Seema about her late arrival.

4, About her late arrival, I have been informed.
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Correct Answer :-

« I was informed by Seema about her late arrival.
15) Choose the right tag:

Add some more milk to your cereals, ?
1. would you

2. wouldn’t you

3. don’t you

4. do you

Correct Answer :-
« would you

16) Choose the right tag:

He is coming here today, ?
1.isn't he

2.is he

3. has he

4, doesn't he

Correct Answer :-
« jsn't he

17) Choose the appropriate prepositions for the given sentence:

A waterfall is a stream ____ water that drops straight a high point.
1.in ... out of

2. of ... down from

3. of ... through from

4, for ... out from

Correct Answer :-

« of...down from
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18) Choose the appropriate antonym for the highlighted word in the given sentence.

There is a shortage of books at our library.
1. surfeit

2. paucity

3. opulent

4. undersupply

Correct Answer :-

« surfeit

19) Choose the appropriate conjunction for the given sentence.

Upendra is taller Arun.

1. that
2. till
3. though

4, than

Correct Answer :-
« than

20) Choose the appropriate option that rewrites the given sentence in its passive voice.

Anil bagged the best conduct award.

1. The best conduct award is bagged by Anil.

2. The best conduct award was bagged by Anil.

3. The best conduct award has been bagged by Anil.

4, Best conduct award was being bagged by Anil.

Correct Answer :-

+ The best conduct award was bagged by Anil.

21) Choose the appropriate option that rewrites the given sentence in indirect speech.
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Khushi says to Swati, “When are you going to Kanpur?”
1. Khushi asks Swati when she is going to Kanpur.

2. Khushi asked Swati when she was going to Kanpur.

3. Khushi asked Swati about going to Kanpur.

4, Khushi questioned Swati about Kanpur.

Correct Answer :-

« Khushi asks Swati when she is going to Kanpur.

22) Choose the appropriate tense to fill in the blank in the given sentence:

Yesterday while I inclass I the hiccups. My friend told me my breath.

1. sat, got, to hold
2. was sitting , had got , to hold
3. was sitting, got, to hold

4. am sitting, got, hold

Correct Answer :-
+ was sitting, got, to hold

23) Choose the appropriate synonym for the highlighted word in the given sentence.
It is important for a driver to have a valid Driver’s License.

1. significant

2. creamy

3. trifle

4, consider

24) Choose appropriate articles for the given sentence:

Experts believe that by twenty-first century earth’s supplies of gas and oil will be
largely gone.

1. no article required ... no article required
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2. No article required ... an
3. the ... no article required

4, the ... the

Correct Answer :-

e the ... the

25) Choose appropriate article for the given sentence:

____ Bibleis a holy book, which teaches us the way to live a good life.
1. The

2. No article

3. An

4. A

Correct Answer :-

 The

26) Choose an appropriate modal for the given sentence:

Harini is late. She _____ have forgotten her way back to the new hostel!
1. should

2. can

3. shall

4, must

Correct Answer :-

27) Choose the most suitable pronoun for the given sentence:

A big pendulum clock! is what T want.
1. Those
2. This

3. Their
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4, These

Correct Answer :-
« This

28) Choose the option that substitutes the given phrase appropriately.

The fear or hatred of books
1. Bibliophobia

2. Bibliophile

3. Bibliomania

4. Bibliography

Correct Answér.:- |

« Bibliophobia

29) Choose the option that best explains the highlighted expression:

She would go to the ends of the earth to save children.
1. to fuss around

2. walk with her children

3. to do everything possible

4. doing nothing possible

Correct Answer :-
» to do everything possible

30) Which of the following options best combines the given sentences?

Three people were injured in the blast. It took place yesterday.
1. The blast, yesterday, three people were injured in the blast.
2. Three people yesterday were injured in the blast.

3. Yesterday, three people were injurious in the blast.

4. Three people were injured in the blast that took place yesterday.

Correct Answer :-
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« Three people were injured in the blast that took place yesterday.

Topic:- General Hindi(L2GH)

1) Hied 3¢ 9id ue, W gam Tl

g Haufy ¥d W, a9 W= yHTd | |

Fgd Aed Jeia g frea Raaa afsmamal

W U & Hed § A9 8l Ha arali

Iuded Ui B UgH HE YD T UY BT IR g5
U - WA ST yafgardt e o T8t 82

1. f=m

2. RN

3. 498

4. AT

Correct Answer :-

2) igd 3iie i ue, Tmw e |

g oA A W, STaT U=at GuTi |

Fgd Ted Hera g e e aftmama)

W W Ba § A S wa arail

Uy ULl HI UgHR A IR T Uy BT IR TA153:
WA - <30 HT 34 T 82

1. XM

2.30d

3. gde
4. 94

Correct Answer :-

3) digd 3¢ Wid ue, T\ gaH Wa|
HAg A H6 W, A9 U=RAT AT | |
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$gd "ed Joid [ faq faad afmm|

WRUWTF A a g g aaaan

UG T B UGHR I T T Y BT S FAFA:
Y- BEd......aforara § gqw Bt Hdt Apd 82
1. 3fiffTH

2. FTH Y PIE AN

3, T

4, TSI

Correct Answer :-

4) digd e O ve, W T&m |

7g eafy 9 W, a7 WA guTdi |

Fgd Ted era e fraq R afvmara)

WU A A § I T Ta ardil

SUY e U= Bl UgHR +1d Y T UY BT IR Fa15:
WS- Ul U # AT -ATRT B4 aTd B3d 82
1.PYd

2. 3ff g

.99 9
4. 5P

Correct Answer :-

&

. fEER
5) Witgd i A ue, T we |
7E fraufy I9 W, a9 W gyl |
Fed Jed fgr g fraa e afmm|
W U H pea § g S I Il
SIuded URIi=T Bl UgHR - YD U UY BT I aa1sd:

U$1ﬁ¥1§aGﬁ%tﬂatﬁ:¥unqﬂﬁﬁ%Tnalnqéﬁﬂﬁnﬁ#ihﬁum;anaqu?ﬁiuﬁnalPiiaﬁqwn
EPRE ?

1. YHT
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2. BUH
3, IET
4, QY

Correct Answer :-

6) Wigd 3¢ did ue, T welA |

g At A W, ST WA WHTd 1 |

Hgd Acd Jerd g fed feea aforard|

WU sra g g e aa e

SUT URIIRI Bl UGHR A TR T UY BT 3T FaASd:
W= - e g ®1 o T 32

1. I BT

2. BT g

3. 39d &

4. Q@B

Correct Answer :-

. BT AT

7) Wed 3R dia ve, T Feq |

g aaf Id W, a9 w=dt guTe | |

gd Aea dgra Ragra frera R aforara)
WU # FYa § g g wa A

UG UL B UGHR A T Y Uy BT ST TA153:
= - = A @ B9 e 1 ataar e e
1. TR

2.0

3. fRrem

4. 3%

Correct Answer :-
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8) ilgd 3¢ fid ve, T wel |

g Siemf A9 W, SMTaT WA WHTd 1|

e e 9 [agd (Had feed afva|

WU AP e g g wa aal

Iudad TR Bl UGHR A IR Y UY BT IR qd153:
W= - WA Ui e v R

190

2. 481

3. pusfaar

4. Dlddl

Correct Answer :-

9) Wigd 3 It ue, T Je |

g A A W, SATTY WA YHT 1 |

Fgd Tea g fawa firea feaa afomm|
WHTA B g g wa arall

IUYdd URIIRI I UG -1 YD T8 UY BT IR FaIsd:
TR - o T 82

1. %

2.

3. 7dd

4. 98

Correct Answer :=

10) Higd 3N i e, WH Io= 1|

TIg raaf 99 W, Sau Wt guTdl |

Fed Hea dgra g fiaa feaa almmE)

WU A Hd & I T wa ard il

UG Ui B UGHR A1 U T ¥y BT IR ga1g3:

U - ‘BEd.......arorara # ferd 7 fea-d frarei 1 avf+ fear g2
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1.9R
2. 91
3. 318
4. Ui

Correct Answer :-

11) gd e Wid ue, W™ &= T |

g aaf A9 W, a7 WAt gUTdl |

Fgd Aed Sera e fraa R afsmara)

W MT A FRa g R g a@n

SUYT URITRI DI UGHR -1 U T Uy BT 3TN Fars:

UT - 3 a8 A 913 A pwr & f6g = o) velkia fear &2
1. 7R

2. 370 Y PIS TN

3. i}

4. P

Correct Answer :-

12) Wed 3ie did e, | aie |

g Serafs A9 W, SMa9 WAt YHTd 1|

o Aed 31 (A (Had faed aror |

WHT AP & g ol wa arall

SuYad UL I UGHR A1 I Y Uy BT I Td153:
U= - PO A 5 1 & ava uror fad @2

1, drer

2. DIl

3. =t

4, oict

Correct Answer :-

. dien
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13) Wigd e Wid Ue, W™ &= T |

g ieafy 9 W, a0 wRdt guTdl |

@gd Aea dgra fagra frera e afSrara)

W W H FRa § g A

Sudad R B UGHR - I T UY BT IR TA153:

U - $WI & Higd TRR TR Ug WA a1 a¥d a1 Yo id &1 387 82
1. T GO oI

2. T A IS e

3. 10T UBTS IR Yag @i faul

4, Wd TER DI gadd

Correct Answer :-

. emfor ggTe IR gag &t fhol

14) g4 3¢ Wid Ue, W™ 9a= M|

=g Aaut Sd W, fTaq uRdt guTd |

Fgd Ted Jgra g e Rea aimmE)

WU A § g A wa ar

Sudad TR Bl UGHR AT I MY U4 BT SR TA153:
U= - AP o ATYDT & HIP SR AT HA $I Hogal g af -
1. A1eT Tl STt 81

2. AReBT A1 STTel! 81

3, YT Jafdhd it g |

4, ST HAAT X el B

Correct Answer :-

o T 7T BR & B

15) Wied e did Ue, W qa M|

g A 6 W, T WA YuTd 1|

Fed Acd dera fega feq fReea afemara)

WU A ra g g aa e

U URITRI Bl UgHR A1 TR T UY BT 3R JaTsd:
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U= - BE...... A I’ B D1 7 82
1. 4R

2. HIUI Y

3. B

4. TR

Correct Answer :-

16) ST3faa MR gER uras Hul ® g AT & TP Wrar &1 Roreh fArerar 31 STST 3RTel 717 =] T
AP 3RT 7 TP I8 & dHa A a1e fHa1 81 a8 safere fF omu Rig += A9 )| 5901 RO TF SO
F1 YT 5§ & WA | TP dR T 91 Gl ToRT| I8 3 S gbRd §¢ Hgl- 'gR 8l off T, Fuil’ g¥ard
o Fl B TG THSI AT 8| P A ST PR DY aTd foar- = & u=t 7ol S FuT g, 1 gH U=t
TG & S 8| 991 9Te J9b! |l T g gl

LHERHIE

@t & |t fm)

frad fram 19 8,

& g ugEEII

7§ A 919 T a7d Gt o guit Bt ged 9@ Ud 39| HEIYR B gRITRR 31 9 3d 9% a1y fHruTar Tor aimar
%, 98 i WiieTere U H TE $1 E1 U1l W WY Bigd T Af $ad q€t SP Upid Bl Aid B @7 AT

SUded TR B UgHR Y UD T Y BT Ius 9d15d:
TR - "AHa’ I §?

1. TR

2. Tpld BT A

3. UCEd TH

4, 3R <

Correct Answer :-

17) Ssfad iR geR urasT Ut ® g AT & TP WaR &1 Rorh fArerar 81 ST SRTei! ATH a=a ATl
Afh 3RE A I ¢ F Thd A UIG fHu1 §1 98 SR % 2mu Righ wR A W@ | 591 FRYUI U it
F1 UT| 5§ & WA | TP dR TH U1d Gl ToikT | I8 A S gebRd §T Hel- 'gR 8 off T v’ FIaTH
H Pl & TG TSI STd1 81 T A S0 PR YD oiaTd fear- =1 & ra=t #eil § T §, 1 g9 U=t
TS & SO 81| I aTe Jae! |l T gl 81

wgt @ vl fral
& & wft A=
frad a3 &,
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&9 g ugaHII

7§ A 919 3 91d Gt 3R g 8 ged 9@ Id ¥ | HeTHRG | IRITBR FT S ofd a9 ArY fruTar Ao ien
g, 98 Wi Ui o U ¥ Uw Gl €1 A1 Ud WY Bisd T df ad I8l 396 UHid &I /id B T AT

IUYa TR BT UG -9 IR 7T UY BT IR Id134:
TR - ‘AXHY’ Uec b1 34 & -
1.9

2. gferg
3.9
4, @

Correct Answer :-

18) T3 MR g e vl ¥ I8 W & U Hrar &1 forsh frerar 81 39T RTelt e A%k Tl
AP 3RT A IAH! g & AP A I1q fhar 81 95 s & 3y gt 4R Ad 381 STDT PR TP ST
1 4T I & AW A TP aR U 91a9d a1 IoRT| I8 - 39 gebRd §U Hel- 'gR &l ol ¢ T’ F&d
A Pl B T U TG & 1 Pt A S GbR YD wad fodr- 7 F 3o woff & Far §, 71 g0 orw=h
THE § SHH g 991 a1e a1 al Uh gl 811

g @ At

@l & gt e

frad fFaT e 7,

&9 g ugaEII

76 9 99 I 91d G 3R g 81 Ed 9 I ¥ | HETHRG | rUTBR BT oI 3fd a& A1y F1uTaT TR Smar
2, 78 WM ydieae ©U ° U HT 8l ATl U9 91Y BISd T af Had 98l 37d UHid @) Atd L I8T AT

SR TR B UgHT H1d TS T WY BT SAX A8
U= - ‘0el ¥ 7 e @1 o @ 82

1. A4 T TIaT JHIE 81 97T g1

2, F-39 He fHE ST 5 |

3. TS A R e o B

4. et & s A ofd W vt A firer Sra 21

Correct Answer :-

. gt & o e i # fgh A e St

19) T3 3R gER e Ul # g AW & U Trar &1 fores frear 81 36T Rvelt A1 axes Tl
AP 3RT A TP 5 & aPa A a1 fFar 81 95 sHie F oy Right R A9 371 5901 IR Ue S it
F1 YT -TE & A | TP TR TH 919d Sl ToRT| ¢ 3 S geRd §¢ Hel- 'gR 8l o 7 S’ gwad
H gl Bl TeaT THS ST & | T A SAD! gebR GADY 914 dT- & Uit Tolt & H1 §, 7 gH U=
NS @ SHIE &1 9917 aTel Had! df U g gl
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wel 9 gl o

@t & [t o=
foredl fram1 B g,
& g ugEI |

¢ A 99 3 a1a Gt 3R g 8t Yea a A T8 | HETHRa § giUfRR o1 o ofd @ |ny fAryTar AR simar
2, T8 N TiieTe® U A TP F1 &1 U1 94 A1Y BISd ¢ df o Tel 3% Thid B Wid B TaT 4T

Sudad T B UgHT Hd U T Y BT IR I8
TR - e’ g A qar g 2

1. ARG

2. U5 UQIg

3.qgfeA

4, qu(

Correct Answer :-

20) TTEfa@ R gWR uTas Ul ¥ 9 W & U ey &1 fores frear 81 39T Sreft T @ uml
AP 3RT A IAH! Tg & IHa A WS a1 81 8 FHfT & 3y Rigal wR A9 W1 39S SR TP S
ST UT| ¢ & WA A U aR T Uradl Sl ToRT| I 3 94 §oPbRal §¢ Pel- 'gR 81 ol i Pair’ FTAH
o Pl B Tral THT W1 81 T A D] g R YD wiard four- T # oeft welf & wen §, 7 gu g
THE & 9 8 9911 9Te 99! at U ol gl

wet & wgh fore

@ & gt frmm

frad fram F9 8,

&9 8 ugEHI

98 A 919 ¥ 91a G 3R g &) gea 9o 9 ¥ | WeTyRd ® gRIRR &1 S o a9 |y fruTar TeR imar
2, 8 M udieTcie © U H U HT 81 YT T 91Y BISd T @ Had 98l 31 Uhid &) Atd H 8T Tl

U TR F1 UgHT -9 U T Y HT IR qaigd:
= - gt Bt Fffa s arar B @ 2

1. ST
2. AR
3. TR

4, gT3fad

Correct Answer :-
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21) STEfaa R GO UTa= Ul § 9 W & U e &1 fores firaar 81 39T Srelt - axas Ut
AT 3RT A IH! g F aHa | TG a1 71 98 39N & oy Rigft w1 A )| 3901 IR0 vw soit
P YT T & 9H ¥ U aR TS °Urd Sl ToRT I8 A 39 gebRd §U Hel- "R 8l ol e Pl gwamy
H I B TaT THT W11 g1 P A SAD! GHR GADR oaTd - # ot 7l A F §, 7 g9 Srust
TdG § 9 81| 9911 911 9! |l U gl g1

wel 9 wgt o

@ & gt frim

foad fram $1H §,

S e ugEEI

e A 99 T a1a T 3R g B Yed a A T3 | HETHRG § IUMRR T oY ofd e Any FruTaT TR Smar
2, 95 M udioTare U A ue $ur €1 4Tl 99 1Y Bisd Y O $ad 9gl 3% THid Bl Wid R 6T T

ST TR B UeH A1d IS T Uy &7 IR 9a153:
U - YRR & THTd B BIH A HT IET Y12

1. fazg

2. A1cfT-fu

KACIECHN

4. TR

Correct Answer ;-

22) qr3faa ok R T Uil | g AT & U W &1 Rores fieran 81 39T Sreelt A1 @ ATl
AP 3RT A IAH! g & aPa A 1 fhar 81 98 sHieT [F oy Right R A 71 s9F1 FRU Uw Tt
F1 UT| 5§ & A | TP aR T U1 ST TORT| I8 3 S bR §T Hel- gR 8l off 7ie Fuil’ g¥ard
o Fl B TG THS 9TdT 81 o A SD! PR DY odTd fear- = & U=t #eil A $ul §, T gH U=t
Wi A U 8| 99911 aren qad! Al UH gl gl

wgl & Wl e

@ & gt =

frad fpaT P19 §,

& g ugaII

T8 A oTe & 9T Gt oY gt 8t ged 9@ d W | WTYRd B gRITRR 31 S 3 9@ Ty fruTer o e
2, 78 M ydieTee TU T TP S € UTI W WY BISA T A I 961 ST THid B Wid B 8T U7

IUYad LI Bl Ugh A1d YD ¢ UY BT IR qad15d:
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Correct Answer :-

23) TSy 3R g uras Ul § 98 W & U TR o1 fores firerar 81 ST Srelt S @ ATl
AP 3Ra 3 IS 5 S TPa | g a1 71 95 Ui % ey Righ wr A9 1 59T IR v st
1 AT 5§ & T | TP 9 TS 90§l ToRT| g A U gepRd §U F8l- ‘g ol o1 g pul’ S
o Pl Pl a1 WU AT & | P A SAD] gepR YD wiaTd fodl- = F (g #ofl & o §, 71 g7 3a=h
THG A SHM 8l 9919 aTel Jad! al Th g1 gl

g I wdt

@ & gt =]

oo a1 §,

&9 g ugA1I

& A 9a T a1a Gt 3R g 8 ged 9o JAd I8 | TR | gRIMR &1 S ofd @ |ry fHrumar e aman
8, 38 W udieTI® EU ° TP $T 81 UTI 9 1Y BISd T df Had g8l 31 Ui &I Rid L 38T AT

IUded T B UgHT A U T UY BT IR T3
T - S Weg T 82

1. g9

2. fag=h

3. d8H

4, TS

Correct Answer :-

24) ST3faa SR gAY UTa Ut § 8 A1 & U TR &1 Rrep firear @1 397 Srell A1 @%b ol
AP SRT A IAH! g & aPHa A 1 fHar 81 98 sHieE & oy Rigit R A 37| 39S FRU TP TSt
T A1 5 & WA | U aR TS 91 ST IORTI I8 A S @R 5T Hgl- g1 8l ol g Pul’ T&H
A Pl ) 5T U TG 2 | P A SAD] GebR DR wiaTd fadT- ' F (g #oll A a1 §, 7 gH 3T=h
UiE & S B | 9919 aTen §ad) )l U &l el

wE A wE ot
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el fram B &,
&9 g TgErI|

76 A 99 T 91a AT 3R g B GEd 9 U ¥ | HETHRG § GIUTBR T o ofd a9 Ary FruTar Ao Simar
2, 38 W vieTeTe U ° U HT 81 UTI WS 1Y BISd T dF Had a8l 3% THid &I Atd BT g7 4TI

U TR $1 gy e U U Y BT STR Jaigd:
U - SISfa F T g ?
1. UTffe T
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2. AT T
3. oIS T
4, IR gt

Correct Answer :-

25) aTgfae 3R gER uras vuf § 95 A9 & Ue ner &1 s frear 81 39T 3Rt I awew ATl
AfBT 3RT 7 IAP! I§ & D | TG a1 g1 ag 3T {6 3y Rigwt W= A W $THT RO TH TS
F1 AT I8 & AW A TP IR U 9rId Tl ToRT| I A SU GoPRd §U Hel- 'g¥ &l &l e P’ §AH
A Pl 1 5T U AT 8 | P 7 ST GbR GADY oraTd fodT- 7 F g woff A Fa1 g, 7 G0 i
THE & SHM B 9919 aTen WS 6t U B 2l

wg | wgt

@ & weft A=

frad fPam e 8,

FA D ugEEI

7€ A W9 3 a1a Gt SR g B Yed 9% Ad @ | HeTHRA H JRIMR &1 S ofd % Ay fHruTar TR simar
2, 78 W v eTeie &0 ° U HT 8 UTI U 1Y BISd T @ Had 98t 371 Ui B =id T 8T 4TI

U T F1 Ugh? =19 UD 7T Y $T I Iargd:
TR - I8 A T Bl TN GPRI 2

1. 0 ™ H B1 b 7T JH Sl 8 |

2. TIfds Pl 375 PIC <aT Ul

3. Fgifas il TG T |

Correct Answer :-

« I XA & il BT TG T THSHT ST 5 |

26) aT3fae ok guy T Ul # g A1 & U Ve &7 Rrss firean 81 3@ el A1 @ ol
AP 3RT 7 STP! T8 F dHd A TG fHa1 21 a8 safeE fF omu Rigwh = A W1 591 IR Th S
F1 YT ¢ & WA | TP aR U 910d Gl ToRT| I8 A S gRd §T Hel- gR 8l o Tic, Fuil’ §wad
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TN & S 81§19 aTe gad! 9t v g ol

wgl & Wl e
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frod fPaT @A §,

&9 g ugaII

7§ A 99 T 91d Gt 3R g 8 gEd 9 Id ¥ | WeTHRG | IRIBR FT1 S ofd a9 A@rY FruTar Ao imar
2, 98 W TdieTeH® U § TP ST €1 UTI WG WY BISA T A I I8t 3P Uhid &Y Wi BT TaT UT|
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T - TR TR 6 I | 4 A 11 i@ &1 uars e 27
1. S Bl

2. R4l &b T &I

3. WAl &l

4, AR & Tpid
Correct Anﬁﬁer H

« HHEAGRIT BT
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U¥E ¥ 9 811 9911 919 99! df U gl gl

wel & wet o

@ & ait =)

foad fPam @i g,

&9 8 ugarI

e 3 99 T a1a T 3R gt € Yed 9@ A ¥ | HeTyRa ¥ giufdR o1 oY ofd ae any fruTar AR eimar
2, 78 M uftoTare ¥u At $1 81 4TI 99 91y Bied T d) $ad 98l 3H9d THid B id $L 8T T

ST TN B UgH A1 U T UY BT IR dd154:
U= - TR 3iaa: s uRkfvE gremar g 2

1. A H

2. R T

3, daH

4, flEr

Correct Answer :-

28) STEfaw R g UTa Ul § g W & TP ey &1 o1 firaar 81 ST Sreft T axaw uTl
ARG 3RT A IS g & AHd | TG a1 81 a8 FHT 5 3y fRigwit wR A W1 BT SR T SRSt
$1 AT 5§ & WA | TP dR U 91Gd G ToiT| I8 A I R §T Hel- 'gR 8l o1 7 i’ geard
T Fil B TG T 9TAT 81 F A ST GoPR AP 9aTd foar- 7 # gt woff § Fan §, 7 g oot
THE & SHH | I aTe Jad! af T gl ' 1

wer A wgt frdt

@ & aft A
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frad fPa a1 &,
& 1 ygaI |

98 A 919 U 9T Gt SR gt 8t ged 9@ d 39 | HETHRA B GIURR BT i) i d |y FHruTer Ao iman
8, 78 WMt ydieTare ©0 ° Ue $T 8 UTI U9 1Y BISd T dF Had 981 Sk THid B Aid H 8T AT

IUa TR B UeHR e ID T Y BT IR 9d153:
TR - 3RE A AXHR D) w7 | 71g fpar 2

1. Uiy

2. ggal

3. TR

4.8

Correct Answer :-

29) arsfya R g ura= Ul # 98 A1H & e Trar &1 fores e 81 397 3relt = wwas Tl
AP 3RT A I g & aBa A a1g fhar 71 98 s [ omu Right R A9 37| 3901 IR TE TSt
1 UTI 7§ & WA ¥ U9 9R U@ 91hd T oRT] 8 3 SH gopRd §U Hel- ‘gX 81 O Ii¢ Fail’ ey

ﬁﬁﬁwmmélﬁﬁmwwwﬁm ‘Hﬂ‘amﬁuﬁﬁﬁwg,:rgnm
TG A SHM T TR T HIPY o T € g

Wt § wet et

@t & wt fmm

fored foramm & g,

& g1 Uil

T8 A 919 T 97a T R g 8 ged 9 9 32 | HeTyRa ® gRIfBR &1 S of a ary frurar e mar
2, 98 W Wit U § UE $T € AT1 09 WY BISd Y A $Id T8t SF TPHid B Wd B T8T AT|

ITYT TR P TSHY 1A D T UY BT IR Jarsd:
U - P Bl dgad grmT?

1. 9d

2. ul

3. Pl

4. T Y B T

Correct Answer :-

30) STSfaa 3R g UTa= Y § g AW & U TnaR &1 forss e 81 ST Sryelt T axas uTl
AP 3RT A ITH! g & dHa | TG a1 81 98 3R F oy Rigdt w1 A R | 39S IRV T st
$1 UT| ¢ & WA | TP aR UH 91d $Hl ToRT| 8 3 S gRd §U H8l- gR 8l o Tig Ful’ gwamd
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A Pl P T8 THHT AT 8 1 P A SAS] GbR GADT wiaTd faar- 7 F g woff A o1 §, 7 g7 rw=h
TG A S g1 I aTen Jad! of TP gl gl

e | wgh |

@t & it fmm
fad fraT B &,
&9 g wgErI|

¢ A 99 & 91a G 3R g B Yed a9 U ¥ | HeTHRa § giufBR 1 o ofd @ Ary fryTar AR simar
2, 78 WM T aTeIe ©U H U HT 81 UTI S W1 BISd T @ $ad et 371 THid &I 2Td T 8T AT

UG TR F1 U -i1d TS 7T Y BT I Iagd:
T - o T & 3fea ord # Farsu|
1. 3TSTS, I
2. =T, fademTcHe® auie
3.9, ==
4, SIS 3R TR BT A4
' Correct Answer :-
. o9, federTaTes quH

Topic:- Science (SCI)

1)

Find x. v and z representing the number of moles of the reactants and products in the skeletal
equation given below: f

e T v g AT FEET # fEERS 3R 3cae & amEarRit T e o

gfafafaca o arer x, }73'?!1'{ z AT H
Fe:03 + xCO = yFe +zCOs

l.x=1, y=2&z=1
2.x=3, y=2 & z=3
3.x=2,y=3,& z=2
4.x=4, y=3 &z=4

Correct Answer :-

2) What happens when a sound wave is propagated through a medium? /

gfe afsy a8 o urenw & yTRd 8, @ S BT 82
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1. The particles of the medium move perpendicular to the direction of propagation of the wave./
HIEH & U, T P TR P! =M & dead RMAR 8 8

2. The particles of the medium remain in the state of rest./
HIFH & HU IR H 35d B

3. The particles of the medium make to and fro motion about their mean position./
q1eH & BT, ITb! A1eF UK & THIT $eRIeR- e 81 5

4. The particles of the medium are also propagated. /

s & B wEIRd 21 2

Correct Answer :-

« The particles of the medium make to and fro motion about their mean position./

T & BT, I1 AT FRITA & THIU 3eRIeR- MfaRiid gla 7

3) What are the common fishes selected for pond culture systems? /

drerre Saeia yonfer ¥ fore wafra 9t 1S wa gofeal S 82
1. Sharks and rays ﬁs’ﬂ?% 3R

2. Sardines and mackerals /ﬂ'l'%_-f ﬁ?ﬁaﬂ?{

3. Mullets, bhetki and pearl spots / BIdicd, Hea! 3R Ud Wie

4, Catlas, rohu, mrigals, common carps and grass carps / $cdl, ﬂ'g', oid, A HTY 3R I
G

Correct Answer :-

« Catlas, rohu, mrigals, common carps and grass carps / cCdil, flﬁ, HIldd, {HY ca G?IT IS

4) The phenomenon responsible for the twinkling of star is: /

R #1 fewfenree & Rig SwRerd wer e:
1. Dispersion and reflection / YRR 3R WRTE
2. Reflection / URTAAH

3. Atmospheric refraction xa'rgﬁ?ﬁﬁu 3O

4. Dispersion / U8R

Correct Answer :-
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» Atmospheric refraction fﬂTﬂﬁ?ﬁﬂ'ﬂ NICRE|

5) Which one of the following diseases is almost eradicated from our country? /

frraferea # 9 foed a1 gAR <=1 A T & I fear T ge
1. Dengue / ST

2. Malaria / AR

3. Encephalitis / FARTS® Ty

4. Poliomyelitis / QIferIT

Correct Answer :-

. Poliomyelitis:’m'lzc‘iﬁf

6) The hotness of an object can be measured by its N
fopdt o ) g B ITH SIRT AT ST gl &1
1. volume / HTgd-

2. Temperature / dUHE

3. Size / TR

4. Density / Y-1cd

Correct Answer :-

« Temperature / dHYHTT

7) The frequency of oscillation of a pendulum is one hertz. What is the period of oscillation? /

TP UgTH & GIe 1 TG U g 81 e 1 Sraiey 1 82
1.05s

2.2s

3.1s

4.0.1s

Correct Answer :-
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A body of mass 10kg is moving along a horizontal plane with a uniform velocity 10m/s for 5
seconds. The acceleration produced in that body is: /

10 fFUT g0 &1 U AT, 10 Hiey/ AP & Uo UM I 5 Tbs & U ue afaw
Hag P GHIR MTa=ia 8 1 39 fFIeTa g1 IATed T g:

1. 0.5 m/s?
2.2 m/s?
3.0 m/s2
4. 50 m/s?

Correct Answer :-

« 0m/s?

9) Complete the statement with the correct option given below:

Matter is anything that N
i flw T el ¥ 9 wdt e ez $y= 91 yof #1:
ugrd ag g =t
1. occupies space and has a definite mass. /

R R ¢ 3R Rt v R gogqm g 81

2. occupies space but has no definite mass. /
R BT 8 AP 59T B3 MiEd Soud ol gial g
3. exists as a solid with a definite mass. /

T %A G500 & 919 U 319 & U B IS gl 5

4. has a definite mass and a definite shape. /
wﬁféjﬁwﬁw U MfEd SMPR ST 8|

Correct Answer -

« occupies space and has a definite mass. /

R ORaT 2 3R Foraest ve FHidd gorgH aidr g

10) Select the appropriate metal to be used to change the colour of an aqueous solution of
CuSOy from blue to colourless along with a red brown solid getting deposited. /
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cuso, & TH faaa=, forad arar YR 397 & 31 STHT 3MT § S9 g auT faea= ot e
T TR T & T wgaa g1 aTelt SUyad UTg &1 99+ &9 |

1. Silver. / @lel
2. Gold. / Gl
3. Mercury. / URT

4. Zinc. / Sl

Correct Answer :-

« Zinc. / STl

11) Sharp edged metal pin will go easily into the wooden board because: /

AW 4R qTelt aTg B O S A St & 91§ g o i

1. As area of contact reduces force increases / JUP &‘H DH E?Iefﬁ o] dadl %I

2. As area of contact reduces force decreases / TUP &F HH G- Y §a1 HH BIdl % |

3. As the area of contact reduces the pressure reduces /[ P &7 FH B I T HH EﬁﬁT Bl
4. As the area of contact reduces the pressure increases / U &7 FH H U &1d Teal gl

Correct Answer :-

« As the area of contact reduces the pressure increases / Tudh PEER BDIEI 2§ dedl %I

12) A screw gauge with zero correction gives the following reading when used to measure the
diameter of a wire. Pitch scale reading = 0 mm and head scale reading = 52 divisions. Given
that 1 mm on main scale corresponds to 100 divisions of the head scale. The diameter of wire
from the above data is: /

Y YR & 1Y TP TP Tl U IR & a1 I AU & T STahT & 9 51 )
oo €T o 71 e arue {f$w = o findt ok g5 v SfEn =52 @s 1 fear
w%ﬁ?%a@mwmlﬁﬁ,%'smaswoas‘f%m%l IR AT dR
DI &:

1.0.0052 cm / 0.0052 IH
2.0.052 cm / 0.052 THT
3.0.26 cm / 0.26 JHT

4.0.52 cm /0.52 94T

Correct Answer :-

« 0.052 cm/0.052 THT
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13) A dull green colour coating formed when a copper vessel is exposed to moist air for long.
The green material is a mixture of: /

IS U did BT U o GHY TP 3T aTaTa0r A I8l 8, df 39 UR U g¥ 31 &1 IR oIH
STt 81 T8 &1 verd fobeT ol &1 U fyyor 8

1. Cu(OH), and CuO / Cu(OH), Td CuO

2. Cu(OH), and CuCOj5 / Cu(OH), Tq CuCOj
3. Cu(OH), and Cu,0 / Cu(OH), Td Cu,0

4, CuO and CuCO3 / CuO Td CuCO;

Correct Answer :-

- Cu(OH), and CuCO3 / Cu(OH), Td CuCO;

14) Choose the incorrect property about colloids. /

PSS & Sfd ureni o1 a9 HY

1. Colloidal particles do not settle down when left undisturbed i.e. colloidal sols are quite stable /

HIASSH B DU a9 ab gl OHd 8, 5T a9 1 I Uid Tel BIS a1 SIdr 8, I
Plarged fdagd w1l fRR g1 &

2. Colloidal particles are not visible to the naked eye. /
IS BN HHRT TGN P a7 30 T

3. The size of colloidal particles lies in the range 1077 =10 cm /
HIATES BN BT AHR 107 -107° I, BT HETH A B

4. A colloidal solution is homogeneous in nature /

TP HIagsd [ UHia & gordia grar gl

Correct Answer :-

« A colloidal solution is homogeneous in nature /

TP HIAZSd f[daa ypia 7 Tord giar e

15) Identify an isotope used as a tracer to detect the blood clot in human body /

A YRR 7 394 & YD BT UdT @ & T TP TR & 0 A Ugad g ard U
TARITAS B Uga s

1. Uranium — 235 / A — 235
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2. Todine -131 / 3RS — 131
3. Sodium — 24 / QfeTT - 24
4. Cobalt — 60 / PIEIEC — 60

Correct Answer :-

« Sodium — 24 / GIFSTH - 24

16) The product formed when iron reacts with steam is /
<ie Sfi¥ arey SrfHfhaT I T aTelT IATG B

1. FeO

2. FeH

3. FEZO3
4, FE304

Correct Answer :-
« Fes304

17) The role of decomposers in the ecosystem is /
TR 3 & srvees! Bt YT gt @
1. They do not act on organic compounds. / 3 STafep U] TR Eb—lﬁ:rﬁml

2. To convert inorganic materials into simple forms. / 3PpIa-d Uerdl dl WRa =i § yfafdd
DA

3. To convert organic materials into inorganic forms. / FHIEHD Uerdf @l e &l #
gRafdd eIl

4. To convert inorganic materials into organic compounds. / 3/@Ts[H® Uarf & B qifie! H
gRafdd FHeIl

Correct Answer :-

« To convert organic materials into inorganic forms. / FIED Tardl i sfpTefe =i 7
uRafdd @A

18) The lightning arrester helps: /
dfsd@sefm Ay 9 H 7o HRar e

1. To store the electric charges at the time of lightning /
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dfed & a9 faggd Smaxil &1 Iugld B B

2. Dissipate the electric charges in to the atmosphere /
faqgd srmazll & argHsd 4 Bie H|

3. Avoid the production charges on the clouds /
el B STaRT & IAGA ST H |

4, To transfer the electric charges to the ground /

faggd emawil &l 4f# H WHidRd & |l

Correct Answer :-

« To transfer the electric charges to the ground /

fagga smaen &1 Y RiEiaiRd HA H|

19) How much electrical energy in kilowatt hours is consumed in operating ten Swatt bulbs
for 10 hours per day in a month of 30 days? /

30 feY & uor WA A ufa fo= 10 52 & o7 5 a1e & o9 Ioa & U | fpeiare bef #
ot figga oot @t Wua gidl 82

1. 15 kWh

2. 150 kwh

3. 15000 kWh
4. 1500 kWh

Correct Answer :-

« 15kWh

20) Calculate the formula unit mass of MgSO,4.7H,0
[Atomic masses: Mg=24u,S=32u,O=16u, H=1u]/
MgSO0,.7H,0 & T SHIE FTHT B! 0T HY:
[URHIV] dHTA: Mg =24 u,S=32u,0=16u, H=1 u]
1.286u

2.232u

3.246 u

4. 198 u
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Correct Answer :-

o« 2461

21) A bullet just sticks on a fixed wooden board when it is fired from a gun. The Kinetic
energy of the bullet is mainly converted in to /

Sg® q Tl grl S IR U e aedt 3 91 1R Tl g3 S 81 Tl @ afa
Sl g1 w0 § 399 ufvafda g et 2

1. Only Heat energy / g ST Sl

2. Kinetic energy for the wooden board / aﬁ%aﬁ%ﬁnﬁaw
3. Only Sound energy/m e ol

4. Sound and heat energy both / €af=1 3R ST Froil T

Correct Answer :-
« Sound and heat energy both / @A 3R FT Fo1l Gl

22) Ina sunny day, when the atmospheric temperature is 37°C, the temperature inside a car,
which is parked on an open ground is: /

T YU 919 3 #, 519 argHsSog 9| 37° R0 g1 8, 9 U $R $ 3iew &1
AqaT, St ga AeH d el g, A ghm:

1. Greater than or equal to 379C /37°C & SRIER T 3HfeE
2. Equal t037°C / 37°C & SRT&R

3. Always greater than 37°C /37°C ¥ 3%

4. Less than 379C / 37°C ¥ &1

Corré& Answer H

« Always greater than 37°C / 37°C T 3ffdrep

23) In a filament bulb the electrical energy is converted into: /
% fhamic g (dq 9o) A fagga 3ol & 33w uRkafda farar smar g:
1. Chemical energy / R DIECRCAT |

2. Only heat energy / Had ST oIl

3. Only light energy / HId UHT Sl
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4, Light and heat energy both / HhTR] 3R S ol G

Correct Answer :-

« Light and heat energy both / UhTRI 3R &1 Sulf gl

24) What is the valency of Carbon in Methane? /
WA | Hra St WAISTHdT [t 82

ki ValencyofC=2fCﬁmﬁT=2

2. Valency of C = 1 / C ! GOl = 1

3. Valency of C =4/ C P! YOISIPhdl = 4

4. Valency of C = 3 / C &1 HaISTdhd = 3

Correct Answer :-

. ValencyofC=4/Ca'ﬁQ:i’\'ﬂGl%T=4

25) Which among the following is a mixed anhydride? /

Fraffaa ¥ 9 a1 ve fifda Tessss 82
1. CO,

2. N,0s5

3.50,

4.NO,

Correct Answer :-

26) Which of the following is not a control measure for the storage of grains? /
Frafafea & & w1 s visRu & fore Fdzor Iura 78 82

1. Chemical method / A fafe

2. Fumigation / ‘ifﬂ

3. Plant products like mineral oils / @Sl A O UTey IS

4. Cultural method / F@ﬁﬁﬁ fafar

Correct Answer :-
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« Cultural method / FW‘?IEF [GIE

27) Which of the following is a biotic component? /

Frgfafe & 9 oH-a1 ve Side aca 32
1. Air/ 919

2. Water / oIc]

3. Soil / TG}
4. Living things / STifdd 9%y

Correct Answer :-

« Living things / Sifdd a¥qU

28) Which of the following is a chemical effect of electric current: /
g & 3 71 fagga wate &1 IS yuTE @
1. Producing a magnet using electric current /

{Iggd vaTE &1 ST FRes U Jad Scdd Bl

2. Producing heat in an electric kettle /

Udh Seifded dracll H ST Sa Bl

3. Producing light using electric bulb /

fSoTcl & Ted BT TN B TBIRT ST HAT
4. Production of Hp and O by passing current through water /

U F 4R FaIRd BB Hy 3R O, BT JATEH BHIAT

Correct Answer :-

« Production of H and Oy by passing current through water /

g ¥ YR WaTRd RSB Hy 3R 0, BT IS HRAT

29) Name the property of the components used for separating salt and camphor. /

THS 3R YR P 3T B & forg WaiT f5d S aret gesp! & uier garsa|
1. Using separating funnel fquaaﬁaﬁtr CARSEIE|

2. Magnetic separation / ﬂdd’)ﬂli-l EEEER

3. Sedimentation / ddIgH
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4. Sublimation / &UTd

Correct Answer :-

« Sublimation ;’Tm’"ifﬁl_tl:l

30) Discoveries, inventions, laws, theories are all related to the i

e, sfawsr, e, fRigia af ¥ "l gl
1. ease in daily living / e Sitaa 7 et

2. study of science / fag &1 Srerae

3. luxuries of life / STa- & BSRERS IR

4. satisfying human curiosity / AT FIST & a‘g,"g DAl
Correct Answer :-

. study of science / 1A &1 3ea

31) Not only formative but also summative assessment can be conducted
through: /

9 $ad fAETvTES, afcr aES e ot A9 & qreaw 3 danferd
g oI g g:

1. Homework / 'TEF:b_lﬁ

2. Question and answer sessions / UH 3R I T
3. Projects / uRETSTIS
4. Self-evaluation of teachers / FRI&®I B1 -H™lb

Correct Answer :-

- Projects / RISl

32) The drawback of Case Study method is that it does not lead to a: /ﬂr\q-

welfafredqugfeas_ uqaTdi el gl
1. Generalization / STHIRITHROT

2. Conclusion / Fend

3. Categorization / G 1TehRUT
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4, Assimilation / HTHITdH I

Correct Answer :-

« Generalization / STHRIIGOT

33) Which of the following is not a feature of Continuous and Comprehensive

Evaluation (CCE)? / FaferRaa o @ &i91 W) ad vd samvs geais- (A1s)
CARGPIL G 5 K

1. It helps the teacher to learn about the existing concepts of students. / dg EIEIRCH]

HISlaT SaURUN3 & IR § 9 J RIeie &1 ¥erd &3 gl

2. It involves more frequent tests and examinations. /Eﬂﬁ TR GI&for AR
Tiemy wfmfera g &

3. It involves repeated assessment of the same parameter. / ${-I4-\I' Uh gl HFGUS Bl

dR-9R 3fihe FiRTerd gial |
4.1t is a school-based evaluation. / T8 Teh [ALTeTA-HTYTRT Tedich gl

Correct Answer :-

« It involves more frequent tests and examinations. / Qﬂﬁ TR U1&fo 3?]?
TRI&TE TiRTford il 8 |

34) Which of the following is not a scientific question? / FHfIREa A A Capka)

U AqIT® Uy T &2

1. What is the density of water? / U=l &1 B-cd fap T g2

2. Why can we not see in the dark? / BH 3R H i q‘@‘lé@ﬂaﬁ %?
3. What is meant by a secular republic? / AU U BT T 31 %?

4. Why is the colour of sky blue? / S{TERTRT 3T T =iall &I g2

Correct Answer :-

. What is meant by a secular republic? / YHI-RUE] TOT &7 T 37ef 82

35) A formal event where multiple experts deliver their speeches is known

as . / T NUATRS U1 Sgi s AUy U= UTvordae,
0§ A STl 21
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1. Laboratory / TIRTITAT
2. Symposium / ST

3. Exposition / PR

4. Workshop / ST

Correct Answer :-

« Symposium / FITFIQDI

36) What is the name of the satellite that was placed in the geostationary
orbit specifically for increasing television-based education in India? /39 3UUg &I AH

=1 3, ot Wk & Setfasr-smutiva Rign ot g & forg faiv =u & yRifos san
o T@T AT UT?

1. ERS2
2. EDUSAT
3. TechEdSat

4. ATS-6

Correct Answer :-
« EDUSAT

37) What is meant by intervarietal hybridisation? /
Siarfafay dwwor o1 FaT 3 g1 82
1. Crossing between different varieties of plants. /
Uref % fAfe epR & s Hepa (IR
2. Crossing between different genera. /
o Tt & o e (shITRiT)
3. Crossing between genetically dissimilar plants. /
STaIRIE T ¥ g trel & St Ghd (B
4. Crossing between two different species of the same genus. /
TP 81 39 & o foF uemfaa & st T (B
Correct Answer :- - |

« Crossing between different varieties of plants. /
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areff & fafls TR & afa Hehval (IR

38) Assessment standards are required to provide effective science education for all. To
assess teaching of science by science teachers in a classroom, which of the following

is NOT applicable? / H'Jﬂ%ﬁl'qﬂﬂﬁﬁ?lﬁﬁ&ﬂ Eﬁmﬁﬂ?ﬁm{ 3fTpad
AP DI ATaLIHdT gial 2 | P&l A Az Riarel gr1 fagm= & Reor &1
e ®1 & fore, Fafefaa & 9 &9 a1 suyged =8 82

1. Parents’ view of the teacher. / TR1&1% & HTIT-fOdr Eﬂf@ﬁml

2. Performance report of the students in the subject. / Tovg § BT &1 UgxH
RO |

3. Students’ feedback on the teacher. / ﬁT&Wq’\" EIEICARIGIERI

4. Other school’s opinion of the science teacher. / 3= faermerdl o fagm Riers &
IR HRMA|

Correct Answer :-

. Other school’s opinion of the science teacher. / 3= fagrrerdl o1 fagm Riers &
IR H |

39) The factor that does not influence the formation of winds is: /
arg fomtor &t wuifae = o=+ aren sR® A= 8:

1. Presence of mountain ranges / gad CICK]l P IurRUfd

2. Presence of seas and oceans / GH?I 3R TRTRI B IufRyfa

3. Uneven heating of the atmosphere in different regions of the earth / q&ﬁ%ﬁ fafta et o
qIdTaRUl & STHHE d9-

4. Rotation of the earth / Gl &I E[Uf:f

Correct Answer :-

« Presence of seas and oceans / ﬂﬂ?ﬁ Gﬁ? 'J:I?ml"'lﬁ oI JUrRATT

40) When a force of 1000N is applied on a particular surface the pressure acting on that
surface is found to be 10 Pa, then the area of the surface over which the force is applied
is /

oiq it faRiy Was U= 1000 =T T 96 WA §idT & df 39 Wdg UR T aTen ga1d 10 Pa UrdT
ST &, & 9 SIUANT | ®T SeIthd fovaT ot

1. 0.001 m?
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2. 1000 m?
3. 100 m?
4. 10 m?

Correct Answer :-

« 100 m?

41) Four objects P, Q, R and S have the speeds 10m/s, 36km/h, 18km/h and 30m/s
respectively. Which of the two objects have the same speed? /

R a&3il P, Q, R T4 S & Tifer pw=r: 10 1/, 36 fpul/wer, 18fmft/ger 3w 30l/4 1 v &
FEgail Bt 1fa FHE B2

1.RandS/RUTES
2.Pand R/PTdR
3.Pand Q/PUTEQ
4.QandS/QUA S

Correct Answer :-

« PandQ/PTIQ

42) How many times the bob of the oscillating pendulum crosses the mean position in 20
oscillations?/

Sia- Ugaw @1 aid fhasi 91’ 20 gam! & Arer fRufa & uR St g2
1. 10
2.20
3.40

4. 60

Correct Answer :-

« 40

43) A ball is dropped from a height of 100m. Find the time taken by it to reach the
ground. (g = 10m/s?)/

TS g 100 W F Fars A FRTE 91t 81 g o1 Yffr 9o uga § fora=m wwg @l (g = 10m/s?)
1.2¢55

Page- 51



5\!(25

3. 20s

4, 25s

Correct Answer :-

2455

44) Amount of energy transferred from one trophic level to the nextis /
U Ui R A ST NYe WR A ARG Sl St aer @i g

1. 5%

2. 20%

3. 15%

4. 10%

Correct Answer :-

« 10%

45) The acid present in Rancid butter /
frpa Tith Aea= & IulRa 3 glaT &

1. Butyric acid f’alﬁﬁﬁ 3l

2. Acetic acid / URIfCd 37T

3. Lactic acid / Qfdea® 3

4. Formic acid / BT 31

Correct Answer :-

« Butyric acid / E’Qj?ﬁ_cﬁ ST

46) In an electric motor, the energy transformation is from: /
TS fega Hiex ¥, Sol uRad= & gar @:
1. Magnetic energy into electrical energy / ﬂadﬂq ol &1 ﬁqu SHoit |

2. Mechanical energy into electrical energy / it FHoli Eﬂﬁaﬂﬁ ol B

3. Electrical energy into magnetic energy / ﬁa'ﬂ?[ il bl s_l,@lqohltl Foil |
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4. Electrical energy into mechanical energy / ﬁa’gﬁ Sl &1 AAF Soll o

Correct Answer :-

« Electrical energy into mechanical energy / ﬁaﬂﬂ ol &1 TiAE Foll |

47) CANCELLED

Thick layer of fat called blubber is found in: /

TSR ATHS a1 B A} Ua 398 Uil wirel &
1. Whale / &d
2. Polar bear/ ﬂ?ﬁq HIe],

3. Camel / 3

4. Shark | ST

Correct Answer :-

« Whale/®d

48) Which one of the features mentioned below about decomposers is not applicable to
decomposers? /

JuHTes qHTSIP W BId § 37X d Yl &1 U1k B 5 |

1. They transfer energy to the next trophic level in the food chain. /
q T YEd & ST YY Rl TR IR SHoll RIFaRd Hd g

2. They are also called as saprophytes or reducers /

3= auitd! a1 PR i HET S 8|

3. Decomposers are also scavengers and they clean the earth. /
3fUgeeh SUHISS Hi B1d & IR d Gt 1 U1 FA 5 |

4. They help in recycling nutrients. /

3 9% JI=Eh Ul § Heg avd o

Correct Answer :-

« They transfer energy to the next trophic level in the food chain. /

d @Y g H T N ehdT TR R Sl RIMaRd & § |

49) which of the following is not a child-centred classroom? / fafafeaa 4 9 s=-d0

TT- T D&l T8 22

Page- 53



1. Teachers promote collaboration in learning / FRI&/® fUTH T YgINT P dgral
gl

2. The teacher is a facilitator instead of an instructor / T2T&f&h Udh ufRrers & g9
U U9IF ¢

3. The teacher decides content, instruction method and assessments / R HTI:I'ﬁﬁ,

A= fafdr 3R sirere o1 Avfg Sear g |

4. The students have a choice to pick assignments and decide assessment criteria /

BEI & IR SMTSTHC T 3R eI+ AMGS 0 HR- &1 [dhed 6|

Correct Answer :-

« The teacher decides content, instruction method and assessments / Rierw FITF;ﬂ,

e A efR aremer o1 Fufg sRar gl

50) Which of the following wastes is not bio degradable? /
el & § $19-1 sufdre S g o1 S srasfid 781 82
1. Vegetable peel / Yfesdl & foad

2. Milk sachets / G & e

3. Cow dung / T CARIIER

4. News paper / 3¥dR

Correct Answer :-

« Milk sachets / € & Ude

51) Which of the following learning approach is considered to be a derivative of the

Ausubelian approach? / fafafaad P19 A1 ARATH E@W, aﬁ'\aaﬁrq#
=0T ST I AT 1T 82

1. Experiential learning / S{JHdIH® 3{fTH

2. Collaborative learning approach / AN A DI
3. Analogy strategy / HI€RY RUCTIG

4. Concept mapping / g A=
Correct Answer ;-

. Concept mapping / RIGI AERE
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52) Which of the following can help the students to learn science through kinesthetic

movemenm?/mﬂﬁﬁﬁq@ﬁﬂﬁﬂﬁmﬂﬁ?ﬂwﬁ%mﬁmw
# Tag HY TPl 82

1. Written test / forfad uter
2. Debate / d1e-fdarg
3. Drama / FIch

4. Quiz / TR

Correct Answer :-

« Drama/-Ich

53) If an object is kept in between the principal focus and the centre of curvature of a
concave mirror, then the nature of the image will be: /

gfe forsft avg ) 481 By 3R faad guuT & aspdl & dg A @l oral 8, 9 S # yefa gri:
1. Real, enlarged and inverted /W%, G{f\lﬁfﬁﬁmm
2. virtual, diminished and erect / Gi'ﬁ-m, ﬂﬁﬁ@@‘iﬂ

3. Real, diminished and inverted / dl%cliad'), Q'igt'l?ld qa Il

4, Real, diminished and erect/ dRxfde, Hgpfad Td Hiet

Correct Answer :-

« Real, enlarged and inverted /Wﬁﬁb—, Gﬁlﬁfﬁa@m

54) People of different age groups need different amount of sleep. Who among the
following needs more sleep? /

fafirer amg ot & S Y SrerT-arent AEn i Y razamar €1 ® | FPrafifaa § @ fad g &t
T T I gl 87

1. Child / d=dl

2. Infant / fﬁ'ﬂﬂ

3. Man /&Y
4. Woman /II'%?IT

Correct Answer :-

. Infant/fﬁﬂg
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The force of 100N is acting normally on a surface of 2.5 m2. The pressure acting on that
surface is: /

2.5 m2 ®! TP g W JHIA: 100 N BT I TTAT SI1dT 8 | Hag U= o arell gard 8:
1. 400 N/m?

2.40 N/m?

3.4 N/m?2

4, 250 N/m?

Correct Answer :-

« 40 N/m?

56) A teacher is trying to nurture an aesthetic sense in his students, he should

encourage them to: / U & v BT & Higdad BT Yy H1 B
DRI B T8 8, 3 I WicHIIed BT AR fob:

1. Investigate ideas / Rl &1 9 &3
2. Development of models of inquiry /SITd CRIteIE (IIUET"D CANCEAR KRS

3. Observe phenomenon keenly / U] B3 ehdl |
4. Frame questions / d U dOR B

Correct Answer :-

+ Observe phenomenon keenly / Yc] D3 Il q |

57) Which of the following would not promote active discussion? / fFraferad H

A DI Aithy T4l DI TgIaT Tg1 G2
1. Selecting topics from upcoming tests. / SATTH uieron § fawat o1 9g BT

2. Summarizing ideas with the help of learners at the end of a discussion. / Tl &
3id o RiafiT ot Fgraar ¥ faeRl ol IRIRd ST

3. Acknowledging learners for responses. / gfdferar & fog fRremifat & Wier
CREIN

4. Encouraging questions as well as responses to each other’s questions. / gardl Bl

IR T Td 1Y BT Ueh-GER b Ul T SfaTel Tl

Correct Answer :-
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. Selecting topics from upcoming tests. / ST gR1&on O fawal &1 Ta+ =1

58) Which of the following statements is false with respect to scientific theories? /

I Rigial & Jau § FAaferfRad § | &4 91 $Y Tad 8?2

1. A theory must be tested with rigour. / Tch Rigid &1 Tedl & 1Y URI&0T foar ST

ClIEY
2. Theories must follow observations. / Rygidl & U&on &1 WWTEIT%EI

3. Theories may be expressed as an equation. / Rigidl ol Ueh JHIDBRU o =g H
o fa T of g |

4. Predictions of theories must be reproducible. / Rigr=dl &1 WiasaTorT sawg
w0 Y gTRedieAg gt a1l

Correct Answer :~

« Theories must follow observations. / @l@i(‘if &I ﬁ&‘l’Uﬁ CaRCINE! W:ITEIT%T{I

59) A scientific theory cannot be expected to: / Th aﬁﬁﬁﬁl@ﬁ T Y& TBl
DI 1 APl [P -

1. Predict all outcomes / FHI TRUTHI ST Gai-TqH AR |
2. Resist falsification / I DH U] B[ Ry B

3. Receive questioning / Ul &I U B |
4. Change with time / T9T & 1Y §&al|

Correct Answer :-

. Predict all outcomes / T+ TRUTHI HT yafgam T |

60) Overuse of chemical fertilisers in agriculture makes the soli acidic and the land infertile.
What substance is generally added to the soil to neutralize this effect? /

Py H TTae e F arfer v ) srita et § Tt ofi SuSTS: 8 ol 81
T THTT DI TR P & fore wr=a: fore uardf &) FrY # feremmar simar @2

1. NaOH

2. Mg(OH),

3. N32CO3
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PROFESSIONAL
¢ Professiond EXAMINATION BOARD
@bgécmnqtfon Middle School Teacher
Eligibility Test - 2018
20th Feb 2019 09:30AM

Topic:- Child Development & Pedagogy (CDP)

1) The hyperkinetic disorder is characterized by all of the following, except: / Fﬁmﬁﬂ?

R 3t faua Fafafeq & 9§ 59 seor Ivad &
1. Distractibility / TS faaferct

2. Hyperactivity / ffaafeaar

3. Hallucinations / FfcTyH

4. Impulsivity / SO Ifad

Correct Answer :-

« Hallucinations / AfdYH

2) Teachers must constantly deal with changing standards and

teaching profession. /ﬁT&ﬁﬁﬂﬁ Rreor sggarg | me 3R
& 1Y St BT AT

1. Syllabus / GT3Y-fdaRor

2. Curriculum /q'l"o'ilﬂ"':lf

3. Assessment / 3{Tha

4. Exam system / Y& HoTTet

Correct Answer :-

« Curriculum / ureaaaf

3) Piaget believed that language develops in a child as a result of: / s sramaT U fe
= ¥ Yty &7 faer, e & aRumrasu ghar &:

1. Cognitive development / IITHD EEQES
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2. Egocentric development / A ad fabra
3. Behavioural development / HIERTHAD [AHg
4, Environmental development /EITITETUﬂ?IﬁHTm

Correct Answer :-

« Cognitive development / TS faer

4) Mary is very outgoing. She is an exceptional Bharatanatyam dancer but does not score well
in her academics. Which of the teaching method will give more productive results for Mary? /

¥ aga At 81 98 vo STURYT WRaATeTH TdW! 8 Afp a8 Rign # Hatwe® o
51 urdt 8 | 7Y & fore o= <t Raror faftr siftres ey ghfie

1. Excursions /HHUT T e

2. Brainstorming methods /mﬁfﬂ

3. Grade acceleration /ﬂg@

4, Individualized instructions / %ﬁﬁaﬂﬁr&m

Correct Answer :-

« Excursions /HITUTQTG'HThE

5) The occurrence of is an indication of stagnation in the learning process. /

P e, ity Y ufean § fRRar o1 e G 2
1. Motivation / S{fYTROT

2. Plateau / fRRI® (@iel)

3, Progression / WA

4. Curve / 9% (F9)

Correct Answer :-

. Plateau / RRI® ([ﬁﬂ)

6) What is the main objective of teaching in inclusive classrooms? / TRt SHEmed | ugH
&1 Y31 IERT FT 87

1. Preparing students for job/ B B AL P 1T IR AT
2. Preparing students to pass the examination / BT DI URI&T U B B fag TR AT
3. Developing thinking power of students / B B feid Xfdd oI faH™ BT

4, Providing notes to students / STl &I Al Xl HalHd bl
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Correct Answer :-

« Developing thinking power of students / BT I (e fad &1 g™ BT

7) Development does not include changes that happen due to: ACCaLE: | %uﬁaﬂﬂwﬁrﬁﬁﬂﬁ
B o e F FRUTE §

1. Illness / SR

2. Learning / ST

3. Maturation / GRUGl
4. Aging / gl

Correct Answer :-

o Tllness / START

8) The key agent in Erikson’s Psychosocial stage of “Autonomy versus shame and doubt” is /

“TGTIRIAT §TH X4 3R Heg” (TS HTH! a8 WA US BT3¢) & TR & HAIGHING IR0 H
TIEUCH ¢ -

1. Primary caregiver / IR Yghe
2. Family / uRaRr

3. Parents / rar-foar

4. Teachers and peers / fRrerep iR Tt

Correct Answer :-

« Parents / ATal-UaT

9) When a child breaks a vase, his parents explain that this was wrong and tell him that he will not
receive his pocket money for a week. What type of parenting is this? / STd b d=dT pelgl- ?ﬁ?:?lT
8, O I® graT-firdT §w3id ¢ 3 g erd o1 ok 39 9a1d § % ve g & fog 3
SIS g1 T | 98 f5d TSR &1 Ura=-uror g2

1. Behaviourist/ IAGRATG]
2. Authoritarian / STATGT
3. Authoritative / BEIIRET

4. Permissive / Hﬂmﬁ

Correct Answer :-

« Authoritative / TTIBIRE
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10) Children with Autism are: / TIeN-IdT (3TfevH) A difgaT= gla &
1. Unable to make eye contact with others. / QFI?-I‘ & 1Y 3G T YU Hed A argaef
2. Unable to move about comfortably. / 3IRTH J ‘aj:le[ T argeef

3. Unable to fall asleep. /e ey
4. Unable to follow instructions. / ISR &1 UTei &3 § 3rqaef

Correct Answer :-

« Unable to make eye contact with others. / §¥I§.| & 1Y 3G TGP Hed o argaef

11) During stage of cognitive development, children acquire knowledge through
manipulating objects. / ST [AHN & ATTT & SR, T TGl | BIWR FIS
I U $ed 51

1. formal operational stage/ NI HfehuTed TR
2. sensorimotor stage / HERIHIER =T
3. concrete operational stage / @ﬂﬁﬂm STaxT

4. preoperational stage / Jd TfhaTd® SR

Correct Answer :-
« sensorimotor stage / HERIHIER SR

12) One way of minimizing the effects of diversity is to allow the children to: / fafaear & yua &
FH I BT TP aslD] gal B =1 B Srgafa T R:

1. Win over each other/ W—@:{ TR ofid B'Iﬁlﬁ B DI

2. Operate in separate groups/ SICT-3{cT ﬂ&@f T B HH DI

3. Start small communities of their own/3{0" W4 & Bl W@ Gl L= P P
4. Socialize with each other/ W—Eﬁﬁ' & 1Y A a'c.rﬁ @t

Correct Answer :-

« Socialize with each other/ @-gﬂ% & 1Y A Wlﬁ @t

13) According to Ivan Pavlov’s idea of Classical Conditioning, a particular natural response to a
stimulus becomes a conditioned response to another associated stimulus. Which one of the following

examples satisfies that theory?/ §aT- UTGAId & FATD T DI P [TIR & AR, TH
o1 & fore ue faiy wipfaes ufafiear g das SaoT & fore v w=r wfafshar o St
81 FufarEa & & 319 971 3Tl 39 Risid & 6ge HaT1 82

1. Children responding to the bell at school to indicate recess and associating it to happiness./ [CEIGEE]

° TO BT I IAHTY BT Tobd JHA & IR I =M & Wy Asd g1
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2. Children maintaining silence when the teacher raises her hand/ GWQTW BIY oIl % o ﬁéfqﬂ:ﬁ
LG B |

3. Children expecting to receive medals by the end of a race/ ?IE% 3id TP Uad U HA D1 SHIG
G AT = |

4. Children getting star stickers for the right answers asked in class./ &I | @ U a1 3R & [y ®R
fReehR YTt 3 arel = |

Correct Answer :-

« Children responding to the bell at school to indicate recess and associating it to happiness./ ICEIGEE:]

°E) T DI I SAHIY BT Mhd THIAd ¢ SR I GeM & 91y Sigd g

14) According to Cognitivism, learning is defined as a change in the learners’

AIFATHSDAIG & AR, AR B Rramdfd ﬁw%mﬁuﬁmﬁaﬁw
ST gl

1. Behaviour / dgIR

2. Schemata/ Hdog @ﬂﬂm)
3. Mindset / AR

4. Morals / -ifdd

Correct Answer :-

« Schemata/ Had @'FI'IE'I)

15) According to Bingham, what does an aptitude test disclose? Aciekg SR, \?rlﬁ-IQﬁl'q'\Pf&I'UT
< &1 qa1 Tl 87

1. The tendencies and capacities inherent in the individual's original constitution./ fad & Hel WdHIg i fAfga

&S 3R ygfrat
2. The achievement in different dispositions./ fafts m Iradr § Iuafsd

3. The readiness to acquire proficiency and exercise ability./ T 3R 31T R &I d=dl

4. The strength of the different dispositions./ fafis 3@1&@ Tl Bt ar

Correct Answer :-

« The readiness to acquire proficiency and exercise ability./ T 3R 31T HRA 1 d=a|

16) A child was taught to be afraid of cobras. Now, he is afraid of all snakes. What learning principle

is evident here? / U = ) PIERT I ST FRIRGTAT 747 AT 374, I8 I A0 & ST 8 | I8l B
|1 AR Rrgia @y 82

1. Reinforcement / QT'IE{FFT

2. Spontaneous recovery / ¥dd: QFR'Iﬁ?ﬁ
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3. Stimulus generalization / Fe TS EIHT
4. Stimulus discrimination / J&IUe fancieur

Correct Answer :-

« Stimulus generalization / &0 THTAIHRT

17) Carl Jung’s approach for a personality assessment is:/ TfakTed B & [eTT BTl T BT

1 Judging/ﬁmﬁﬂ

2. Perception /Fde
3. Structured / AR
4, Projective / gadE

Correct Answer :-

« Projective / UAURT

18) Which of the following is the term used to denote inborn patterns of behavior that are

biologically determined? / wifde =u 3 ﬁiﬁhﬁ Hdgl} & SIS Ue] Dl a'ﬂ'ﬁ G ﬁi’[{
Frafafea & 9 fvw 2reg o1 3uah faar s g2

1. Arousal / SIS (TRI3TA)

2. Drives / H<IHIG (ST509)

3. Instincts / H?fﬂ@ﬁl’q\f (31@?13)
4, Incentives / TAIHT (mﬁaﬁ)

Correct Answer :-

« Instincts / HEVIREl GReTe)

19) Which of the following is not a part of the process of memory? /Fafafeada aﬁﬂmﬂﬁf ot
yfshar &1 fowar 181 82

1. Storing information /BRI m PIAT
2. Encoding information / BRI BT b0l Bl

3. Acting on information / =T U BT HAT

4. Retrieving information / SIECARRCIINECRE]

Correct Answer :-

« Acting on information / AT U BT BT
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20) What substage of cognitive development is apparent when a baby learns to press the ‘play’
button on the iPad in order to play his favourite nursery rhyme? / HTTH® forr ot o=
SU-SERIT WY BI1 §, SId TP T 30 Widier 78 fdar ¢um ¥ R aE-ds
@ ge garHT Jiaar 82

1. Coordination of secondary schemes / e droH13 BT 9H-ag
2. Primary circular reactions it qudlh R ufafeamg

3. Secondary circular reactions / Heate qulhiR IGIEI

4, Tertiary circular reactions lm ESIEZN ufafeang

Correct Answer :-

+ Coordination of secondary schemes AT sl &1 aHad

21) What age is a child the most impressionable? / foa 31y BT =T Had Tl m-n‘mﬁ‘eﬂm%‘*
1. 14 to 18 years / 14 ¥ 18 T

2.2to 8years /29 8ay

3.9to 12 years /99 12 9§

4,6t l4years;’6@ 14 99

Correct Answer :-

« 6t0 14year33‘6% 1499

22) CCEisundertaken /RIS s fHarwmargl
1. Four times a year / Qav_aﬁﬁﬁ'l? IR

2. Throughout the year / i R A

3. Periodically / JHI-JHY U

4. Twice a year / U a4 H g1 IR

Correct Answer :-

« Throughout the year / CLRITEE|

23) Questioning in the classroom : / PE&IT o Uy BT
1. Develops inactivity / fAfspadr fawRid Har %l
2. Clarifies subject matter / TdUT %7 P TF HAT 5|
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3. Creates indiscipline / 3[RIRITg-Tdl UG HRdl B
4, Is a waste of time / JHI Bl aﬁh"r %l

Correct Answer :-

« Clarifies subject matter / IELE q¥g Ga Y DHdl %I

24) Needs which grow stronger when unsatisfied are called: IW Eo'-'\ﬁ W WB}% arett
ATIIHATY =1 Hgard §:

1. Deficiency needs / U TR A

2. Primary needs / T SReRd

3. Growth needs / 3G SEvd

4, Being needs / TARIH Sl
Correct Answer :-
« Deficiency needs / U TTRA

25) Who proposed the theory of observational learning? /verotr iftnma &1 Rrgia fFas
Tgd foar?

1. Ivan Pavlov / $aT9 UTdQ@Id
2, B.F. Skinner / 1.3%. flpR
3. Aaron Beck / 3R §b

4. Albert Bandura / ST

Correct Answer :-

« Albert Bandura / SR

26) A scoring guide use to evaluate the quality of students is called: / BEl B
gmmqwﬁmmﬁ%ﬁmaﬁwaﬁaﬁmwﬁﬁﬁﬂmﬁmm

1. Checklist / IPpiee
2. Rubrics / & Ieiad
3. Rating scales / 3T Wheq

4. Inventories / 39dfcH

Correct Answer :-
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. Inventories / S7af¢H

27) Both pleasant and unpleasant feelings are associated with WA LCH

3R 31T =T HTITS A ISl Bl
1. Double approach — avoidance conflict / fg @0 - ufer e
2. Avoidance - avoidance conflict / Uﬂ?l'{ - uﬁ‘sﬂmﬁ

3. Approach — approach conflict / TP - TR TEY
4. Approach — avoidance conflict / PP - URER Ty

Correct Answer :-

- Approach — avoidance conflict / DI - URER gy

28) Authentic Assessment is a form of assessment in which: / UTHIOTS Sfiha fTHa-
B TP ©7 ¢ o

1. Students are asked to perform real-world tasks that demonstrate meaningful application of

essential knowledge and skills. /Wﬁﬁﬁ%ﬁ%ﬁﬁaﬂﬁ%mwm%
ST AT FT SR BT &b T SN B! Uefdfd Hd §

2. Students results are compared to hypothetical average student / EJF|| %Wﬁw
SIS NTd B Y B Sl &

3. Student performance is measured against a fixed set of predetermined criteria or learning standards

/ BT & USH F gd FuUia AMcs! a1 Wen $ AHs! & TP R I & R{odia qr s @

4. Teacher determines students' individual strengths, weaknesses, knowledge, and skills prior to

instruction /ﬁlw S| &I TfaaTTd W, mﬁﬁ,aﬁeﬁ?ﬁwﬁaﬁmﬁuﬁﬁ
FufRa®ars

Correct Answer :-

« Students are asked to perform real-world tasks that demonstrate meaningful application of

essential knowledge and skills. / PG ARIESIEED gﬁm%aﬁfﬁmﬁ%ﬁwm%
Sl AT FH SR BRI & s SN & Ueifd Hd §

29) CANCELLED
Classical gestalt theory was put forth by: / FATRIS o TIRCTee RIgid 9 §RT UNd T T4 A

1. Thorndike | UTHSISH
2. Kohler / EF-E?‘IT
3. Piaget / U
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4. Pavlov / UTdAId

Correct Answer :-

30) Which of the following factors influences a child's success and failure in school performance

éﬁaﬁ-@ﬁﬁﬁaﬁq-mwﬁam%mﬁaéaﬁweﬁ?maﬁmnﬁam

1. Parental education background / HTcTI-fUdT o RI& Bt qg’l;l'\&l

2. Physical strength of child / T B ARING "-:|‘_3|7$Eﬂ'

3. Teachers contribution in learning process / SffeRTH EFFEFCIT ﬁ fﬁT&ﬁﬁ aﬂw
4. Social Influence on child's learning / I & SATTH W IS UHE

Correct Answer :-

« Teachers contribution in learning process / Siferm ufepar & Rre/! o1 AN

Topic:- General Hindi (L1GH)

1) HYR-AYR WY U ol
g wfafe wfagor ufaua
raas &1 vy sraifea o
TRY trar faga g s

g HIA-A1 4d ¥, Hg-a!
2wt @1 Ry Sraf¥fr,
AR Sia &7 319] -
Ua®-Jad WY &I !

IR e S a1

HITT ¥ JS™ sarel HU;
gy RR g7 sgar &
BT, T OTE U g A
frge-Rigw A% due wran

S Y § ¢ SRS
He-gF Fa fvaA e
STEY AR HT IR el
fagga & frar & arean
fae-fagw W v wa
Iudad TRl Bl g H1E U0 9H aret U3 F1 Ik Ia1g¢l
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T=H: “JaD-Jad’ | & IH-17 AADR 82
1, Yifcr

2. G Ta UhTRI

3, J&l

4, Sffa=rfad

Correct Answer :-

|y tar faga g s
Yoo HIH-1 Y ¥, Jg-a1!
< v o1 Ry srafifer,
&R Sia &7 8] e
Ya®-gad WY 9w ol
IR Xaa S Ta-

T T G ST S
fay-=ay AR YT Fear #
o1, 7 o U g i
Rrex-Ryey IR §ue o
Sad 94 § ¢ S
wg-g 7 e v
Y |ATR BT 3R Sl
fagga o firar & ween
fagu-faga W e oo
U URITRI BT U@ - T o4 a1 U= $T Ik Jargel
U: Ry fFd wed g2
1. W AT UaiTT 1

2. Fafga =t

3. AYATH Bl

4, YR B
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Correct Answer :-

« BfcTTT 1 gt &)

3) AYR-AR W U o
g wfafe ufagor uftae
oraas &1 vy sreafea o
TRy trar faga gu s

gd HIW-A1 gd ¥, Jg-a-!
2w 31 Ry srufkfim,
AR Sita &7 3] -
Ua®-as WY 1w S
IR Xiae S o=

HITT ¥ T3 Sare HU;
fay-=zay RR Y pgar &
T, 7 ST UTaT g3 A
Rge-Rige W dius wren

S Y § ¢ SRS
We-811 Fa fvaA s
STEY AR 1 3R STl
fagga & firan § area
g W <ue wen
Suded Ui Bl g 18 U SH dret U= $ Ik Iargtl
W= AR &1 T adas 87
1. icH gigd

2, UHTUEed

3. SUTHIG

4. SHIfHE T $UR

Correct Answer :-

« SfEHT ar SUR

4) AR-AYR W U o
g yfafe ufagor ufaue
ft]'qa'n[fﬂqu araifea s
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AR Trett fager gqu o=
Ygd A9-1 g ¥, gg-a-!
2 w1 1 Ry srafkfa,
X SIa= BT 3U] T
Ua®-gad 7Y g9 STl
R ftaa sra aa

| T3 T STl BT,
fay-zay RR g Fgar A
BT, 51 5TeT uraT g e
fRre-Rigy Y fuw wa
Sl FH H ¢E SRBIH
- fra fvee e
T AR BT 3% el
fergga < foran 8 ameen
fogu-fagw & o wan
SUdad U™ Bl UgHR 1 IS W aTd U= FI I} aarge|
;R YA gETar BT T SR 82
1. 370 § BIE T

2. R wrfersy

3. RR & aa e

4. Sgd UYTATY Bl

Correct Answer :-

. TEA UYTTT FHRAT

5) HYR-AYR W U oa!
g ufafes ufagor ufoaa
Oraaw &1 vy areifea a5
HRY et fayad g s

Tgd HIA-31 4 ¥, gg-a1!

< Wt T Ry 3ruffia,

& Sha &7 3] TE-TTE
Ja®-gad a¥ s e

AR e S T
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HITT Te g™ SaTdl BUL;

fay-zay RR g wgar &

B9, 7 5Ta uraT g fren

fex-Rygy AR v o

ST Y § S SRS

We-dH o fvaa duw

ST AR T 3 STeel;

fagga & fran § e

fdy-fRgy W due wa

IUded Ui $I g H1E T 9H a1 U= $1 Ik Ia1g¢l
WRA: gd A AT YA ¥ Jg a1 A T areddf 82

1. 378 QP A

2. SN A e ST 8 o 8 SiueT ve $@ g Tifeu
3. g FH Y S &

4. TP HgaT ST Bl ©

Cormect Answer =

« SR A1 g ST € 99 € 3usT 99 $9 fUEeHT a1fey

6) TR-UR W s o
g wfafe wfagmon ufooa
raaw &1 vy srrefifed a2
TRy then fage gu s=
Yoo AH9-1 g ¥, gg-a-!
¢ g1 1 =y sruffea,
A ofla= &7 319] -
To®-Ja® WY s el
R ftaa sra A

| TE TN STl HUL;
fay-say RR g7 wgar |
BT, 1 oI d UTT g i
Rrgr-Rigz | fus wan
ST Y H & SRBIS
e-g4 o fvaa e
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SIHY TR 1 3¥ Siddl;

frgga & fowa 8 areen

fadw-fagw W e e

SUdad Ui Bl UgHT A6 T o aret U=+ P Sk garggl
USH: ‘SITE-HOr {5 Hg1 T 82

1, dd 3T bl AUC

2. B T BT AYAH S

3. 3T AP 6!

4, ST P AU R AT 6T TYTH 3 A1

Correct Answer :-

« SN AUC 3R 3T HT AYTH ST a1

7) AYR-HYR W U o

- wfafe wfgror afeaa
fOraaw &1 vy sraifea a5
HRY Trar faga g s

gd HIN-A1 gd ¥, Jg-a-!
3wt &1 Ry Srafefr,

AR Sia &7 319 -
Ya®-ad X SI® S

a ftae S Tad

I 3§ JH SATa HUr;
fay-zrau RR Y= Fear &

BT, 1 OTE Ut e i
Rrge-Rige WY five v

S Y S SRIETS
We-g fa fraa e

S AR FT IR el
fagga & firar & area
fagu-fRew = due s

IUded TR Bl U@ 1R TS SF aTe U3 $1 Sk aq1g¢l
w=: fay sy diue & a1y A S S e 82
1. fofeT @ 31 3181 & BRI
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2. 3BTl & HRUI
3. S0 A B TR
4. YT e T GHT S ITedl §

Correct Answer :-

. UdT Eues § AT S 96dl §

8) WR-UR W e o

- whafe ufigmor wfaaa
raaw &1 vy sratfea a

TRy tar faga yu s

Ygd A1 g ¥, Jg-a-!

< woT=1 31 Ry erufifa,

A SHa BT 3] T
Ya®-gasd 0 s o

R ftaa sra Taa

AT TR T ST P,
Ay RR YT sgar &

BT, =T oTe UTaT g o
Rrgx-Rigr W diuw v

ST TH H ¢ SRBTH
wg-g o fram dus

ST TR BT 3N Serdl;
faega & Rrar € aea
fodu-faga WX o s

IUYE TR B UgPHR A1 T 9 aTel U P I) qarsy|
TR WEEH s A a1 aread 82
1. PToI-d1Ue Nl Wexgd g

2. R fus I T_AR

3. &UF HI RN IEAE

4. ARl 1 Age SUF Bl T 7

Correct Answer :-

« AR &) WS <UD Hel T ]
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9) AYR-UR W s ol

g ufafe ufagor ufooea

Oraaw &1 gy sraifea e

HRH e fIga yu s

Tgd HIA-T g ¥, Jg-a=1!

2 g1 BT Ry sruffa,

AR Sia &7 319 -

YIS-gaF B U STal!

ar aa HId Ta-

HIT I g SaTell HUr;

fay-zray R Y= vear d

B, 9 o7 T g e

Rrg-Rrge AY Sluw wa

S Y § ¢ SRITTS

we-g e fraa dius

WY | 6T 3R Tl

fogga & foran 8 e

fodw-faga W S wra

SUd Ui I @] T IR 9F drel U= 1 I« garse|
TR U 309 &Y ) {5 YR e T &2

1. ASTS PP
2. dUP BTGB AR P
3. UaITaH B

4, T A Y TH TET U Y HATHR &Y T HaT &
. e, B o R

o OfF O Y THA ol UTd ar HIHR &Y Tad Hal B

10) AR-AYR W EUF !

g yfafe ufagor ufaua

foraaw &1 9y salfed 1!

Y ten faga gu s

TG AIH-¥1 Y 3, Jg-a!
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3 Wt @7 Ry Sruffia,

A Sha &7 3] T

YE®-gad WY s

AR 2 PrAa AT

Wi TQ T ST B

fay-=rau RR g wgar d

BT, 5T Tl 97T g3 A

fe-Rige 3% due wa

STerd Y § ¢ SIS

We-gF e frar flus

@Y AR BT IR Tadl;

fagga @ firar & area

fagu-fage W e o

ST TR BT UgH? A1 IS 9N ATt U= BT Ik aaigu|
T TR i # ‘ue 3R Rraaw frad udts 82
1, 378 A PIS TRl

2. d W H1 fras dfera &1

3. 3% 3G9SO 3R T F1

4, G2 R ufd &1

Correct Answer :-

- dlue W o1 gaw @i @1
11) TR-TYR W Nus s
g wiafe wfagmor ufoae
e &1 9y sneifea
TRy Tan fager gu o=

Hgd HIH-1 g ¥, Jg-a-1!

< ot 1 Ry sruffira,

A SHa BT 3] T
Yue-gae WX Ius Sl

IR Xaa s ua a1

| T8 T ST B
fay-<ray AR ¢y pear d
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B4, 5 O U g A

Rrg-Rygr W fuss v

e AH H 3 3RTIS

-8 g frem lue

STE AR T IR el

fagya & T 3 aga

fow-fagw & e wa

Iudad TR B UGHR A IR 9 a1 U H1 Sk Tagy|
W= HafEt A S 3 frad TeR A S &1 B8l 82
1. el AYR-HAYR

2. Faq faga-faga

3. Bad Yob-Yah

4. Iugad gt

Correct Answer :-

- Sugad g+t

12) AYR-AYR W s e
g wfafe wfaeror ufoae
iraaw &1 9y aireifea #3
Ry tar faga yu s

g AIH-41 g ¥, Jg-a-!

< T T TRy SR,
W e 7 3] T
UA®-gad WY 1w !
R Maa Hrad o

HIT TE I ST B
fay-zay RR Yy wgar &
BT, 5T ol U191 g4 A
firex-Riew 3% due v
Sad 94 § ¢ SIS
He-o fa fraq s
STEHY AR T IR Sl
fagga @ fran € e
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fog-fagw W dlus wa

IUUE TSI Bl U@ A T 1 a1 U= $ IR Iargul
W=: FafE feaet vy smefsd ST 918 W61 72

1. 39+ forad &1

2. fordit o1 gt

3. foreht T &1

4. HE g 11 BT

Correct Answer :-

. A UIgA &1

13) AR-AYR W EUH o
gu-gur yfafe wlagor ufooa
firaaw &1 gy raiiea s
Ty ten fage o s

g AIA-AT gd ¥, 9g-a!

¢ BT BT Ry sraffi,

A Sfta=T BT 379 T
qoe-qasd WY e oel!

R faa sa A

AT IE TN SaTdT H;
fay-zrav R g7 pear A
BT, 5 oI d UTaT g i
Rrgx-Rigr | ius v

I AH H S SREID
We-d e fvas diuw
ST AR BT I el
fagga & frar € area
foda-fogw &R o e
S U B UGHR A9 YD S I UL BT IR Fars¢l
UR: HYR AYR WY US STor Hiaar o1 digd 30 3 fora w e @2
1. Hdcl YE! BI IR R
2. $Id T e 3fp R
3. ST AP 8!
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4. RTeq] B! ST SR YWl fda sia G-l Tt
Correct Answer :-

. TGl BT SR SR e [ i gl Tl
14) AYR-AR W EUP !

gu-gur wfafe wfagmor ufooe

Oraaw &1 9y sireifea a2

Y Par fAga yu e

go HIW-A1 gd ¥, Jg-a-!

2 =1 31 Ry sruffi,

AR Sia &7 8] -
Ya®-gad Y @ !

IR aa Had o

AT T3 T STl ST
fay-zay RR g7 Fear A

19, 7 e 9T g e
Rrex-Rygy AR fue o

S Y § ¢ SRITTS
we-g fa fram e

ST AR HT IR STET;
fagga & foran 8 e
fogw-faga A fus s

SUYE U= 1 UgHR 1 IR 9H e U= FT I« Jarse|
WH: ATea 31 o faRgar aars 7S @2
1, Sea BB &

2. See ST H 81 &

3. 570 A PIS g

4. Sreal H faoreh Bt &

Correct AI'ISWEI‘.:-

. wTeal # farered g &

15) AYR-TYR W due e

g wafer wiagror v
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O &1 9y arreifea s

TRy Bar fage gu e+

Ygd HIH-A1 g ¥, gg-a-!

¢ Wt 1 Ry i,

A ol BT 3] T
a®-gad WY s S

an =fiad Fraa o=

AT T8 g SaTe HUY;
fay-zray Ry sgar A

BT, T oTd T g e
Rrex-Rigr R fuw s

ST T ¢ SRTTH
we-gH o e s

T AR 61 3R Sl
fagga & fraT & Iean
faga-faga W diue wa:

Iuded TR B g3 1N TR o aTet U2 $1 Sk aq1g¢l
u: U & 5 a1a &1 3R fran S et B2
1. 33T AT

2. 98 B U9 3R &R & orerar 1@
3. 98 HH ad U

4, farefae ot Es T &Y

Correct Answer :-

. T8 83 UT 3R &% for Siear @

16) WRGTYS HUT B YN B, TT HETN ST MM I 31 TT9 A e 6107 59 0 ) et W gt IR wia
IET E1TT, FeTid Sl HT | HeTHt &1t Taa- g6R 981 §311 81| H3dG [ay-w1feed &1 Uri=ad I &,
et T $97 A 9 TR af Ugd 8 g@t A e # ME Wl W T TaS A Hel ar
frwamis ot e iirar ok U wafera faur g1 & wamor fyed 1 37 S 96y &1 U6 HeH® 31| 55 6t
AP €1 Brafed qure ® eFw frye ar fhaef~al wét s gt «ff | Ferl 39 frusl ok wureit A sraififa
qt1 37 T FRAAT 3R 3T A TP Uy fawaR B AT §T FeTl BT oraT ATHA Tl 31 SR &
PG (1/32) DT UG M USIT G :

& goxt & WRIHHI BT 9T HaT §, Forg 39 a9ur A T ugd fhar 31 391 R (e 3RIR) B 4R, §d
F YRT B varfed forar 3R udd W afeul & fore Ian @ianl 3 3 39 3fe & aR frm, st udd wr gar
YT T A 55 P g aor 59107 411 (575 7 99 g Ay @1 3w @ie,) YuTdt g8 Al B avg o AR a6t
3R I8 T ST AT T P! UWR A $ ¢ Trur far 3k a9 § @1fe ) wer fvan 5= 3 arnfaay
&t AT o1 farte fovan | 3w g4, ST 3R SMTHT=T &Y SFTgd fohaT| 3% UYTq 7% BT &1s X3 78T 35 A
g9 & 30 B VA PIe 11, WY Ug FI Siferal Sl wirdl 81 97 €Rel U R ueT| 7euH b ga dR g = 9
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TS AT YT 5 AHUR §, IUA 3A® A3 &1 ¢+ fHar 81 99 55 & UeRI &l Hd g Fdar Y12 98 g3
TE A TR W BT ¥ Ufd e 91 W ot 3T 3575 @ 9S8 R 7@t | 3% 9 S9! i R 991 § UeR faani
@ATYR) T W GIS & TP A 567 AHdT 22 T3 P CHS-CHS 81 T | 98 oa T WaTe a1 $1 &
IIM F T T F SR A 98 IT1 T A a0 BT YRT F1 TR AP 3@ 4T 3 T8 97 I Igar g a8
TBT UT1 5% A g3 1 WifGagi= 7rar R W werR faan | aran SR <R, g3 2 et un1 g3 31 e o9 ugh A,

S T 3T 98 & 1Y U Bl 97 BT §d TR I S T-URT A TS 4T, S FHA1 T8} S, faam 78
ot 3 g & o9 H g o) wiat ol I Tt g Ut ify ST vard Ut S aftr il it A A 8,
39 B 3T o I URTSMT B b IWT AT

IUe RIS H UgHR A1 TR T U H1 I qargel
UR: §5 & forg fova as1 g=man um

1, Ra =

2. @BTA

3. SffEHIPAR A

4. qadisii 4

Correct Answer :-

. VT

17) WRGAY ST B STHYN T, TE e $T 3NFS S 31 7T A o &7 39 I #1 oRefl R gt AR wia
@I g1, Serfe S 9Ha | Sert &1 Wt e gAR 981 g3 81| H3dG fAy-91iee &1 urii=ad 7= 8,
Rraet T $91 A 9 g9R ad ugd g g1 G BAG U 3 wEl W awpreiy GHS § s ar
framis @) drefraar 3R T wafera faur 81 & ymor fied §1 37 99 99y &1 U6 7S UT| 555 &
AR & Frafew guTe ¥ 3w fye ar fhagi~mar wel o got R | sert 37 fryst ok wursh # sraviftfa
Jt1 g7 Ft FRAUT YA 319 A TH U= faar B WA §T HEH! BT el WrHA Tl 21 SR F
FHIAT (1/32) BT UG S USRI B :

"8 §% & WRIHHI BT 9 AT g, folg 3 aoUR 3 Had Ugd a1 31 36+ i (TS 3RIR) & 9R7, 5d
&t YR Y varfed fobar St uda wy afaal & Rrg wrvar @ien 33 3 39 aif &t AR fivran, ot uda w wgar
Y| T A 5% & e as1 3man 911 &= 7 S g i &1 IRar @rer,) YU g% Il @1 ave wa R a5t
3R € Ta11 I 3T T6 P TER P34 P ¢ Iraur fEar ok 99 @ iR i wer fFan g= 2 arnfaat
&1 wran 1 faRiy fvan 1 Ia G, ST 3R 31T %) 3FTgd fFuTI S U 5% PIHIS NI AT THA
T & 30 B TA P STA1, S U I STl HIet wrdl 8 | T 4Rl IR FR usTl 7 s gA dR 3= 9
TS T UT1 3= HHUR &, I 3 I3 BT g0 f5a1 81 97 3% & UeR) $1 H g TPl UT? T8 3t
TE W BRI W BT 3R Uid e oiF IR oft 3 575 & T8 oIl &t | 35 3 39! Uie W 991 9 weR fbar|
(ATERN) e YT IS &b GbTaa A 36X Aebdl 82 I b ¢hS-gHS 81 T | 99 o BT YaTg Al bl &
T & R T F SR A 98 3311 g7 A 90 B URT B! TG AP @ 4T 3F I8! o I a1 g a8
TETUTI 55 A T3 9t fTas s Arar W) ¥t wer fan ara SR &, 33 12 ust un1 33 3 amar 89 vt 6,
SR T 3 95 & 1Y U3 811 93 BT Yd INR I SA-URT H UST YT, S $HA1 78] oI, [y a8t
el | I ST & T H g i ot 3t b T g3 UT| 3ifg IuHT @ uTI SR} ufr T F AF AA E,
39§ I 5 D URTSH B I 38T AT

UL e TR B Ugde -4 T T U P S« qaige|
U=: $% I Hal & forg A fedt?

1. IRINY

2. fasm

3, Sfefi=an

4. WhH
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Correct Answer :-

18) YRy ST Pt STYFT 8, T8 DO BT 1S & 81 AT 7 Fo &01 §H G F1 4Rl IR Ugelt AR UIg
TET ER, FeTire Sut THT A BTt &7 ot vaa gk I8t gor gR | H7ag fay-urfee &1 urei-aw 9= &,
et o €1 @ $0 g9k ¥ ugd §l gt M wrg A ee Wil W acpri JATS # HEEt AT
frramiE #t Asiraar 3R v v e 8 & v firerd 81 3= 99 WY 61 U He S UTl 55 31
AR B Brafew g & sMd Ay a1 fhagf~rar 1t o gt ) s 37 fryet ok wuteht & srififa
Jt1 5= ot IR YA 39 H TH U= fadR ot Wi §U HeTH1 T olal 9ra ¥l g1 e &
PG (1/32) BT UG M USHITE -

& g P WIHHI BT 9T ST §, g 39 a9 A T ugd fhar 31 399 3iff (T 8RIR) P AR, Sid
P YRT ! yaTed fpar 3 udd W Afeal & e vrvar @an| 55 3 39 318 & AR FRmar, wit udd wR Iwar
YT BT A 5% P ¢ a5 aman 411 &= A 59 8§ i &1 I=an Wie,) YUt g3 At @) 9 ud R 3t
3R T8 TATI I 3UA T B TR A & fore Wiwur= frar siv a9 9 ¢ifg W wer fhan 3= 3 arnfaay
&t ara &1 farty fovar | 3w g, ST 3R 3T &) 3FTgd foraT| S UYTq 5% BT Bis ¥g T 8T 5 4
g9 & 3T B ¥} PIe ST, 9 U B S1feral 1t ol §1 T vl O¥ AR usT| R wd g AR g @
TS T YT 35 WU 8, 3T 3P WF3H BTS04 fFa1 81 T 5757 & TR B $ g Jodr 412 a8
e ¥ ERTI W 81Y 3R Ufa e o1 IR o 39 575 @ o1 o 36t | 55 A 39 fio R 991 ¥ weR fFan
(AR §T UAT HIS & PR A 363 TDdl 82 99 & The-che 8 | a9 O BT WaTg Al &t @i
I F U 7 & SR A 98 IoT1 T A T B YR FI STaRG= AP 31 UT| 3T 981 5d I a1 gan I8
BT UTI 35 9 T 9t faae = Arar W) 4t wer fan ara Suw &, 37 4 ust 411 33 31 9mar o9 ust 4,

S T U 953 & 1Y U1 811 93 BT G IRR I - URT H UST U1, Sl -1 81 sirialt, fasma =it
Fd | 3 o S o A b o) oret 3l aF T gt Ul 3ifE ISt Tars Ut S uftr i @ A A 7
I § I 5 Y YRTSH B I I U1

SULe TR H UgHR Aa T T Y F1 3@ qargy|
W: 7Y 3R UTd e o ) W P 85 @ g oIk @
1, 9

2.3
3. Ted
o

Correct Answer :-

19) YRWTY w1 Bt =AY B, 95 BT @1 1M 31 B 1 T A O 101 59 3 #) 4Refl W vt AR uia
W1 G, Farrre I THT & Heit &1 ot yraa gui g8l g3 81| H7ag [Ry-a1fe &1 yrfiqaw 9= &,
et T9T $9T A $© FUR a9 Ugd 8 g@t A1 HFAg A oFE R W aenId FAS # Bl ar
frraris &1 dieigar ik ue wafe faur 817 & yamr e €1 §7% 99 999 &1 Uh A8 411 555 &t
Aex € Hrafed aure ® e fye ar fhaef~at 1t s gat off | w39 et ok wursit A srififa
&t 3= F afamar s o § U situ=uriye fawaR &1 9ue g Sl FT el 9 Y@l g1 59 R ¥
HG (1/32) DT UE SIS R :

¥ g % WRIeHHI BT qof Bam §, R 39 aorer ¥ e ved fhar §1 399 @1f (e RgR) ®Y AR, S|
T YRT B vaTed frar 3R uda W Afeal & forg v @ien | 3 A 99 3R &t AR iR, it uda wR g
Y71 U1 A 575 P ¢ a9 S99 411 (3% A 9 81 A &7 I Widl,) YHTE §5 41 1 dve ofd =1 $1
3R 78 TaT| ST 3UA T B TER B3 & fog GIAUH fooar i a9 & 3ifg w) ugR fvan 5= 7 amnfaat
3 1T P71 ARy fram 1 IH I, ST 3R THT B SETgd fHATI THP TN SR BT HIS U AT ST
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9 & 3T DI TH PIe STaT, 94 U I Siferdl HIc! ATel 8 | g9 (Rl W AR USTI AU b A dR 55 4
TS TAT UT| 375 AU 8, 3T 3P WP BT g0 fFar §1 33 375  UERI B $ g THaT 412 I8 T
WE W TRT W 1Y 3R UTg e o1 W ot 3T 575 | w918 ot & | 375 A 39! fie 1 99 ¥ werR fsam)
(TR 3 YT IS & GHad | 38 TSl 82 T3 & ghe-chs 81 T | 79 oId BT HaTe anll &1 Wi
T & I 77 & SR A T8 IST1 JF A d B R B SEERi Ab IQ@T AT | 3T T8 oA I e g a8
TR UT1 5 A 9 @1 Wifdaet 7rar iR o wer fosan | e S 2R, 37 1 et 411 37 31 arar 8@ uh 4,
R T 30 95 & 1Y TS 81| 93 BT Jd IRR I STA-URT T UST YT, S FH+1 71 o, fagms 9t
Fcit | 5 ST & o § g1pR ol ofet 372l 7 SbT g1 U1 31f% IWBT & U1 HF Uiy I ) 3 Al |,
I8 B I oI P URTSHT B IH IWT AT

U TR P UgHR A1 IR T WA o1 I« Jarsu|
UR: §5 A 9 & e &1 v @ar ) o R ave 98 3 gem?
1. 99 @1 TRE

2. IRA DI RE
3. 91gdl &I dig
4. Tl €% T Bl TRE

Correct Answer :-

. Tt g2 T BT Re

20) HRATY HUT B STFAYY &, T8 T BT 1S G 71 7T A O 4701 39 I I eRell W Ugell aR Uiq
I g1, Feriig St Ty & wert &1 ff vaas gHR 98T g1 g1 Hidg fay-ariee &1 uriiqan 9 §,
Rt o 9 A 99 g9k 99 Uga g 9@t O FBag U oF® Wl W awpree 9are # S a1
frwImTig ot e ToraT SfiR U waterd faur g+ & wmor fed &1 575 S 96y $1 U6 He® 3T 575 &t
A & Brafew auTe H oM frys a1 fhaef~ar 1t o got ff 1 Fert 57 fyst ok wursit ¥ srififa
Jt1 37 T IRAIAT 39 39 W TH SNU=RIF faR B AT §T HETH! BT e ATHa Tl 31 SR F
BT (1/32) BT U8 AN TSR :

& g5 & WRIHHI BT qof S §, g 39 aurer A wad ugd frar 31 399 i (e 3RIR) Y 9RT, |
T YRT B vaTfRd forar 3ir udd R Afeat & fore Iar Tian) 3= 3 39 fE F 9R R, st uda w) wgar
T U1 A 5% & g a91 99 o1 (3 A o 8 A1 &1 31 @) YTl g8 Tl o ave ora AR @t
3R 98 TETI I 3 T B YRER H b fore Faur fobar 3iv a1 & 3ifg R wer fpan1 5= A wranfaay
Y FTan 31 ARty T | SO b, ST MR STHT=1 B SA1gd a1 30 UIq §75 PIois A AT T/ A
T P 3 Bl VA PIE STA1, 5 U P Sl HIcl wrel & | g 4Rl IR AR USTI feu- i gI dR 55 9
TS T UTI §7 WIHUR 8, 39 3 F3H BT g0 f5a1 81 997 375 & UgRI B o |g Pl UT? T8 Gt
TE | ERI IR 1Y 3R Uid e o1 0 ot 39 575 A wo1e odt 3| 55 A 39! fie w991 @ wer fsan
TYTRON) T YT e & GHTaa 1 363 I5d1 82 7 F The-coe 81 | 79 o T Va8 a1l &) &
T & G g7 F SR A T8 I3T1 T A ol B URT B! oG b T@T UT| 3 T8} o7 I el g T8
61 UTI 55 A 921 &1 xifaagi= a1 ) Wt wer fear A Hw 0, g2 = ust 11 g2 &t arar T3 ugh of,

S T 3T TS B 1Y TSI 81| T BT Ha IR I STA-URT H TST U1, 57 F 1 Aot orevat, fagyma 7Y
Pl | 3 S P 99 W SR af oa 31t aF ST g3 UT1 34fE BT e AT AR v T H AF AA T,
I T I 5 B YRTSH BT Aep W7 AT

IuY e TR H UG -9 T T U P Sk garsel
TL: 35 1 30 991 9 frd SRR &1 aR1?

1. 3ffg

2. AR

3. IHRR
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4. CIdUIIRY

Correct Answer :-

21) YRGS HYT S TYfY B, T8 FET BT 3fS I 71 77 7 o &1v7 339 3= Y et R vl IR Uig
T@T g1, FeTieg Sut Ha | HeTHt &1 ot vaa- g6R 981 g3 g1 | H4G [ay-T1ieed &1 urdi=ad 74 §,
et T ST A 97 guR a¥ Ugd & Y@ A1 BEg A M WEl W deree A # Sl ar
frramig & A faar iR ve wEfer faur 817 & wwmor e §1 37 39 T $1 % A U1l 575 $i
ABR & B qure ¥ oFw s a1 fhagf~rar 7l o gat off | st 37 frel 3k wursil ¥ srififa
ft1 37 B IRGUT 39 MU H TP ST faiR Y A §U HEH! BT eTdr ATHA Tl g1 STER |
PG (1/32) PTUE S TSI -

"H 7% & WRTEHHI BT qUI BT §, Fore 39 aurerd) 3 ¥ ugd fvar 21 397 3ifg (e 3RIR) &1 4R, oia
P YRT ! yaried fobar 3R uda R Afeal & fore yvar @lar| 3= A 39 31fg & AR R, it udd wR 3gear
T TP 575 P g ao1 9mam 41| (3= A S € A &1 v @) YT g8 Tl @Y v o AR @t
3R 9 Ta11 I 37 Ta P TR B3 P [o¢ GIATH fopar i 991 @ 31 i) uer fFan1 = = arnfaar
ot 7T &1 faty fobar | 3w i, ST 3R 3MTHT=T &Y SFTga fhaT| 3% UYTq 575 BT B1s X7 T 8T1 5 A
g9 & 30 B VA PIe TTA1, ©Y U P SRl Sl wrel 8 | g7 Rl 0¥ AR usT| v w3 g dR g A
TS T UT1 37 WU 8, I 3 g3t 1 a0 f5ar 81 997 371 & UeRI &1 S g ThdT UT? 98 g3t
TE 9 BRI W 3T 3R Ufd e o1 WXt 394 575 & wots ot 3l | 555 3 39! iie w991 9§ wer fban)
QTR 3 HAT HIS & GHTaA | 8% THdl 82 9 & ghe-¢che ol T4 | 99 od BT a8 ANl I Wy
I P U 37 & SR A T8 ToT1 T 1 T B URT S TaRgeed! AP @1 AT | 3T I} et 3 A1 gon 98
BT 4TI §% A g9 3 Wiaasi= Arar uR Ui weR a1 A Sz A, g3 =i us1 411 93 &1 95a7 T ust o,

S T U 959 & WY UST 811 97 T Jd IRR S oI e-URT H TST 4T, Sl $H+1 T8t siaat, fagma =gt
Fdt | 5 o & o A gl ot wrat 31l o Tt g3 Ut ifE It T uT 1 S afor mal #t A A 7,
39 € I 5T P YRTSH B e I@T AT

SUY TR P UGHR A IR MY Y= D1 Ik garsy|
U= §5 7 U, 39T 3R SrewT=T ) R frane

1. 3G
2, 3{Tq

3. AHga
4, MATHR

Correct Answer :-

22) HRAAY ST B STHYH 8, I8 P11 311G =1 31 7T 7 o &01 $9 ¢ $1 4Rl R gl IR Ulq
T g1, FeTiiq St T0d & wert &1 Y Taes g6 98T g9t | Hidg fy-arftw o1 urian ai g,
Rt To $91 A $9 §9R a¥ Tgad g 9@t 9t B A 3® RIGI W awprd{ GAS § Her ar
s &Y A iraar 3k T yaferd faur g9 & ywmr fierd §1 §+ 99 WY &1 U6 Hea® Tl 55 &
AP €1 Hrafes aure ® oMw firy® ar fhaef~rar wet o gt off | wert 37 Ryt ok wursit A srififa
ft1 v Yt FRAAT 39 3y W U SN faaR Y WA §U HEr! BT oTa 9T I 21 sW e F
HG (1/32) DT UE SIS R :

"% g & IRIHHI BT I FHIaT §, e 39 aoramt A va ugd fhar 31 399 i (e 9RIR) $ ART, §a
& 4RT 1 yarfed frar oiv uda R Afeal & g wrvar @iem) 7% 3 39 oift #Y aR frran, <t uda o g
YTI P17 35 & 0T 991 99111 411 (37 A S €Y i) &1 3 @han,) Y9 g8 Tl @Y avg o e $t
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3R 98 99711 ST YA T B! YA B & 1€ AU a1 iR 991 § 31fg R ueR fFan1 55 2 urnfaal
& HTan 31 SRy fvar | I6A 3, ST 3R STHT=T BT SATgd [HaT| $0® UIq §75 PIbIs VI AT §5 1
I P 3T B VA PIE TTA1, 9 U P ST Il wrel & | I Rl IR R USTI Aeu- SR I dR 55 9
TS TAT AT 55 WHUTH! 8, S 3 WF3 &1 0 f5a1 81 39 5% & Rl &) 3 g FhdT 412 98 T
e W BRI W 1Y 3R Uid He o1 W ot 397 575 | wome ordt 3@t | 375 A 39! fie w991 9@ wer fsar
TYRN) ¥ YT HiE S GHaa 1 563 I5dl 82 7 F ¢he-cos 8 | 99 o T ¥aTe a1l &) &
g2 & R g7 & SR A 98 I3T1 T A o B URT S| SaReR Ab T@T UT| 3d 8} o I e g 98
BT 4TI 55 A 99 91 Mfaag = Ara1 W ot ueR fFan arda S &, 93 = ust 311 93 o arar T uSt A,
SR T 3 99 & T1Y TS 81| 9 BT Jd IRRK I STA-URT & UST YT, S FH1 781 oI, fagma =8t
Hal | 3 S P 99 | SR af oa 31t 9 T g AT | AT ITHT e 471 Y uftr I 1 AP A €,
I € A 5T P YRTSH B ep 3T AT

IULT TR H UgHR -8 T T U $T 3wk garsel
UR: HRAGY ST D1 HiA-1 Y 32

1. SFAY

2. SR i

3. HHYM

4. SR YW

Correct Answer :-

o SEYW

23) YRGS HUT B TYFY B, T8 HT- B M I 71 77 3 Forey &107 339 320 &t et R vgeh IR Uig
TET N, P St 9Hg @ FeTHt B1 i Tae SR 8T g1 BRI | FaE [Y-a1iee &1 urei—an 7= 2,
et T ST A 39 R 99 ugd g g@t B wHEe d FE Widl W awrdia Jars # wer A
s Ft Asiradn 3R v wEfer faen 8 & ywmor frerd 81 375 39 WY 61 Uh HeH® UTl 55 &1
AP &) Brafed gure ® 3w frys ar fhaef~rat 1t s gt off | Ferl 39 Ryl ok wursi A sFaififa
Ftl 37 Y IRAIUT 39 319 H U AU fAwR ) A §U HeH! BT el 9T Tl 21 SHER |
AT (1/32) BT UG TSI 6 :

" gvr % IRIPHI BT GO BT §, ors 39 a9URY A T9d Tgd fhar 81 39 3R (T 3RR) B AR, S|
$ YRT B varfed fhar 3R udd wR Af3ul & fore v @iani 3 3 99 3fR & R frm, st udd w gdr
T TET A 575 P (¢ a91 9141 Y11 (3= 7 S g A0 &7 3% @he,) YHTet g3 Tl @Y v o AR 3t
3R T TATI I 3 & B TWR HI & forg Wiwur= fhar oi 997 9 @ifg = wer fran 3= 3 arnfaay
ot 7T F1 farte foran | 3w i, SUT 3R ST T=T &Y 319 fohdT| 39 UYT 375 BT H1s X T e F5 A
99 & 37 &) VA FIe 11, 99 U5 F) s1feral w1t Wt §1 77 eRA W AR veT IeuA RS g dR g @
TS T UT1 375 TR 8, I8 3P WF3A BT A 5T €1 99 3% & WeRI &1 $H4 T a1 41 I8 i
TE A BRI T ETY ¥ Uig e o4 W) ot 39 57 @ oIS o Tt | 5+ 2 S9! i R 99 & wer faan
(AIYRU) 3 YT Wi S hTad § 363 APhdl 82 99 & ghe-¢hs 6! I | 7€ oId &I HaTe Al &1 Wi
T & 1T 77 F ST T 78 IoT1 TH A 7T B URT B TG A TWT UT| 3 L 5Tt S e giT 98
BT YUTI 35 3 39 9 WfGas = A1 W t ver fFan ara SR f, g3 = vs1 311 339 31 vmar 19 vt 6,

S T U 958 & WY UST 811 93 T Jd IRR I o e-URT H ST T, S FH+1 781 SIrat, fasma =gt
ol | 3 o & o A gope o) oret 3roft a9 Tt g Tl fR IuWt Taw Ut SR aftr il @t A A 7,
39 € I 5 P YRS B e @1 AT

S T B UgHR A TR T U= BT IR qargy|
UH: FIAG Y- &1 S 3y W S 82
1. Urli=ad

2. uTftiep
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3. (YA
4. AHHTAA

Correct Answer :-

24) HRGTY HUT B STAY 3, T8 FeT B1 o1 3 31 AT 7 R 401 59 I Y wvelt R vget AR uiE
T R, el 36 99T § HeHt &1 ot vaa gUR Tg1 §30 81| Hide [Ay-Aiiee T URI-aH 9 &,
R T S A T TR 99 Ugd 8 g N FAE ¥ 9T G W G Tae § Fenh ar
frearng 31 Aeihar 3iv Te waft Ry g9 & oo frad §1 57 99 999 31 U UgHa® U7 | §5 61
AB B Brafqd THTS H 3P fyF a1 fhaaf~ar 1t o got R Ferit 39 fys! ok Furei ¥ erifia
At 37 Y FRAAT A 3T A U SIS faaR Y WA §U HeTl BT erar 9THA vl 31 s |
H1AG (1/32) PT U SIS § -

& g5 & WRIHHI BT 9T Hear §, s 39 auur A wad ugd fhar 31 399 iR (e SRIR) # 9RT, S|
& YRT Y vaTfed fobar ofiv wdfa wR el & forg wrvan @ien | 3% 7 39 g B AR firan, ot udd w wgar
YTI P13 575 B I 91 99111 11 37 A 9 €Y it &1 3w @ian,) YU g 1l o ave o R #
3R T8 | IR YA T B YR HIA & forg Fiur forar 3w a9 @ 31t W veR fvan| o5 A wrafaal
@ wran 31 SRty fvar| SuA g, U1 3R STHT=1 BT JATgd a1 $6® UH1q §75 PI dis A AW THA
T P 31 B TH PIE STA1, WY U P Sl HIel wiral & | g &Rl IR FR USTI 7euH- #d gA IR 5= 9
TS T AT 357 WU 8, 3 M W3 &1 g f5ar 81 97 5% & TeRI &1 3l g FhdT U1? 98 T
e A ERI W 1Y 3R Uid e o1 R ot 39 575 & w18 odt 36| 57 A 39! fie w991 @ wer fban)
(ATYRU) S YT IS F HEA | 3T AP 82 TA B ThS-chS ol T | 79 9 BT WaT8 ANl &1 Wi
IR & R g7 & SR A 98 6T T3 A 5d B! URT S| SaRewil A 3@ 4TI 39 T8 5 I/ Jgal g1 98
BT 411 55 1 99 @ Wifdadi= Arar W W werR fsam| A SR <R, 33 = vt u11 g9 91 arar 93 udh o,
SR T 31U 99 & T1Y TS 811 93 BT Jd IRR 9 STd-URT & UST 4T, S $H1 781 o, fagm =gt
Fal | T S P 99 | SR af o 31ft TP TbT g3 AT 34fE STBT e U7 Yy T H AF A T,
3 € ST T P YRTISH BT AP QT AT

IUY T TR F UGHR 19 T MY U $1 S Jarsel
UR: T3 &1 Jd TR He1 UST gl Y12

1. SR o

2. S R

3. B W

4. SIAURT

Correct Answer :-

o STAYRTH

25) WRATY ST B FTAYH T, T8 Dol o1 3Hfe o 31 77 7 For &01 59 I &1 tRefl R Ugell IR uiq
T@T ENT, el Sut 90g § et o1 ot wae gHR 8T g9 811 | Fidg fay-aifee &1 uri=ad 7 8,
R T S A 3 7oK af TEd 8 g N FAE ¥ AT Rl W acpTe THe § S ar
freamiis 1 are i SR Ue waferd f3ur g & wwmor fed § 1 §75 S 96y 31 0% HeTES 3Tl §°5 3t
AP B Hrafed TS W 3P Ay a1 fhaef~<ar w) o gt 1 st 37 fryet 3k Fursi & sraififa
Jt1 37 Tt IR YA 3T A TH NI faaR B WU §U HETH! BT a1dl ATH- TWdl 81 SHED F
FIAT (1/32) BT UG USSR :
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" §5 & URTHHI DT U Bl g, [o-e 39 TIURT A T Ugd fhar g1 387 3ifg ([ATHD 3RYR) Bl R, 5Td
P YRT B! yaTied fpar o uda wR Afeal & fore wrear @ian| 3w 7 39 ¢if8 &Y AR fRman, it uda wr tgar
YT T A 5% P ¢ a97 991 911 (3% A 99 & A o7 37 @ia,) U1 g8 Il B 9 oe A Bt
3R 8 Ta1| 3T 37 T DI TER B3 F [og TATH fobar ok 99 & 3ife W) veR f5an1 3= 7 amnfaat
&\ 1 faRty foran | Swm I, ST SR ST BY ST AT S YT 5% BT BIS U AT TR A
9 & 3T F1 ¥ FIe ST, 9 U P SRl 1! ARt §1 g7 eRefl R AR veT A S $ g dR 3= @
TS TAT UTI T AT B, IHA 3RS FH BT 30 f5a1 81 9 375 & UgRI ot e Fpar U1? 8 IR
WRE W ERTI W BT 3R UTd Pe 91 WR i 394 5% 9 ds15 ol 381 | 55 A S9! die IR a9 ¥ WeR fan
(QATURON I HAT His S GHTIA | 8% BT 82 T4 & che-che 8l T | 9 oI BT I8 AN 1 &
T P U g9 $ SR A 98 35T T A o0 B YR P ARG AP 3@ UT| 3T 981 5d I A1 g3 I8
YT 4TI §5 3 93 91 Wiae = Aral R W UeR fwan 7 S R, 73 i 01 11 93 &1 95 T3 ust o,

O T U IO B 1Y TS 81 T BT g IR I - URT H UST YT, S FH1 61 Srevedt, farsma w7t
Fedt | 33 T & 99 T g A ot 319l a Tt g T R IWHT Ve U1 AR ufor Ml HY I aa g,
39 € IR o P YRTSH B e @1 AT

U TR H UgHR 1 IR T U= H1 @ qarsu|

TR: FAG B 3D RIA! IR debTeiT THTS § frwa dieirar & yaror e 82
1. ®1g-U1o

2. gifi T

3. femrardt

4, fregmms

Correct Answer :-

26) HRAAY HUT B TAY B, T8 Dol o1 1S 32 31 A7 7 R 407 $9 I 1 Rl R Ugelt IR uig
@1 T, Pt St 9 @ Sl &1 ol y=e gHR ggT g3 8N | Fiag fay-aifee &1 uriqan 3= g,
Rraat T $91 A 9 &9R a9 Uga g gt 9t B 9 3F® VI W awbred JAHS # e ar
fheams @ e tadr 3k T yferd faur 89 & AT fHerd 1 §5 9 99T &1 U HgHIa® UT| 55 3t
AP B Hrafed T § 3w fArys a1 fbaaf~ar wdl o gt ) werit 37 fryet ok Fureit & sraviftfa
Y1 3= F FREITUT U 3 H T Ui AR &1 WU BT HET BT oral AT @l 21 SHER T
PG (1/32) BT TS A TS1G § :

"8 g% b WRIHHI BT IO BT §, e S0 IR 3 a4 Ted fFar 81 399 3ifg (e 3RR) &) 9RT, 5d
3 YRT B vaTe forar 8iv uda wR Afeal & o v @ian! 3 93 99 ofR & ar ik, ot uda wR gar
YT | BT A g% & R o1 9 11 (37 A 9 €) Afeay &1 3 @i, YTt g8 Tl @Y ave o e $t
3R T TATI I Y I B AR B &b fore Fiwar foram i a1 & aif R wer fpan1 3= 3 wranfaat
@1 uran 31 ARy fbaT| SuA i, U1 3R STHT=1 BT SFA1gd a1 390 U4q $% PI DS AF AW THA
9 & 371 &I U BIe ST, oY Ug 91 Siferal S1é! Wl €1 9 4Rl ¥ AR usT feuA v g dR g |
S TAT UT| 375 AU §, 36 3P A3 &1 g7 fhar 81 99 375 & UBRI &Y g ThaT 412 98 T
TRE W ERTI | 1Y 3R U7d e o1 IR ot 3T 5% & wome ol & 35 4 39! fie IR 99 9 wer fsam
ETYTRON) AT YT 68 & GHTaa A 563 TSl 22 97 S The-gHe 81 T | 79 o 1 a8 || &1 &
I & I g7 & SR A 98 IS8T T A fd B URT F! FHaeRi Ab I@T 4T 3F T8} oA I el g a8
BT YT 5751 A 94 1 Wifaaag 14 w1a1 W) W weR foran | A SR R, 31 = uet 3t 7 31 ara 89 ust 4,
TR T 3O I5S & 1Y TS 81| T3 BT Hd IRR I STA-URT A UST YT, ) FHA1 a1 oiered, faoms =8t
Fedt | 6 g % o Sy A ot 1) T ST o UT1 fR SHBT & ATl R fdT TR B A A &,
I € I o B URTSH B e T T

Sudad TR $ UeHR A1 U ¢ U &1 IR Ja1s¢|
U: 39 99 1 HeTIS 5T Iadr &Y /=1 S1a1 412
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27) HRATY HYUT B STFAYF 8, T8 DT o1 311S 32 31 A7 7 R 4107 50 I &1 Rl W vgedt aR uig
T ER, HeTire SH THT A BTt &7 oft yaa g I8t gor gR1 | F1aG fay-wrfee &1 uri=aw 9= &,
Rrast o €91 @ $© 7ok ad ugd 8 gat @1 B # ofe wiel W acprda Jae & Ser ar
frramis 3 A ok te i Ay 2R & yamr fred 81 35 99 96y &1 U6 HeHE® Ul 55 &1
AP} B Brafew gur § oM Ay a1 fhagf~rar wdt o gt 1| werit 37 fryet sik wursht & srififa
ot 1 35 Bt IRyt 3T Y # U Shu=aTiie IR $1 99 8¢ Serl &1 2l O IEdl 21 e &
$G (1/32) BTUE T TSR :

8 37 P IRTHHI BT J0F Hral §, B 39 I9uUR I T ugd frar 81 397 31fg (e 3’R) &Y ARy, 51
F1 YR B Harfed fobar 3R uda uv Afeal & fore T @il 595 A 99 3R ®) AR fRmr, o udd @ g
UTI BT 5% & T 991 91T 11 (75 <Y OH ) Y <ATea 1 It @it,) YUTelt g5 T 1 aXg oidd - Bl
3R T TATI I 3T T B TER HIA S o1 = fvan v aor & oift W wer fhan1 3= 3 wranfaat
o 7 o1 farty fban | S i, ST SR ST T=T )Y 3Tgd fhaT| SH% UYT 5% BT B1s g T e = A
g9 & 3 31 VA PIe ST, 9 Ug F) STl 1t ot 81 9 Rl IR AR UsT IRuA #vd g dR = @
S IaT 4Tl 375 WA §, 381 3@ 3 &1 a0 fhar g | 99 575 & UeRI &) $ g GHdT 412 98 git
e A TR W BT ¥ UTd e oM W ¥t 3T 3575 ¥ 9118 oY &t | 3+ 3 S9! fio ¥ 991 § ueR faani
(@TYRI) T WO GI'S S THTaa § 563 HHdT 22 9 P Che-CHS 81 T | 96 e T WaTe a &1 &
I & U g7 & SR A T8 IS8T 7 A Fa i URT B STaRawi Ah I@N 4T 3F 961 o I a1 g a8
BT UTI §% A T3 91 faas = A1 W ot wer f5an | ara SR A, 33 2 uet 311 93 31 gmar o9 uSt A,

S T YA 998 P TI1Y U] 81 97 BT Yd IR I S -URT A ST T, 1 B T8 s, fsma 16t
St 5 o & 99 A gl ol ora 31 TF ST g UTl 3ifg ST Tare Ut S ity il @t A A &,
39 €1 U e B URTSH B 1P @7 AT

UL TR P UgH A1 T T U $1 IR qaIgu|

UL 55 B ARamAT 391 3y # fra Rr S aie gue?
1. 3=

2. TTHAB

3, AT

4, hYl

Correct Answer :-

28) WRGAAY HYT B ST=1YfH B, T8 FoT- BT MM 3 §1 7T 7 FOTH &707 59 3 &Y Rl W U@t IR uia
@I EN, Farfed Sut T F Fert o1 of wae gHR g1 g1 8N | Hag f3y-anfee &1 uri—ad T4 g,
et @1 $1 A 9 TR af ued 8 gt At FAT A 3he Wl W aenreie WA # el ar
frrars & dreiaar iR ve wEfe faur 817 & ywmr e §1 3 99 999 $1 U HeHES 911 55 St
Aex € Brafed aue ® M fy® ar fhaef~at wdt o got off | w37 fruw) ok wursit & srififa
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A1 3= B ARAMYT U= MU H T SHUIRS fawaR &1 G gU el &I elal 9H IEdl g1 SHEP H
FAG (1/32) BT UG S USHITE

& g5t P WRIHHI BT 90T ST §, g 39 a9 A T ugd fhar 31 399 MY (W 3RIR) B AR, S|
B YT ! varied fopar 3fiv wda W Afeal & forg v @ienm| 75 7 99 ife @t AR fikran, st wda oy wear
YT BT A 5% P ¢ a9 Fmar 411 &= A 59 8 AT &1 T Wie,) YUt g8 A @) v oid T 3t
3R T I I 3UH T B TR HI & forg Tiwur= fovar oiv 991 9 $ifg W= wer fhan 3= 3 arnfaay
&\ 1 farty fovan | 3w 3, w1 SfiR 3T B SFATgE AT SHS UYIq TR BT RIS AT Aw@I THA
T3 & 3T HI VN FIe ST, 9N U B Siferal St Wt §1 T el W AR US| IR e g AR 3= @
TS T UT| 375 WHUTHY 8, ITA 3P WF3H BT 304 fFa1 81 39 375 & TR B $ g JHdT 412 98 R
e A BRI W 1Y 37 Uig e o1 IR ¥ 39 575 & a7 o) 34| 55 A 39! tie w1 991 2 wer fan
(ATHURON T HAT HiS S GHTaA | 8% THal 82 I & che-che ol T4 | 99 e BT I8 ARI &1 &
I F U T3 & SR T 98 IoT1 TF A a8 B YRT F| TaRge! AP 3@ UT| 3T 981 5d I I gan 98
TBT YT 575 A 4 &1 Nifaag 1= J1ar W Y weR fovam | |rar SuR R, g1 i ust 411 g3 &1 A1 T ust o,

S T U 953 P WY TSI 811 97 BT G IRR I o a-URT A UST YT, Sl Fh+1 781 s, fasma =6t
FYd | 3 G F I A S o) ot 3 TP ST g Tl AfY IWHT T uT 1 S ufor I Y A o 7,
T € I 5 P URTISH P p @ AT

UG TR H UGB A G T I &1 I7R Fagel

TS 575 B Aop? € v wrarer & s Ry iR fbacfrat wét s
1. SR dfew

2. FiafeH

3. AU

4. Ifcw

Correct Answer :-

29) HRATY HUT B STAY B, T8 DT @1 3113 3 31 77 7 R 401 50 I &1 t_efl R vget aR uig
TET gN, Ferre 3ot Ha A By o1 oft vae gu Ugt gen g H1aE fay-wife &1 urhan a8,
Rraat T £ A 9 F9R a¥ Tea g 9@t 9t e 9 e RIE W awpreE GHS # e ar
frwamis ) disiudr 3k ue wEferd fawr 811 & vamor fred 81 §% 99 999 &1 U A S UTl §5 &t
APY B Frafed G § 3@ fHyF a1 fbagfar wdl o gat | werit 379 fryst ok sursit & sraififa
ft1 3% P IR 3T 31T H TP SN fATAR Y WS §U B! BT erdl ATHA 3@ 21 TR T
FAG (1/32) PTUE Y USHIT S :

8 37 ¥ TRIHH| BT I0 Hdl §, O 39 TR I T2 ugd frar 81 399 31fg (e 3RR) & ARy, 5d
P YRT B yaTied fHar 3R vda W Afeal & fore 3war @ian) 3= 7 39 fE & R R, st udd oz vgar
Y71 BT 55 & T 991 9911 11 (&7 3 9 €Y i &1 3 @i, YU g8 Tl @) avE oa e 3t
3R T | I 3T T B TR HIA b fore Tiwur= forar i a1 & aifg wr wer fhari 3% A wranfaat
&1 Tran &1 faRty fran) Iu= g, 3T 3R ST F) SFTgd fhaT| SUd U 3% PIHIS NI AW THA
g9 & 3 DI U] PIc ST, 9N U9 91 Siferal STt ol &1 g 2Rl R AR US| A #d g dR = @
TS QT ATI 35 WA §, S8 3@ W31 BT 0 P18 1 T 5% P UeRI &1 Hd TE APl 412 T8 qit
TE W BRI W 1Y 3R U9 Fe o1 R W 391 575 A To18 ol 31| 375 7 39! fie IR a9 | wer faan
(AR §F HAT HIS & GHTA A SeL DT 82 T3 b ThS-che 8 T | 79 T BT WaTg T & @
g2 & U g7 & SWR A 98 3311 7 A o d B URT B TeRa Ah 3@ AT | 3F 981 o I el gl 98
8T UTI 5% A 73 91 faag = A R Wt wgr f5an A S A, 77 1 uet un1 33 3t e TR uSh o,

S T 3T 998 P 91U U1 8| 9 BT 9d IR I o 0-URT H ST YT, S FH+11 T81 siraat, fasm =16t
Fedt | T o a0 F R A Tt S T ST g UT1 fY IWHT Ter T | S ufdr Y Y A AR F,
39 B 3T o B URTSM B 1B 3T AT

SUde TR $ UgHR A IR ¢ U3 &1 IR qarst|
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U=H: §5 A 99 & WfdasiA fow dadht v off ugr fear
1. AT IR
2. U

3R
4. YT TR

Correct Answer :-

o HIATWR

30) YRaaY HYT B YA 8, 98 FeT BT Sf A1 71 TS A RO &101 39 I HY eRA R Ugeh IR uig
@1 BN, e St 9g @ et o1 o waed gHR 98T o1 BRI | BaE [3Y-a1ie o1 urEiHan 9 g,
et T $1 A $9 59 99 Uga & 9@t Bt Hae A eMe RIG W deprdA THS d S 9
s #t Asiaan 3R U v faem 819 & vwmor e 81 375 S WY 61 Uh Hea® UTl 55 &1
AP 1 Brafed gure ® e frys ar fhaef~yat 1t s gt off | Ferl 39 frus! ok Fursit A sififa
<t 37 F IRAUT 3R 3T A U SIS fawR Y A §T HeTl BT eTdr 9T T dl 31 SHER &
PG (1/32) BT UE S USHITE

" v % IR BT GO BT, Fore 39 a9HRY A T9d Ted fhar 81 S99 1Y (e 3R[R) B AR, S|
F YRT ) warfed fbar 3R udd W Af3al & forg s @eni 55 9 39 fe & 9R R, st udd w gdr
AT BT A 575 & g oo avman 411 (375 3 S 8 il o1 IR Wie,) YUT g3 T @ v ord R 3t
3R T8 TATI I AU T B TR B P € FiHu fHar ok a1 9 @1fg R wer fhan 5= = nrnfaay
ot 7T &1 farty fovan | SuA g4, ST 3R ST T=T &Y 319 fordT| 39 UYT 375 BT &1 g T el §= A
99 & 37 B VA PIe ST, S U5 F) s1femf @1t st §1 93 Rl W AR vsT IeuF v g dR 3w R
TS T UT1 35 WHURA 8, 3T 3 g BT A fBar ¢ | 39 3 & WeR) &1 $4 T a1 41 I8 i
TE A TRI| TR BT 3% Uig e o Rt 39 575 9 oIS oY Tt | 575 2 S9! i R 99 & ver faean
QTYRN &6 YaT Hie & Goad 3 668 Il 22 7 F ¢he-chs 81 | 9 od &1 YaTe ail & W
g™ & R0 g7 & SR A T8 IS8T T3 A oI B URT B TaRGwi b I@T AT | 3T I oA I e g a8
TET UT1 5 A g1 | ifeag 191 /e 0% 4R weR foam | #rar Hux i, g1 i as1 911 g7 ) A1 T vt 4,

S T U 998 & 1Y TSI 811 93 T G IRR I oI d-URT H ST 4T, 5 FH1 781 s, fasma =18t
o | 5 o & o A gl ot orat Srofl ST g Tl ifR It T Ut S ity il @t A A
I € I T P URISHN BY A I AT

S T B UgHT A IR T U= BT IR gargy|
U BIAGPTo 1 (YS! 3R BT # Far sr=mififa 42
1. FHTSO[

2. BT
3. ardiga

4. 3fgrg

Correct Answer :-

Topic:- General English(L2GE)
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1) Read the passage carefully and answer the question given below:

This was around the time that Athens was only a small coastal village. Poseidon, was on a
lookout for coastal towns.

Poseidon, was the god of the sea, he was a very powerful god and quick to anger. When he
noticed that he small coastal village was still developing he offered to place it under his
protection. Listening to this offer the people were in a quandary. Because Athena, goddess of
wisdom and daughter of Zeus, had also made the same offer. The people of the village didn't
want to upset either of the two deities and wondered how they could get out of this fix. Luckily,
Athena understood the problem. She challenged Poseidon with a competition. Each god would
give the village a gift and the people had to decide which is more useful. The winner of this
competition would be the patron god. Poseidon accepted the challenge in no time. As he flung his
trident against the mountain near the village water started gushing. People were excited and ran
to the stream, but the water turned out to brackish. Now it was Athena’s chance she created an
olive tree. The people were excited, they could eat the fruit, crush it and make oil, make fire and
buildings from its wood. But now the villagers were scared to announce the winner. What if
Poseidon sent the sea to swallow their homes? But Poseidon did not lose his temper. He laughed
and agreed that his niece was the winner. And so Athena became the guardian of the village,
which then called Athens in her honour.

In this passage, get out of this fix means:
1. Come out of a cage

2. Come out of a bond

3. Come out of a fixed mind set

4, Come out of a difficult situation

Correct Answer :-

« Come out of a difficult situation

2) Read the passage carefully and answer the question given below:

This was around the time that Athens was only a small coastal village. Poseidon, was on a
lookout for coastal towns.

Poseidon, was the god of the sea, he was a very powerful god and quick to anger. When he
noticed that he small coastal village was still developing he offered to place it under his
protection. Listening to this offer the people were in a quandary. Because Athena, goddess of
wisdom and daughter of Zeus, had also made the same offer. The people of the village didn't
want to upset either of the two deities and wondered how they could get out of this fix. Luckily,
Athena understood the problem. She challenged Poseidon with a competition. Each god would
give the village a gift and the people had to decide which is more useful. The winner of this
competition would be the patron god. Poseidon accepted the challenge in no time. As he flung his
trident against the mountain near the village water started gushing. People were excited and ran
to the stream, but the water turned out to brackish. Now it was Athena’s chance she created an
olive tree. The people were excited, they could eat the fruit, crush it and make oil, make fire and
buildings from its wood. But now the villagers were scared to announce the winner. What if
Poseidon sent the sea to swallow their homes? But Poseidon did not lose his temper. He laughed
and agreed that his niece was the winner. And so Athena became the guardian of the village,
which then called Athens in her honour.
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In this passage, quandary means:

1. Happy

2. Confused
3. Angry

4, Sad

Correct Answer :-

« Confused

3) Read the passage carefully and answer the question given below:

This was around the time that Athens was only a small coastal village. Poseidon, was on a
lookout for coastal towns.

Poseidon, was the god of the sea, he was a very powerful god and quick to anger. When he
noticed that he small coastal village was still developing he offered to place it under his
protection. Listening to this offer the people were in a quandary. Because Athena, goddess of
wisdom and daughter of Zeus, had also made the same offer. The people of the village didn‘t
want to upset either of the two deities and wondered how they could get out of this fix. Luckily,
Athena understood the problem. She challenged Poseidon with a competition. Each god would
give the village a gift and the people had to decide which is more useful. The winner of this
competition would be the patron god. Poseidon accepted the challenge in no time. As he flung his
trident against the mountain near the village water started gushing. People were excited and ran
to the stream, but the water turned out to brackish. Now it was Athena’s chance she created an
olive tree. The people were excited, they could eat the fruit, crush it and make oil, make fire and
buildings from its wood. But now the villagers were scared to announce the winner. What if
Poseidon sent the sea to swallow their homes? But Poseidon did not lose his temper. He laughed
and agreed that his niece was the winner. And so Athena became the guardian of the village,
which then called Athens in her honour.

Why did Athena decide to challenge Poseidon?
1. She understood the dilemma of the villagers

2. She wanted to snatch the trident from Poseidon
3. She wanted to rule the village

4. She wanted to prove her strength

Correct Answer :-

« She understood the dilemma of the villagers

4) Read the passage carefully and answer the question given below:

This was around the time that Athens was only a small coastal village. Poseidon, was on a
lookout for coastal towns.
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Poseidon, was the god of the sea, he was a very powerful god and quick to anger. When he
noticed that he small coastal village was still developing he offered to place it under his
protection. Listening to this offer the people were in a quandary. Because Athena, goddess of
wisdom and daughter of Zeus, had also made the same offer. The people of the village didn't
want to upset either of the two deities and wondered how they could get out of this fix. Luckily,
Athena understood the problem. She challenged Poseidon with a competition. Each god would
give the village a gift and the people had to decide which is more useful. The winner of this
competition would be the patron god. Poseidon accepted the challenge in no time. As he flung his
trident against the mountain near the village water started gushing. People were excited and ran
to the stream, but the water turned out to brackish. Now it was Athena’s chance she created an
olive tree. The people were excited, they could eat the fruit, crush it and make oil, make fire and
buildings from its wood. But now the villagers were scared to announce the winner. What if
Poseidon sent the sea to swallow their homes? But Poseidon did not lose his temper. He laughed
and agreed that his niece was the winner. And so Athena became the guardian of the village,
which then called Athens in her honour.

In this passage, the phrase flung his trident against the mountain means:
1. Threw the Trident at the mountain

2. Stroked his trident against the mountain

3. Fixed the trident on the mountain

4, Knocked the mountain with the trident

Correct Answer :-

« Threw the Trident at the mountain

5) Read the poem carefully and answer the question given below:
The moon

Shadowed by greed,

Eclipsed by corruption,

The moon of honesty

Is now dull, almost hidden.

Waiting in the wings

Of clouds of false hopes,

The moon of honesty awaits her turn

Patiently, to shine once more.

Dark forces take the centre-stage

Hiding also the stars of curiosity and grace.
Fearfully enveloping all in a crazy, mad embrace,

Filling up like flood water, all empty space.
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At last! It's over.

Mankind snaps awake from this daze
Is guilty, soon makes amends

AND the moon shines again

In its rightful place...

Curiosity and grace have been comparedto
1. flood water

2. darkness

3. moon

4, stars

Corfeci: Ahsﬁér -

= stars

6) Read the poem carefully and answer the question given below:

The moon

Shadowed by greed,
Eclipsed by corruption,
The moon of honesty

Is now dull, almost hidden.

Waiting in the wings

Of clouds of false hopes,

The moon of honesty awaits her turn

Patiently, to shine once more.

Dark forces take the centre-stage

Hiding also the stars of curiosity and grace.
Fearfully enveloping all in a crazy, mad embrace,

Filling up like flood water, all empty space.

At last! It's over.
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Mankind snaps awake from this daze
Is guilty, soon makes amends
AND the moon shines again

In its rightful place...

“Shadowed"” in the first line means:
1. sadness

2. followed by

3. covered by

4, darkened with

Correct Answer :-

« covered by

7) Read the poem carefully and answer the question given below:

The moon

Shadowed by greed,
Eclipsed by corruption,
The moon of honesty

Is now dull, almost hidden.

Waiting in the wings

Of clouds of false hopes,

The moon of honesty awaits her turn

Patiently, to shine once more.

Dark forces take the centre-stage

Hiding also the stars of curiosity and grace.
Fearfully enveloping all in a crazy, mad embrace,

Filling up like flood water, all empty space.

At last! It's over.

Mankind snaps awake from this daze

Is guilty, soon makes amends
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AND the moon shines again

In its rightful place...

“The moon of honesty awaits her turn”... The figure of speech used is
1. Metaphor

2. Personification

3. Alliteration

4. Transferred epithet

Correct Answer :-

« Personification

8) Read the poem carefully and answer the question given below:

The moon

Shadowed by greed,
Eclipsed by corruption,
The moon of honesty

Is now dull, almost hidden.

Waiting in the wings

Of clouds of false hopes,

The moon of honesty awaits her turn

Patiently, to shine once more.

Dark forces take the centre-stage

Hiding also the stars of curiosity and grace.
Fearfully enveloping all in a crazy, mad embrace,

Filling up like flood water, all empty space.

At last! It's over.

Mankind snaps awake from this daze
Is guilty, soon makes amends

AND the moon shines again

In its rightful place...
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The moon is compared to .

1. attitudes in human beings
2. honesty in human beings
3. values in human beings

4. curiosity in human beings

Correct Answer :-
« attitudes in human beings

9) Read the sentence carefully and choose the option that has an error in it:

Last year our overall sales figures fell by 18%, all the same, the company suffered a major
setback.

1. Last year our overall sales figures fell by 18%,
2. the company suffered
3. all the same,

4. a major setback.

Correct Answer -

« all the same,

10) Fill in the blank with the correct option in the given sentence:
He was instrument-- in bringing the first ever indigenous ship to India.
1, --ed

2. -ally

3. --ation

4, --al

Correct Answer :-

e --al

11) Fill in the blank with the most appropriate preposition in the given sentence.
The mechanic is the car.

1. over
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2. by
3. under
4, below

Correct Answer :-

e under

12) Choose the correct option to fill in the blank in the given sentence:

Mr. Khan gave us a --test before the final examination to check our learning skills.
1. post--

2. anti--

3. counter--

4. pre--

Correct Answer :-

13) Fill in the blank with the correct option in the given sentence:

Large factories employ workers for night shifts.

1. routinely

2. routine

3. routiningly

4. rotation

Co;‘rect An;wer i=

« routinely

14) Choose the appropriate tenses to fill in the blanks in the given sentence:

When the Queen she she wanted to rest.

1. is finished eating, declared

2. has finished eating, is declaring
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3. has finished eaten, declared

4. had finished eating, declared

Correct Answer :-
« had finished eating, declared

15) Choose the right tag:

Yellow is your favourite colour, ?
l.isn'tit

2.isit

3. hasn't it

4, doesn't it

Correct Answer :-
s jsn't it

16) Choose the option that substitutes the given phrase appropriately.

A qualified accountant who inspects the accounting records
1. Auditor

2. Clerk

3. Statistician

4, Surveyor

Correct Answer :~
« Auditor

17) Change the given statement to indirect speech.
He said, "These are my pencils.”

1. He said that those are his pencils.

2. He said that these are his pencils.

3. He said that those were his pencils.

4. He said that these were his pencils.

Correct Answer :-
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« He said that those were his pencils.

18) Which of the following options best combines the given two sentences?

You will get good marks. You work hard.
1. Working hard, you will get good marks.
2. You work hard, you get good marks.

3. You will get good marks working hard.

4, You will get good marks if you work hard.

Correct Answer :-
* You will get good marks if you work hard.

19) Choose the appropriate antonym for the highlighted word in the given sentence.
Our soldiers are known for their bravery.

1. Snobbism

2. Humility

3. Cowardice

4. Gallantry

Correct Answer :-
« Cowardice

20) Choose the appropriate prepositions for the given sentence:

I was depressed when my higher authorities turned my project ____ scrutinizing it.
1. down, without

2. towards, by

3. into, before

4, around, after

Correct Answer :-

« down, without

21) Choose the appropriate conjunction for the given sentence:
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Those rulers who believed they were invincible
power hungry.

set out to conquer the world were clearly

1. and
2. as
3. but

4. because

Correct Answer :-

« and

22) Choose the appropriate option that rewrites the given sentence in its active voice.

Since childhood, he has been liked by everyone as he is very amiable.
1. Since childhood, everyone had liked him as he is very amiable.

2. Since childhood, everyone has been liked by him as he is very amiable.

3. Since childhood, everyone liked him as he is very amiable.

4, Since childhood, everyone has liked him as he is very amiable.

Correct Answer :-

+ Since childhood, everyone has liked him as he is very amiable.

23) Choose the appropriate synonym for the highlighted word in the given sentence.

Art schools sponsor trips to interesting parts of the world.

1. Donate
2. Encourage
3. Support

4, Educate

Correct Answer :-

+ Support

24) Choose appropriate articles for the given sentence:

My brother plans to live in hotel on outskirts of city.

1. The, a, the
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2. The, a, no article required
3. No article required, the, a

4, a, the, the

Correct Answer :-

+ 3, the, the

25) Choose the best option to complete the given sentence.

The two boys were fighting with ___ when mother told ______ to behave _____.
1. each other, them, themselves

2. me, you, myself

3. all, us, ourselves

4, us, them, himself

Correct Answer ;-

« cach other, them, themselves

26) Choose an appropriate modal for the given sentence:

Rajni need the money to pay the fees tomorrow.

1. should
2. will
3. can

4, could

Correct Answer :-
« will

27) Choose the most appropriate determiner in the given sentence.

There were chairs in the auditorium.

1. empty

2. colourful

3. wooden
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4. seventy

Correct Answer :-
= seventy

28) Choose the option that best explains the highlighted expression:
I could finish the report by Tuesday at a push.

1. something is possible if nothing goes wrong

2. something is possible but only with some difficulty

3. something is possible if someone pushes

4, something is possible if someone offers help

Correct Answer :-
+ something is possible but only with some difficulty

29) Choose the option that best explains the highlighted expression:
Parents who don't have control over their children have a lot to answer for.
1. are irresponsible

2. have a lot of answers

3. have to answer many questions

4. are responsible for a lot of bad things
Correct Answer :-

« are responsible for a lot of bad things

30) Choose the option that best transforms the sentence into its Indirect form:

The teacher said, "The sun rises in the east.”

1. The teacher said the sun rose in the east.

2. The teacher said the sun will rise in the east.

3. The teacher said that the sun will rises in the east.

4. The teacher said that the sun rises in the east.

Correct Answer :-

s The teacher said that the sun rises in the east.
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Topic:- Science (SCI)

1)
Find x. ¥ and z representing the number of moles of the reactants and products in the skeletal
equation given below: f
A T arw ureT A ST 7 fEeReT 3R scuel & AHEsuET Ay awar ar
gfaffdfica &y arer x. v 3R z# g &L
FeaO3; + xCO 2 yFe +zCOa

L.x=1, y=2&z=1
2.x=3,y=2 & z=3
3.x=2,y=3,& z=2
4.x=4, y=3 & z=4
Correct Answer :-

e X=3, y=28& z=3

2) What happens when a sound wave is propagated through a medium? /

afe eafv a7 v wrenw & v g, o Far gan 82

1. The particles of the medium move perpendicular to the direction of propagation of the wave./
A & HUT, TR b TR P [G=N & dead RIFRA ol ol

2. The particles of the medium remain in the state of rest./
HTeaH % T faymHIaw 7 gd ¢

3. The particles of the medium make to and fro motion about their mean position./

HISTH & HU1, 3! ATed FRUTT & THT 3eRIWR- Tfaia gid B

4, The particles of the medium are also propagated. /
e % SO TR B B

Correct Answer :-

« The particles of the medium make to and fro motion about their mean position./

HIETH & B, 30! ATed FRUTT & gHlu 3er3wR- nfazia g 31

3) What are the common fishes selected for pond culture systems? /

drerre Had= yunferal & fore gufera &1 1 arw= Aoferal Sia-31 82
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1. Sharks and rays /?«TH'C‘!:T 3R
2. Sardines and mackerals / FII%“I Gh'?ﬁ'a’)—{ﬁ
3. Mullets, bhetki and pearl spots / n}lﬁlﬁﬂ, dep! 3R Ud Wie

4. Catlas, rohu, mrigals, common carps and grass carps / cdil, ﬁ@, Hilel, dlHI GbILT @?R' Ul

g

Correct Answer :-

« Catlas, rohu, mrigals, common carps and grass carps / ccdll, ﬂﬁ, HITd, T F1Y 3R A

4) The phenomenon responsible for the twinkling of star is: /
IRI 31 feafeamse & e IwRerd ger &:

1. Dispersion and reflection / YRR 3R W

2. Reflection / TRTd

3. Atmospheric refraction fﬂTﬂ'ﬂE?ﬂ'q NG|

4. Dispersion / U8R

Correct Answer :-

« Atmospheric refraction / A-JHSHIT 3{gaa

5) Which one of the following diseases is almost eradicated from our country? /

Frafafea & 9 forg SRt &1 gaR 321 & T @ S foar T 2
1. Dengue /ST

2. Malaria / HSTRAT

3, Encephalitis / AfTSH TNY

4. Poliomyelitis / Qiferal

Correct Answer :-

. Poliomyelitis:’q-']'l%'lﬁf

6) The hotness of an object can be measured by its ./

foit v o1 THige B ITH FIRT HIYT 11 el 81
1. volume / AHTAdT
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2. Temperature / dTYHTT
3. Size / PR
4, Density / Ydcd

Correct Answer :-

o Temperature / dTUHTH

7) The frequency of oscillation of a pendulum is one hertz. What is the period of oscillation? /

Us Uga & o i Mg TP B § | Gla o rafes Fam g2
1.0.5s

2: 25

3.1s

4.0.1s

Correct Answer :-

8) A body of mass 10kg is moving along a horizontal plane with a uniform velocity 10m/s for 5
seconds. The acceleration produced in that body is: /

10 f5T g0 &1 U A1, 10 HicyAP< S U6 99 AT A 5 s & U U afa
Tdg & JHIR Tfaxiie g1 3H AP g1 Sarfed arurg:

1. 0.5 m/s?
2.2 m/s2
3. 0 m/s?
4.50 m/s2

Correct Answer :-

9) Complete the statement with the correct option given below:

Matter is anything that wd
W fow e faweul # 9 Ot e gies Fy= & ol &
uerd 98 ¢ il
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1. occupies space and has a definite mass. /

R BT & SR a1 U MEd weq e g1l 8|
2. occupies space but has no definite mass. /

R ORAT 3 <ifdh] 3BT D3 M SoTHH Tgi gidl o |
3. exists as a solid with a definite mass. /

U AR Go0m & 919 U 319 & ¥ H g eI gl

4, has a definite mass and a definite shape. /

T FEd o0 vd U A3 SR ST ek gl

Correct Answer :-

« occupies space and has a definite mass. /

R BRaT ¢ 31R ot e Ffdd gooam g g1

10) Select the appropriate metal to be used to change the colour of an aqueous solution of
CuSOy4 from blue to colourless along with a red brown solid getting deposited. /

cuso, ¥ T faaas, ForTd are R 17 & 19 541 §3iT & 39 g auT ey &1 ia
M [EH 99 & T yged 814 arelt Sugead UTg &1 a9 H1 |

1. Silver. faT?ﬁ
2. Gold. /G
3. Mercury. / URT

4, Zinc. / STl

Correct Answer :-

e Zinc. / Sl

11) Sharp edged metal pin will go easily into the wooden board because: /

S YR arelt UTg B U ST 9§ A Sl & 9IS | g S i

1. As area of contact reduces force increases / P faa DH g’]ef I9d dedl %I

2. As area of contact reduces force decreases / HU® &F HH 814 ¥ §d HH I ¢ |

3. As the area of contact reduces the pressure reduces / % &7 FH B I 6 HH Bl %I

4. As the area of contact reduces the pressure increases / HUd &9 BH B1H ¥ &1 9T 81

Correct Answer :-
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« As the area of contact reduces the pressure increases / Tudh T HH Ez;ﬁ R dedl %I

12) A screw gauge with zero correction gives the following reading when used to measure the
diameter of a wire. Pitch scale reading = 0 mm and head scale reading = 52 divisions. Given
that 1 mm on main scale corresponds to 100 divisions of the head scale. The diameter of wire
from the above data is: /

YA YR & 1Y TP TP Tl Uh IR & a1 B HIUA & (8 STaHT 8 a8 o1 W)
fFrafafaa SfEw a1 81 fra arme $f$w = o firdt oiv 8 amue $f$n =52 @31 e
nm%ﬁs%g@nmmﬁnﬁnﬁ,%gma?wo@iﬁasw%l SWRIT AT § TR
&1 ™ &:

1. 0.0052 cm / 0.0052 IHt
2.0.052 cm / 0.052 TwT
3.0.26 cm / 0.26 IHT

4.0.52 cm /0.52 It

Correct Answer :-

« 0.052 cm/0.052 THI

13) A dull green colour coating formed when a copper vessel is exposed to moist air for long.
The green material is a mixture of: /

STd U d1d 1 UTH dd GHY d& AT GTaravor § IgdT 8, df 39 UR U g¥ T &1 IRd 5
WTe 8 1 T8 8% uerd {1 el &1 U v 3:

1. Cu(OH), and CuO / Cu(OH), T CuO
2. Cu(OH), and CuCO3 / Cu(OH), Td CuCO;
3. Cu(OH), and Cu,0 / Cu(OH), Td Cu,0

4, CuO and CuCO4 / CuO T CuCO4

Correct Answer :-

« Cu(OH), and CuCO; / Cu(OH), Td CuCO;

14) Choose the incorrect property about colloids. /

DIAES & SR Turenf &1 999 He |

1. Colloidal particles do not settle down when left undisturbed i.e. colloidal sols are quite stable /

PIAESH P HU 9 P 8] 9Hd 8, 5Td I b I Uid el B1S a1 S 8,
PSS AT BB RREA 8
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2. Colloidal particles are not visible to the naked eye. /
HIASSH BT T 3l o s Tei 3 B

3. The size of colloidal particles lies in the range 10”7 =10 cm /
BIAZSH HUN BT SATHR 107 ~10- JHT. BT HHTH B |

4. A colloidal solution is homogeneous in nature /

TS BIAISSd [Aad- Ui § Iodig giar g

Correct Answer :-

+ A colloidal solution is homogeneous in nature /

TF AR sd [daad Ui & gordia grar g

15) Identify an isotope used as a tracer to detect the blood clot in human body /

Ha IR A T S YT ST U1 O $ 0 T 3R & ©0 d Tga 81 910 U
IS T ugar He |

1. Uranium — 235 / G-TH - 235
2. Todine -131 / TSI — 131
3. Sodium — 24 / 9ifeTT - 24

4, Cobalt — 60 / BIEIE — 60

Correct Answer :-

« Sodium — 24 / QifSTH — 24

16) The product formed when iron reacts with steam is /

wie 3T aroy fHTEhaT & 99 91er I &:
1. FeO
2. FeH

3. Fe;05
4. FE304

Correct Answer :-

. FE304
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The role of decomposers in the ecosystem is /
uIRfRUfAPT @ § erquees! Bt Yo gid 8
1. They do not act on organic compounds. / d STel-b eI TR BRI gl Hdl |

2. To convert inorganic materials into simple forms. / PTHH TeTdf I TRa w0i § gRafdd
DRATI

3. To convert organic materials into inorganic forms. / PEH UGTdl bl SBTED =l A
PN

4. To convert inorganic materials into organic compounds. / Spree uerdf & e e
gRafda H|

Correct Answer :-

« To convert organic materials into inorganic forms. / FIEHD Tad DI fepTel e =ui o
DA

18) The lightning arrester helps: /

dfsa@rgef-m Aud 9 & 7eg Hrar8:

1. To store the electric charges at the time of lightning /
dafsd & g0 faggd 3mawl &) YUsld H 1|

2. Dissipate the electric charges in to the atmosphere /
fagga sl &l agHed d Bleq 11

3. Avoid the production charges on the clouds /
FGal H 1A= &b I A T H |

4. To transfer the clectric charges to the ground /

faggd Smat &1 YiH & RMaid &< J|

Correct Answer :-
« To transfer the electric charges to the ground /
fagga 3o & YW 4 RFARG $= 4]

19) How much electrical energy in kilowatt hours is consumed in operating ten Swatt bulbs
for 10 hours per day in a month of 30 days? /

30 fo & vep wE A ufa fa 10 62 & 1w 5 91 & g0 oal & w4RT A fFeftare e &
fpa-it fagga o #t @ua gt 82

1. 15 kWh
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2. 150 kwh
3. 15000 kWh
4, 1500 kWh

Correct Answer :-

* 15 kWh

20) Calculate the formula unit mass of MgS04.7H,0
[Atomic masses: Mg=24u,S=32u,0O=16u, H=1u]/
MgSO0,.7H,0 & I SHTS GaHT= P 0T B3
[URHATY] SHHTT: Mg =24 u,S=32u,0=16u, H=1 u]
1.286u

2.232u

3.246u

4.198u

Correct Answer :-

« 2461

21) A bullet just sticks on a fixed wooden board when it is fired from a gun. The Kinetic
energy of the bullet is mainly converted in to /

dg@ I Ml gAl 9F W UH Fuia aost & 91 W Ml g9 A1t 8 1 et o1 afast
it 381 ¥4 T gHH yRafdd g ot 8:

1. Only Heat energy/aﬁqm ST Sl
2. Kinetic energy for the wooden board /@ﬁ%@é%mm Foli

3. Only Sound energy/abdﬂ g Sl

4, Sound and heat energy both / i 3{R ™1 FHoif gH

Correct Answer :-

« Sound and heat energy both / &af 3R ST Feil Gl

22) Ina sunny day, when the atmospheric temperature is 37°C, the temperature inside a car,
which is parked on an open ground is: /
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& YU ard 3 ¥, 59 argrseg araar 37° AfRTaT g1dT 8, df U R & 3iaR BT
ATqHH, S Gd A | @l g, e ghm:

1. Greater than or equal to 37°C / 37°C & SRR T IS
2. Bqual t037°C / 379C & SRTSR

3. Always greater than 37°C /37°C T 3ifip

4. Less than 370C / 370C 9 &H

Correct Answer :-

« Always greater than 37°C /37°C T 3ffew

23) In a filament bulb the electrical energy is converted into: /
Tw fhamic g (dg 909) o fAggd 3ot &t 3uw uRkafda farar smar 8:
1. Chemical energy / IS Sl

2. Only heat energy / Had ST Holl

3. Only light energy / HIT UPT Sl
4, Light and heat energy both / UhTRI 3R S Holl gl

Correct Answer :-

« Light and heat energy both / UhIR] 3R ST SHull g

24) What is the valency of Carbon in Methane? /
HAT # e 1 alerepdl fea- 82

1. Valency of C = 2 / C &1 Tlorabdl = 2

2. Valency of C = 1/ C 1 GIoidhdl = 1

3. Valency of C = 4/ C &1 GaISTdhdl = 4

4. Valency of C = 3 / C &1 HaISThdT = 3

Correct Answer :-

« Valency of C = 4/ C & GOl = 4

25) Which among the following is a mixed anhydride? /

fFrafafee & 3 v te ffa Tesess @2
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1. CO,
2.N,O5
3.80,
4.NO,

Correct Answer :-

« NO,

26) Which of the following is not a control measure for the storage of grains? /

fFrafafea & 9 w1 3™ YR & fore A= Surg At 22
1. Chemical method / It fafer
2. Fumigation / ?f'ﬁ

3. Plant products like mineral oils / G A S UTeY TG
4. Cultural method / F@ﬁlﬁﬁ fafar

Correct Answer :-

« Cultural method / ﬂ'@ﬁﬁ; fafa

27) Which of the following is a biotic component? /

Frufefaa # @ Si-a1 e Sfds ges 82

1. Air/dIg
2. Water / Sld]

3. Soil / fHEt
4. Living things / Siifdd a¥q¢

Correct Answer :-

« Living things / STifad a%¢

28) Which of the following is a chemical effect of clectric current: /
o & & Far fagya wag &1 vurafae uHE §:

1. Producing a magnet using electric current /

faqgd vaTe &1 IUANT b Th Jab S Bl
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2. Producing heat in an electric kettle /

U Salfaed dbact H ST STd HAT

3. Producing light using electric bulb /

fasTelt & eg BT ITANT B U IAT HRA]
4. Production of Hy and O by passing current through water /

U ¥ YRT YaTed B Hy 3R O, BT JdTed BT

Correct Answer :-

« Production of H; and O, by passing current through water /

U ¥ URT YaTRd BB Hy 3R 0, BT IdTeH BT

29) Name the property of the components used for separating salt and camphor. /

TS 3R HYR BT 3T B & g TANT 653 & a1at geai & qured garsd |
1. Using separating funnel quﬁaﬂumqa‘m

2. Magnetic separation fﬁﬁ'ﬂfﬂu TYFhUT

3. Sedimentation / 3{ddIGT

4. Sublimation / &I

Correct Answer :-

« Sublimation / 30T

30) Discoveries, inventions, laws, theories are all related to the sl

@, sfase, fFraw, Rigia aft ¥ "afia g
1. ease in daily living / ef e Sfigd & st
2. study of science / T &1 S1ergH

3. luxuries of life / S1d & BSRCRSICE]
4, satisfying human curiosity / A ST &1 E_Q,'E' D[

Correct Answer :-

. study of science / o &1 i

Page- 56



Not only formative but also summative assessment can be conducted through: /

9 $ad FAuTHS, 9fce aRTTHS e WY g & Areaw | Senferd
g oI gHar &

1. Homework / ﬂ_ﬁz'av—lﬁ

2. Question and answer sessions / U 3R IR T

3. Projects / BRI EIRT)

4. Self-evaluation of teachers / fRI&e! &I J-Hih
S —————m

. Projects / RIS

32) The drawback of Case Study method is that it does not lead to a: / H9-

welfafrdrauefras__ uqM@ T8l el 5l
i. Generalization / FTHTITEHROT

2. Conclusion / fsmY

3. Categorization / G ITGBRUT

4, Assimilation / STHITIHIU

Correct Answer :-

. Generalization / ITHAIHRU]

33) Which of the following is not a feature of Continuous and Comprehensive

Evaluation (CCE)? / Frafef@a # & i Ot wad vd anue qeuied (d4s)
ot faRuar T8 82

1. It helps the teacher to learn about the existing concepts of students. / g B B

AIolaT SfauURuN3f & IR § S § e &1 Tgrdl Bl g

2. It involves more frequent tests and examinations. / STH TR TRI&0T 3R
Uiy afferd gt 8

3. It involves repeated assessment of the same parameter. / S U® ol HHGUS &l

dR-9R 3fihe FRTferd gidi &
4.1t is a school-based evaluation. / I8 Teh [deITeTd-SHTETRA Heih gl

Correct Answer :-
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- It involves more frequent tests and examinations. /Wﬁ TR TRI&0T 37
TRI&MY Ffferd g B

34) Which of the following is not a scientific question? / FHfIRea o' A I

TS A1 99 8 22

1. What is the density of water? / UMt BT 97cd fdaT %?

2. Why can we not see in the dark? / H 3R H i ﬂ’eﬁa@m %?
3. What is meant by a secular republic? / ﬂﬁﬁ?ﬁ&f TM0Ta 1 T 312 %?

4. Why is the colour of sky blue? / 3{ThTRT BT T e ot %?

Correct Answer :-

« What is meant by a secular republic? / 'Eﬂ:fﬁ_{a&f TMUTdS 1 T 31e %?

35) A formal event where multiple experts deliver their speeches is known

as . / U NS U1 Sigl s [0y 304 HIuorad s,
9 ¥ S St 2

1. Laboratory / UGRTRITET
2. Symposium / TSI

3. Exposition / Elﬂ'-‘?f:ﬁ

4. Workshop / BRI

Correct Answer :-

« Symposium / ¥|11’|13°r

36) What is the name of the satellite that was placed in the geostationary
orbit specifically for increasing television-based education in India? / 3 3UUg PT AH

0 8, R wRa ® eftfas-smurfve Rren ot 9gm ¥ fe oy wu ¥ yRfas wan
T 39T 4T 412

1. ERS2
2. EDUSAT
3. TechEdSat

4. ATS-6

Page- 58



Correct Answer :-

- EDUSAT

37) What is meant by intervarietal hybridisation? /
SaRfafaer Fawor &1 w7 3 gian 82

1. Crossing between different varieties of plants. /

aefi 3 At TR & sfte HepvaT (hIRi)

2. Crossing between different genera. /
et TSt & sffe Tehwa (shITRiT)

3. Crossing between genetically dissimilar plants. /
SR <y ) P el i fter et @i

4. Crossing between two different species of the same genus. /

Teh &1 91 b &l {3l UrSiTieral o i Hepll (I

Correct Answer :-

« Crossing between different varieties of plants. /

qrelf & fAfts UepR & e dapvdn (hIRi)

38) Assessment standards are required to provide effective science education for all. To
assess teaching of science by science teachers in a classroom, which of the following

is NOT applicable? / T & for@ THTdY fasm= e ueM +31 & fore siive=
HH®] B ATITHdT gl ¢ | B&T A fag= Riare! gr1 fagm= & Ruaor o1
e $ & forg, Fafafae % S o a1 Suge 78 82

1. Parents’ view of the teacher. / TRT&/% & Hra1-fuar W“‘E’f@ﬁuﬂ

2. Performance report of the students in the subject. ) fovg ¥ B &l Elaﬁi:l
RO |

3.Students’ feedback on the teacher. / TR1&/% TR ST &1 Ufafsar|

4. Other school’s opinion of the science teacher. / 3= fagreral ot fogm e &
IR A

Correct Answer :-

« Other school’s opinion of the science teacher. / 3 fa=nerdl ot fage fRree &
IR A
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39) The factor that does not influence the formation of winds is: /

arg fAator &Y wurfaa 7 = ara FR® = 8
1. Presence of mountain ranges / BEE SICK| Pt IR
2. Presence of seas and oceans / ﬂ@ \3?"\" 'Flgmmﬁ &I Ul

3. Uneven heating of the atmosphere in different regions of the earth / ‘3‘{@35 fafts &= g
dIdTdRur bl SHYHIA dTd-

4. Rotation of the earth / WW{Uﬁ

Correct Answer :~

« Presence of seas and oceans / ﬂﬂ?ﬁ 3R AR} & IufRAfy

40) When a force of 1000N is applied on a particular surface the pressure acting on that
surface is found to be 10 Pa, then the area of the surface over which the force is applied
is /

Wq Pt ARy T8 UR 1000 =1 FT a6 WA ST § df 36 Ude UR - aTel ga1d 10 Pa Ul
WA 8, O 99 SIWANT Tag T SA%d fha 8:

1.0.001 m?
2. 1000 m?
3. 100 m?
4, 10 m?

Correct Answer :-
. 100 m?

41) Four objects P, Q, R and S have the speeds 10m/s, 36km/h, 18km/h and 30m/s
respectively. Which of the two objects have the same speed? /

AR TE3HT P, Q, R UG S FI Ty HH: 10 /W, 36 fpaft/wer, 18fpwi/ger v 30tf/d 31 P &t
axgaii B e THE 82

1.RandS/RUGS

2.Pand R/PTIR
3.Pand Q/PTEQ
4.QandS/QUIS

Correct Answer :-
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« PandQ/PUIQ

42) How many times the bob of the oscillating pendulum crosses the mean position in 20
oscillations?/

I Ugaw It 979 fPat aR 20 Sra=T & Areg fRUfq & IR F=edt 82
1. 10
2.20
3.40

4. 60

Correct Answer :-

.« 40

43) A ball is dropped from a height of 100m. Find the time taken by it to reach the
ground. (g = 10m/s?)/

TS 12 100 W F F=ng | R o1l 81 7S o) 4fY 7 ug= A fa=m Twy @1 (g = 10m/s2)
i 2455

5425
2,

3. 20s

4, 25s

Correct Answer :-

44) Amount of energy transferred from one trophic level to the next is /
TH TP TR A TS NS TR W RN SHoll dt AT g 8]
1. 5%

2. 20%
3. 15%

4. 10%

Correct Answer :-

« 10%
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45) The acid present in Rancid butter /
frgpe Tie wroreT A ST 3 BT 8

1. Butyric acid ra‘{[ﬁfm SR

2. Acetic acid / Qﬁlﬁa; 3]

3. Lactic acid / Qfdee 37

4, Formic acid / BIH® 3

Correct Answer :-

« Butyric acid / 5‘1@'&3 SR

46) In an electric motor, the energy transformation is from: /

e figaa Hiex &, St ufkada et g &

1. Magnetic energy into electrical energy / ﬂ_ﬁl?ﬂ'q ol b1 ﬁ?\(ﬂﬁ Sl |
2. Mechanical energy into electrical energy / WWWWWﬁ
3. Electrical energy into magnetic energy / fdggd Sl Bl ECEIR ol 7

4. Electrical energy into mechanical energy / ﬁa‘gﬂ Full &1 g Feil |

Correct Answer :-

« Electrical energy into mechanical energy / fagda Sl &1 AiA® SHoll o

47) CANCELLED

Thick layer of fat called blubber is found in: /

SR AT a1 Bt At URd 99 Uril wireit &
1. Whalef%ﬂ
2. Polar bear / g,a“ltr&nq

3. Camel / e

4. Shark / &

Correct Answer :-

« Whale/®d

48) Which one of the features mentioned below about decomposers is not applicable to
decomposers? /
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ITgeH AT Wi gd § o d 7t &1 91w Hed B
1. They transfer energy to the next trophic level in the food chain. /

d T 4T H 3Te Nided TR IR SHoll FARd $d g

2. They are also called as saprophytes or reducers /

38 gavild! a1 TYHRS N Hgl Al g |

3. Decomposers are also scavengers and they clean the earth. /
3TEee TS H 8ld & 3R 3 gt &l T a 81

4. They help in recycling nutrients. /

3 19 G0l H HeE aRd o

Correct Answer :-
« They transfer energy to the next trophic level in the food chain. /

q T YT H 3T NPl TR TR FHoll MR Hd 6

49) Which of the following is not a child-centred classroom? / FFafRif@aT & 4 PI-

aTa-Fisd H&T T8 82

1. Teachers promote collaboration in learning / fRrerem MO o Teai &I CEEH
CGE

2. The teacher is a facilitator instead of an instructor / TRT&/@ Uh ufRrers & IO
U YH-99F g |

3. The teacher decides content, instruction method and assessments / [BIAED Hl'l:l";ﬂ,

< fAfdr 3R seper o1 iy srar gl

4. The students have a choice to pick assignments and decide assessment criteria /

BEI & UG SIS T 3R Jedich HHGS d o3 &1 f[dhed |

Correct Answer :-

« The teacher decides content, instruction method and assessments / e ﬂm‘/ﬂ,

A A 37 sirere o1 Aol wear 2|

50) Which of the following wastes is not bio degradable? /
frafaf@a 3 @ $19-m sufkre Sa g o1 99 sawmfia T8 82

1. Vegetable peel / gieordl & fad
2. Milk sachets / G4 & Udhe
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3. Cow dung / T &T &R

4. News paper [/ A&dR

Correct Answer :-

« Milk sachets / T4 % Ude

51) Which of the following learning approach is considered to be a derivative of the

Ausubelian approach? / ffafafaad @ S 4T AfRTH Ef@ﬂ’ﬁw, aﬁ'\gﬁﬁﬂq
TP I0T BT Sgeas AT SITel 82

1. Experiential learning / {JHdIH®D 3T

2. Collaborative learning approach / JANTHD S 2P hIul
3. Analogy strategy / HI€RY RUETI]

4. Concept mapping / RIGT=d AT

Correct Answer :-

. Concept mapping / B ICIEEL

52) Which of the following can help the students to learn science through kinesthetic

movemenﬁ?/ﬁﬁ@ﬁﬁﬁﬁﬁﬂﬁﬂﬁmmﬁ%mﬁmw
H e PR APpar 8?

1. Written test / ToTRad oRyef
2. Debate / dTG-fddTc

3. Drama / ICh

4. Quiz / SETIRd

Correct Answer :-
« Drama /-lch

53) If an object is kept in between the principal focus and the centre of curvature of a
concave mirror, then the nature of the image will be: /

gfe foelt avg & o1 Bied 3R faaa Ul & Ihal & $x A IWT o1aT §, ° Bfd &1 ypfa grft:
1. Real, enlarged and inverted /_q'ﬂ?lﬁfﬁ, a{f‘uaffﬁﬁqaao—cﬁ
2. virtual, diminished and erect / Gﬂ'ﬁ-ﬂ?ﬂ, W@?ﬁ‘éﬁ

3. Real, diminished and inverted / dl%dlrad'), %i@i;ld g I
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4. Real, diminished and erect/ arafde, Tpfad Td Hiet

Correct Answer :-

« Real, enlarged and inverted / aRdde, 3if¥afdfa ud Ieci

54) People of different age groups need different amount of sleep. Who among the
following needs more sleep? /

faftrsr 3mg @t & @ Bt Srar-renT AT # Hig B snazasar gidt 81 Fufata & 3§ f6 Hig o
Had 31t T gidl 82

1. Child / Sl
2, Infant / R

3. Man /=Y
4, Woman/tn%?ﬂ

Correct Answer :-

« Infant /fﬁﬁl

55) The force of 100N is acting normally on a surface of 2.5 m2. The pressure acting on
that surface is: /

2.5 m2 B T Ydg IR JH=d: 100 N BT §¢1 ST STTdT 8 | Hag IR 97 91ell ga1d g:
1. 400 N/m?
2.40 N/m?

3.4 N/m?
4. 250 N/m?

Correct Answer :-

56) A teacher is trying to nurture an aesthetic sense in his students, he should

encourage them to: / TP fRI&® 3T BT H HigdaIe &7 U0 HRA P
PRI R BT €, I S8 HicATed 1 A1fey f&:

1. Investigate ideas / ECEINEISIEES
2. Development of models of inquiry / ST & gfau™ Gzl:r?:ﬂ) CARCEARGECTY

3. Observe phenomenon keenly / ¥CHl D13 o hdl |
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4. Frame questions / d U GOR Bx |

Correct Answer :-

+ Observe phenomenon keenly / YcHI DI P dl |

57) Which of the following would not promote active discussion? / Frafafaa o

| DI Afshy T4t I SgraT g1 I
1. Selecting topics from upcoming tests. / S{TTHI URI&T & fawl o1 98+ &A1

2. Summarizing ideas with the help of learners at the end of a discussion. / Tdl &
3id # ety ot Fgraar A faeRl o IRIRd ST

3. Acknowledging learners for responses. / Ufdfshar & ferg Rrenfial o ©ier
DT

4. Encouraging questions as well as responses to each other’s questions. / qaral &l

TieTTed BT T 1Y 61 Teh-g e P Ul b1 Siarel ol
Correct Answe.r.:- . |

. Selecting topics from upcoming tests. / ST wRieon 9 fawdt &1 o= S|

58) Which of the following statements is false with respect to scientific theories? /

duTe figial & Tay & HafRad o & S a1 $Y= 94 82

1. A theory must be tested with rigour. / Uh RIgid &1 E&dl &b Ty U1efur fobar SIrn
T

2. Theories must follow observations. / FIGIdl &I U&UT BT UTA- B ANQC|

3. Theories may be expressed as an equation. / I@alalﬁwwm FEOH
oo fopa off T g |

4. Predictions of theories must be reproducible. / RrgT=di ! HiosaTforT sra=g
¥ Y =G It 8T

Correct Answer :-

« Theories must follow observations. / I%@Ia[ Pl ff&l'Uﬁ RIS W;ITEIT%'EI

59) A scientific theory cannot be expected to: / Th asnﬁm Rrgia & sruem =gl
P oI TPl b -
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1. Predict all outcomes / G RO &1 Wﬁ |
2. Resist falsification / SIHIH U] B Ry B

3. Receive questioning / Tl &I U B

4. Change with time / 99 & Y §edl|

Correct Answer :-

. Predict all outcomes / T+ GRUMAT &1 gaiqqH |

60) Overuse of chemical fertilisers in agriculture makes the soli acidic and the land infertile.
What substance is generally added to the soil to neutralize this effect? /

P A ITaE IRFT & Sifer W | i ereita gt & Ut yfy sueTSs B\l 81
33 WHTT B SR H & e arraa: fora verd &1 firdh & fremar smar @2

1. NaOH
2. Mg(OH),
3. NayCO;4

4, CaO

Correct Answer :-

« CaO
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{ porsciond PROFESSIONAL EXAMINATION BOARD
Bbgmnotion Middle School Teacher Eligibility Test - 2018
20th Feb 2019 09:30AM

Topic:- Child Development & Pedagogy (CDP)

1) The hyperkinetic disorder is characterized by all of the following, except: / 'ET{‘CIWIF:-\'E'G* R & fdioan Prafaf@a 79 5‘@ Eﬁw o it ?:
1. Distractibility / ﬁ";@ﬂﬁaﬁ‘lﬁ

2. Hyperactivity / sfrafaraa

3. Hallucinations / FfdWH

4. Impulsivity / FFIeIIEE

Correct Answer ;-

« Hallucinations / FRILH

2) Teachers must constantly deal with changing standards and in teaching profession. / R a1 ; fQT&I'UT HdHTT

AAMAR IGEA AASI SR % 91y S ST 911l
1. syllabus / WTéa-fdaor

2. Curriculum;’qﬁt_ﬁqu

3. Assessment / HIHE

4, Exam system / TI&T SOTTGH

Correct Answer :-

« Curriculum }Wﬂqf

3) Piaget believed that language develops in a child as a result of: / frarst &1 ArAT 4T o @< # Hrar et ﬁﬁﬂ'ﬂ, = & uiomaesy BYar %:
1. Cognitive development / ST famrg

2. Egocentric development / 3P od [IHT

3. Behavioural development | TG RIHS A

4. Environmental development /ﬂ'ﬂfﬂ?ﬂﬁq I

Correct Answer :-

+ Cognitive development / 3T fdaTd

4) Mary is very outgoing. She is an exceptional Bharatanatyam dancer but does not score well in her academics. Which of the teaching method will
ive more productive results for Mary? / 18 agd it 81 98 t& srmmumur «Ra-Teaw Tdet @ Af ag Rian & datusro 3@ 7Y urdt
§) 58 % fora we o Prgror R afirs somig e

1, Excursions /YHU IT 3(THE

2. Brainstorming methods / [CEINGEGIES

3. Grade acceleration / g ?{@

4. Individualized instructions / dEfdTen FRI&0T

Correct Answer :-

. Excursions /YHUT T 3HIG

5) Th%- occurrence of is an indication of stagnation in the learning process. / aﬁm, aiftrre ﬁﬂ'm’ﬁ'mmw
i 1

1. Motivation / AR
2. Plateau / FRRI® (w12
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3. Progression / LS HiG
4. Curve /5 (Td)

Correct Answer :-

« Plateau / mﬂ'ﬁﬁ (@E‘D
6) What is the main objective of teaching in inclusive classrooms? | THTaRT wemalt § uge w1 H’@'Gﬁ'&ﬂ' e
1. Preparing students for job/ B! BT AN B Y AR AT
2. Preparing students to pass the examination / BHEI B Te I & & ﬁTQ' AR B
3. Developing thinking power of students / @1 &1 Rid= ifdat @1 faera &
4. Providing notes to students / BT ] A1¢d HETH BA1

Correct Answer :-

+ Developing thinking power of students / BT1 &1 fKidH ife &1 fer v

7) Development does not include changes that happen due to: / fI&Ty # & ufvad= gt Y R S P F sRUEA &
1. Tliness / STHRY
2. Learning / aifir
3. Maturation / RO
4. Aging / ggTdl
. Correct Answer :-
« Illness / Tt

8) The key agent in Erikson’s Psychosocial stage of “Autonomy versus shame and doubt” is / “Fqra<dl IHH o il g (st

219e) F e & Tamie R TE ieE § -
1, Primary carcgiver / WRTH& T8RS

2. Family / URAR

3. Parents / HIdI-fUdl

4, Teachers and peers / T8/ SRt

Correct Answer :-

« Parents [ 71

9) When a child breaks a vase, his parents explain that this was wrong and tell him that he will not reeeive his pocket money for a week. What

parenting is lllis?fﬂwmmm%,ﬁmm- wmﬁ%ﬁm‘smmeh? ﬂaﬁ%‘ﬁFWEﬁﬂ?ﬁw

e} ford | e o TR T wrer- o 87
1. Behaviourist / mm

2. Authoritarian / FTATE]

3. Authoritative / STAIGTNG

4, Permissive / W

Correct Answer :-

« Authoritative / 3TAHTNG

IS

g%eof

10) Children with Autism are: / TIeiTaT (3iffewn) & RigT o= T &:

1. Unable to make eye contact with others. /m & o1y 3ifE § Hud e 7 sread
2. Unable to move about comfortably. / 31T & g7 & a0y

3. Unable to fall asleep. /711G &1 T armef

4. Unable to follow instructions. / [EEviEIR GRETEE:| araay

Correct Answer :-
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+ Unable to make eye contact with others. /@'@f & v g § Hud H o ermmd

11) During stage of cognitive development, children acquire knowledge through manipulating objects. / HTATHE faem & AT F
R, = aegaN H ST PR I I B 81

1. formal operational stage/ STTRTNG HiHITETE SfER
2. sensorimator stage / SORIHICT 3wl

3, concrete operational stage /T¢I SfshaTeT® SaRT
4. preoperational stage  / Ud WfthaTeT® afaw
Correct Answer :-

+ sensorimotor stage ) TR SR

12) Onc way of minimizing the cffects of diversity is to allow the children to: / fAfaraT & wura ® F0 $¥3 &1 va adiewra=l &1 A= it srgafa &
%

1. Win over each other/ Qﬁw T Sl E'ﬁlﬁ HL Bl

2. Operate in separate groups/ 3elTT-3{efT F&?‘ W H #

3, Start small communities of their own/30= ¥4 & Ble ﬂH’c{[ﬁf Gl {RK'CF{—:T Gl
4, Socialize with each other/ QEF-@% & 1Y Bereird aﬁ‘lﬂ @t

Correct Answer :-

+ Socialize with each other/ W-m & |1y Aerlid Eﬁ'lel il

13) According to Ivan Pavlev's idea of Classical Conditioning, a particular natural response to a stimulus becomes a conditioned response to another
associated stimulus, Which one of the followi les satisfies that theory?/ AT Uladld & aelliidm e & e 1A & 3R & 3R, UF I &
ﬁﬂwﬁﬁﬂwﬁwuﬁrﬁmgﬂ%maﬂw%mwmmwaﬁﬁ%lﬁqﬁr@aﬁ%aﬁﬂmmwﬁmﬁaﬁmm#

1. Children responding to the bell at school to indicate recess and associating it to happiness./ farnerd & ¥t 9o B §= SadIY B Hbd qHSd gai3d ?gﬁﬂ
&y ST

2. Children maintaining silence when the teacher raises her hand/ s R1&f 1Y SoTal & o) a= guit 51T ¥ €

3. Children expecting to receive medals by the end of a race/ TIg & i d Uad U & 31 98ilg T g a=|
4, Children getting star stickers for the right answers asked in class./ H&T T @ 00l IRI & T TR s v $3 91 /11

Correct Answer :-

+ Children responding to the bell at school to indicate recess and associating it to happiness./ TR & 9¢} T H1 g 3GPHI P Teba THSNI & IR 39 T
WY SASAE

14) According to Cognitivism, learning is defined as a change in the learners’ . HEATHEAIG & AR, AT o fRigmdf & |
Feara & w9 gy frmrwmr 1

1. Behaviour / Sddg

2. Schemata/ TITod (I IHTET)
3. Mindset / AT

4. Morals / Afa®

Correct Answer :-

+ Schemata/ TideT (FHIHTET)

15) According to Bingham, what does an aptitude test disclose? / ﬁﬂ'ﬂ & IR, aﬁlqﬁmﬂam T =T uar gerdl %"
1. The tendencies and capacitics inherent in the individual's original constitution./ ZIfad & o WHTd & fAfgd &any oiR wafat
2. The achievement in different dispositions./ faftm G@mm o 3Ual

3. The readiness to acquire proficiency and exercise ability./ VAT 3R ST S Bl el

4. The strength of the different dispositions./ fafis Gﬂaﬁﬁi puRikcH| W

Correct Answer :-

+ The readiness to acquire proficiency and exercise ability./ TG 3R ST B BT el
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16) A child was taught to be afraid of cobras. Now, he is afraid of all snakes. What learning principle is evident here? / Wﬂﬁ B FHlasT @ AT Ryamar
T AT | 3, ap Wl |iaY & St 81 gl et ar sty Rycria Ty 82

1. Reinforcement / ‘fﬁiﬂq

2. Spontaneous recovery / Td: EFI?[E?‘:T
3. Stimulus generalization / T 9 THMRIEHOT

4. Stimulus discrimination / 31U fdHdleu

Correct Answer :-
« Stimulus generalization / S0 AR

17) Carl Jung’s approach for a personality assessment is:/ i sime & g ®rd an BIERPIUE:
1. Judging / fAofd)

2. Perception / HAGH

3. Structured / TR

4, Projective / nada

Correct Answer :-

+ Projective g

18) Which of the following is the term used to denote inborn patterns of behavior that are biologically determined? / e wud fufa e &

TR Ged! @t g2 & fere Fefafaa § @ e v @1 swim g wmar 82
1. Arousal / ST (URTSWE)

2. Drives / lG (GG

3. Instinets / TEvafoal 3REae)

4. Incentives / TEIH (FTRTeET)

Correct Answer :-

. Tnslincm!@ﬂ@ﬁfﬁ(ﬂ'@ﬂf}

19) Which of the following is not a part of the process of memory? Preff@a g st wﬁmﬂuﬁamm fezar =l ?-?
1. Storing information / STFPTY TRTA AT
2. Encoding information / SIFTEPIR] &1 b cileh U] &1

3. Acting on information qu?fﬂ?fm

4, Retrieving information / STTFETRI UTRT AT
Correct A.rlswer. :I- .

« Acting on information / T TR S ST

20) What substage of cognitive development is apparent when a baby learns to press the ‘play’ button on the iPad in order to play his favourite nursery
rhyme? / TS faeT Y D1 ¥ Su-orawn we gt 2, 579 0 F=n oot ueidiar et wfaar e & forg o g
AT i 82

1. Coordination of secondary schemes /e Ara & §Had
2. Primary circular reactions / muE ERIERS ufafeang

3. Secondary circular reactions JA® EilEard wfafian

4. Tertiary circular reactions / a_tntﬁ; gulPR gﬁm

Correct Answer :-

+ Coordination of secondary schemes / FTZIHG TISAT3T &1 T4

21) What age is a child the most impressionable? / P 3ITg @7 e T SIS wHIEER g 82
1. 1410 18 years / 149 18 T4
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2.2to 8 years /2T 8 TY
3.9to 12 years /9 F 127
4. 6to l4yearsf6_\qma‘f

Correct Answer :-

. Gto 14 years /6 ¥ 14T

Correct Answer ;-

22) CCEisundertaken /¥R ey frarsmar g
1. Four times a year / U @4 & 9R &R

2. Throughout the year / @4 H¥

3. Periodically / FHE-HY TR

4. Twice a year / U 8 H &l O

+ Throughout the year / EL RH

23) Questioning in the classroom : / PET T Uy ST
1. Develops inactivity / Ffsraar fqeia axar g1

2. Clarifies subject matter / fawy d¥q &Y W HIdl % |

3. Creates indiscipline / G@W:I'Eﬁqﬁ'l Yer Fear gl

4. Is a waste of time / HHY B Fald] g1

Correct Answer :-

+ Clarifies subject matter / fawg qg P Y HIA % |

24) Needs which grow stronger when unsatisfied are called: / 3T THW Wﬁﬁ AT SATaRIH AT =1 FEaml &
1. Deficiency needs / HH TERd

2. Primary needs / TYIH® SRed

3. Growth needs / i oTE<d

4, Being needs / 3[4 e

Correct J\nswef .- "

» Deficiency needs / THI SRl

25) Whe proposéd the theory of observational learning? / T&0fT fRrmw =1 Rigia fFaa LESGE far?
1. Ivan Paviev / Sdl- UG

2. B.F. 8kinner / Eﬁt{q? [SiaEd

3, Aaron Beck / 3RIF &6

4, Albert Bandura / W

Correct Answer :-

« Albert Bandura / §GXT

26) A scoring guide use to evaluate the quality of students is called: / BT & UTGHT HT GedIH= H F [T TR $Ht &
TN U TR M5 S e el 8:

1. Checklist / b feree
2. Rubrics / &
3. Rating scales / X7 ey

4. Inventories / Eﬂﬁﬂ
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Correct Answer :-

. Inventories / gdicd

27) Both pleasant and unpleasant feelings are associated with WAL 3R gt q-l'EFﬂ& ﬁ@@_&ﬁ?ﬂ
gl

1. Double approach — avoidance conflict / f§ Tf¥®I0T - TftgR Tt

2. Avoidance - avoidance conflict / URER - uﬁ%w*amf

3. Approach — approach conflict / Ty - TP Tuy

4, Approach — avoidance conflict /TSI - gRER ey
Correct Answer :- ) .

- Approach — avoidance conflict / EPDI - URER Fay

28) Authentic Assessment is a form of assessment in which: / WTHTIOI® Hida B BT UH ©U ¢ foraH :

1. Students are asked to perform real-world tasks that demonstrate meaningful application of essential knowledge and skills, / Wﬁamﬁﬁgﬁm
& STl Pl B b 1Y BT STl &, Sl TGP F1H HR B & wrefa @ yelfa e

2. Students results are compared to hypothetical average student / mgﬁwﬁfﬁw FHIMF A 3 Y Bl 9 8

3. Student performance is measured against a fixed set of predetermined criteria or learning standards / ©T9 & Ug= &l yd R TSt @ diea &
A & T M e & faua [ o §

4, Teacher determines students' individual strengths, weaknesses, knowledge, and skills prior to instruction / e SHEl @t cafaaa ?I'%'ttl’ﬂﬁ,

HHSNG], T 3R a1 31 S § Tga Hufia s e

Correct Answer :-

+ Students are asked to perform real-world tasks that demonstrate meaningful application of essential knowledge and skills, / mﬁfaﬁmgﬁm

& BRIl B A & o g1 STl @, S SMaad I SR iz & e Sua o valia awa

29) CANCELLED

Classical gestalt theory was put forth by: / Fafyea el Rigia P grr Wd febar
1. Thomdike / YTST3H

2. Kohler / HIFER

3. Piaget / o

4, Pavlov / UTGelId

Correct Answer :- Q
30) Which of the following factors influences a child's success and failure in school performance / Fafef@d & | o-u1 oR® fdemey & wazi= &
S BT W] 1Y Sl S WHIRIT S §?
1. Parental education background / HTdlI-U & R &1 gyyf
2. Physical strength of child/ &g 1 JIRITNE HoTail
3. Teachers contribution in learning process / s Uit § f&‘lz'd'cﬁ gl thﬂ'q'Fr
4, Social Influence on child's learning / &= & S{ITH 9 EIfSie UG

Correct Answer ;-

« Teachers contribution in learning process / HTSTTH Tispal H e ! o1 diar

Topic:- General Hindi (L1GH)

1) WRAGR W {ow o
1.9 wiafe wfveror afee
foraam &1 0y Seifra wv
ey Gren fage q@ e
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TgE HIH-A1 gE ¥, Hg-a !

2 o o1 Ry s,

¢ SiaA T 3] T
YERp-gad By S e

an e S T

T T8 G ST H;

fayzrad R g esar &

BT, 7 WIS U g i
Ryge-Rigw 4 fuw o

e T A 3 ST
we-gi Fra e Jlue

TG TN ST I el

g & e & argen
- Y dhue wen

I T B USER S O o 918 WR P IR 9aiggl
UL ‘G- qa” B SI-91 PR 87
1. wife

2. U {eR BTl

3. &t

4, siforaifaT

Correct Answer :-

o QT AT

2) WRAY W o @
1.g wfafe faemor afowe
Rrgaw &1 0y sreifiea F
ey S fager e o=

TgH HIH-T gE ¥, gg-a

3 weprer o1 iy orafefira,
A ofta &1 s e
A-ged WY U e
an <fiae sre @

T T g ST HL;

fay v Rr yrwear &
T4, = v ura g fren
RigeRgr N duw wen

S T A & HEES
g8 frra R diuw
SHY AR &7 3% el
Rggd o R & aean
fada-Rga At fluw wen
IUHE TS F UEER A gD S a8 W3 BT IR aaigtl
T e frd FEa ¥
1. I 41 Ui 1
EREIERIED

3. HYATE &1

4, HRHI

Correct Answer :-
- WfcT ar ud &Y
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3) WHUR-AYY A U v
gy ufafe ufdgmor ufae
foraem &1 9y seiifnd @
R Sen farge yu =

g HIH-HT YA Y, GG

& T 1 Ry srafyfia,
Y Sifa & 0] T
UE-gad Y S wer

an 2frae wivd q@=

T TR P ST B

Ry ey Rr Aosar 8
B1Y, 1 o uran ged fren
Trge-Rige B dus wen
wed Y # 3 oriere
we-di e fret v
EHY AR BT SR Sew;
e & Rer & aem
e ¥ dhuw wran
UG I B Uy 1R g O AT R 7 S aaTgu|
WA <aruRfiver 1w naaa 87
1. i gfga

2. yATORIfRd

3. SUTHIOE

4. ardifEE a1 SR

Correct Answer :-

« 3Efiftd g sur

4) AYEAY A o s

g wiafe afaemor nfowea

e 19y ATeiiferd 2!

ey e fager gg &=

TG AT Y Y, G-

& W &1 Ty e,

W Sta BT 3oy e
UeF-qa 0 iU e

A fee S @

T ¥ T welTell S

fy-ray R YT Fear A

T, 7 T uTan gE e
Frge-Rage i flus wen

wed Ay A 3 e
g8 e v diuw
TIEHY HITR 1 3 SIedl;
fgga @ T & aee

IUY UL FT USER A1 YF S 916 W ST I 97|
W R YT ETaY T T SR @2
L FTHAFE T
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2. R wfer

3, RR # 1 e
4. g THIATT HRAT
Correct Answer i-

- g T AT

5) WR-ALR HY e v

gu-gr wfafes wfeamor nfroer

Rraaw &1 vy srmeitféa

ey e fage g &=

TgH AH-T g ¥, PG

2w 1 iy srfyfiE,

A oftas T Sy T

AP-gard WY G0 W

A e St ga

T X3 G ST S

faymay R Y wear A

BT, =1 e uran g

Frge-Ryge I duw o

e T A T ST

581 e e o

TG AR T ST oIl

fagga @ frar & aem

Fgw-fagw A dhue o

SO YIS FT TGP - I S 918 W BT S ezl
W qge W A1 ge Y g a7 J 71 AT 82
L. FH Sl el

2. 9% T et wirar € 59 € anueE! vE oo e @ity
3, TG I g ST §

4. T B g o Bt §

Correct Answer :-

. o faw o & &8 B enaeT W §ie e 91ty

6) WUR-AYT T {0 v
g wfafea ufaemor nfawe
v &1 vy sreifsd w3
ey Tre farger e &=
g IH-HT 4 ¥, Gg-a !
& Wbt F1 Ry srafili,
A ofta= &1 ey AT
JaS-gae A ¢iue e
R e Fiwa g

14T T g e B
g ay AR A wear #
BT, = Wi T g foen
RevRgr v Suw wen
e U H 3 sriee
He-g fFra se dluss

SIETHY HITR @1 3¢ Weldl;
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Tagga o e & ameen

fdu-faga #r dhuw wen

I T & UgER A O 9 9T WA S 3w 9aigtl
U TATen-Hur {6 wer w2

1. e AT B] UL

2. e AT BT TG A

3. A PIS 7

4. 3T} TUE 3R 3T BT TG S g1

Correct Answer :-

. ST P TUC SR ST ST TG i1 A

7) RYR-AYT WY €0 S

1-gn wfafew wfasmor nfawe
Torem S0y e B

Wy T fage @ &=

TS AIH-AT Y ¥, PG

3 Wbt 51 Ty srufvfera,

WY Sfte= &1 3oy T
-gerds WY 419s W

AR it B e

HIT T8 T AT B
=@y iR YA s &

T, 9 oI ura g firen

R R iy s wen
EGCECE Ercf e ca
wg-& fore free dhuw

HHY U &1 3 |ddl;
forgga & e & argen

e faga A dus wen

IUa U FY UgE} HR g S 916 WIH &1 I adarggl
e <y wraw Siaes & Ty i o T e e?
1. ffer @A &1 orfresT & SRUT
2. SFHRTIAT & TRU]

3. 3T A 1S et

4, KT e T T S e 8
Corred; hnswer -

B G 2 R e R K s

8) WUR-AR A Eiuw v
. wiafe wfaemor afave
Foraem &1 9y sreiifera wv
wiRw S Riga Y@ ==

Tgd HIH-A1 gA ¥, Jg-a !

3 e 1 Ry s,
Y SiaH H1 A T
Uerp-gerd BY S o
e S

T TR T ST FL
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Ryzav R e d

BTY, = et uran g e
Rrgz-frgx & e v

W T A § SR
-3 e e o
SIETHY {ITR &1 3R 9ddl;
figga & fovan & e
Fdw-fada A% dhue wen

IR T H UEER H @ S 9T WR BT IR aanst|
WA WEe I Gre & T aread 82
1. BTELEIUE ol Heied 81

2. R dsAReTd

3. 410 B R WE A 8

4. TR 1 Hee <ius a1 T

Correct Answer :-

. AR ! WegF dus FEI Ty

9) WYR-TLR HY o e

g wiafe wftamr nftraer

Toraem 19y aneifera !

Ry St forger ogu &

Tgd WU g ¥, Pg-a

3 wepTr 1 Ry smafufira,

A Sfta B s eI

aP-gerd WY U e

an <itae sre @

T T8 G SaTe

fayz@y iR YA sear &

1, 9 oI urat e firen

frer-REr it Suw wen

e 1Y H 3 e

w58 for free o

SIETY YA &1 3T STedl;

faqga o fira1 & @

faga-fada Ay duw wen

Iude TR &1 Ugee Y U S 9T TR &1 3R aaigy|
TA: TR S0 &1 ) o TR e el 82
1. STE

2. EI9 DI THPL AR X

3. UG e

4. 519 T & ool T UTed d YA &y e Hedl §

Correct Answer :-

. e @ Y e TE Tl A HeTE Al eed Bl B

10) FYL-AYR WY v wran
- e wfiamor wioe
Toraem F1 Y anaifea w0
wiRu S Rga Y@ ==
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TgE HIH-A1 gE ¥, Hg-a !

2 o o1 Ry s,

¢ SiaA T 3] T

YERp-gad By S e

an e S T

T T8 G ST H;

fayzrad R g esar &

BT, 7 WIS U g i

Ryge-Rigw 4 fuw o

e T A 3 ST

we-gi Fra e Jlue

TG TN ST I el

g & e & argen

- Y dhue wen

I T B USER S O o 918 WR P IR 9aiggl
WH: g Bidar # S o e feed wdte 87
1. 3T F 1 e

2. e %@ 1 Ry i a1

3. 37 S U SR FE F1

4. fRA IRl F7

Correct Answer :-

« SIS 4 B U HSe $1

11) AYR-AYT HY §oe St
1.g wfafe faemor afowe
Rrgan 1y sreifea &
ey S fager e o=

TgH HIH-T gE ¥, gg-a

2 webrer 1 iy safifiva,
A ofta &1 s e
A-ged WY U e

A sfitaa sre @

T T g ST HL;

fay v Rr yrwear &
T4, = v ura g fren
fRrgv-fige i v e
ST AH H & D
g8 frra R diuw
HEHY AR &7 ST oiedT;
Rggd o R & aean
fada-Rga At fluw wen
IUHE TS F UEER A gD S a8 W3 BT IR aaigtl
7H: FafeE A e i e TR | wa F Fer e
1. P TRAR

2. Faq fga-fagy

3. Hqe YAP-gae

4, 3uda gt

Correct Answer :-

» e &l
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12) AYR-AYT WY fow St
gy ufafe ufdgmor ufae
foraem &1 9y seiifnd @
R Sen farge yu =

g HIH-HT YA Y, GG

& T 1 Ry srafyfia,
Y Sifa & 0] T
UE-gad Y S wer

an 2frae wivd q@=

T TR P ST B

Ry ey Rr Aosar 8
B1Y, 1 o uran ged fren
Trge-Rige B dus wen
wed Y # 3 oriere
wg-E fora e dhuw
EHY AR BT SR Sew;
e & Rer & aem
e ¥ dhuw wran
UG I B Uy 1R g O AT R 7 S aaTgu|
W< wafie frae uy arefra svnae @ ¥
1. 3 ey w1

2. Tt 1 3t

3, To et Xret-iT <1

4. U5 aa R @1

Correct Answer :-
« 3ud fraay &1

13) AWR-AYR T 9 oI

g wiafe afaemor nfowea

e 19y ATeiiferd 2!

ey e fager gg &=

TG AT Y Y, G-

& W &1 Ty e,

T SiTa FT ST

UeF-qa 0 iU e

an <frae e @A

T ¥ T welTell S

fy-ray R YT Fear A

T, 7 T uTan gE e

Frge-Rage i flus wen

wed Ay A 3 e

g8 e v diuw

TIEHY HITR 1 3 SIedl;

fgga @ T & aee

IUY UL FT USER A1 YF S 916 W ST I 97|
W: HYF Ay 7Y S wer Sidar o1 digd oA 4 fPa w2
1. e Teal BT ERI TR
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2. ¥aa v g s R
3. SN A HE Tl
4. Weal 1 Mg 3R b i i i ua!

Correct Answer :-

. reel & 3afy ok Whw i eied SN uel

14) WR-IY TR s e
gu-gr wfafes wfeamor nfroer
Rraaw &1 vy srmeitféa
ey e fage g &=

TgH AH-T g ¥, PG
2w 1 iy srfyfiE,
A oftas T Sy T
AP-gard WY G0 W

A e St ga

T X3 G ST S
faymay R Y wear A
BT, =1 e uran g
Frge-Ryge I duw o
e T A T ST
H5-8 fra frem o
HEHY AR T S Sl
fagga @ frar & aem
Fgw-fagw A dhue o
IUE U FT UgER S O W T8 WA $1 3R aag|
WA argat ot o e aard g &2
1. AEA Bl BI §

2. TG HRAFE A AT

3. T AP TN

4, gl A Roreh €1 3

Correct Answer :-

o wrga H fawrelt €idi 8

15) AYTAYY A E10 ot
g wfafea ufaemor nfawe
v &1 vy sreifsd w3
ey Tre farger e &=

g IH-HT 4 ¥, Gg-a !

& Wbt F1 Ry srafili,
A ofta= &1 ey AT
o-ged H3Y 41Us W
R e Fiwa g

HIT T8 G waTe B

g ay AR A wear #
BT, = Wi T g foen
RevRgr v Suw wen
e U H 3 sriee
He-g fFra se dluss

SIETHY HITR @1 3¢ Weldl;
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Tagga o e & ameen

fdu-faga #r dhuw wen

I T & UgER A O 9 9T WA S 3w 9aigtl
e e © v ara @1 smg frm wve 82

1. ST G

2. 9 B UE 3R B o Sreren %@

3. 98 HH da Uil

4. Tefue @t smara 5 X

Correct Answer :-

. T BT U SR GR ot W W@

16) HRGTY FUT 1 FAY &, Tg ST F1 anf 3 &1 Ager T R 407 39 39 3 exeht W ugeh 9w via @ g, Feit o awy § e @1 f wEed g
:hi%agﬂ?‘mwﬁaﬁa-ﬂﬁwwuﬁﬂﬂaww%ﬁmﬁm%mﬂwwﬁmﬁﬂaﬂtﬁlwﬂaﬁmmwmmﬂﬂmmWﬁ

i v wafem faun g1 & o fied €1 575 99 99T ©1 U HEHFIA® YTl 575 ) AY 81 Bk gats § e e g1 feaeal 16t e gat di)
mﬁﬁu?ahrwaﬁﬁalwfﬁhzﬂl T BT Aieamman 2R g # U i R B Wi §U e 6 o ueE 3@ 21 59 oY @ g (162) B
'TQ'GN‘B:“TI 5

"8 375 & TRTH T &1 aui Bear B, R oW aururt A wad ued i €1 37 ot (TS oY) Y AR, o 3t uRT & wanfed e offe uda w et & R e
il | g7 A 39 Sifg @Y AR FRrar, ot udd Uz Ygdr UT| w@er = g & o awr amar Al (g 3 ol ) st o1 v @) Yurd g5 el o aee o i @ el ag
AT I U T BT UER B 3 FoIg T fvan o a7 | oift o wer fmn 3= 3 nrnfast 35t v & Ry fsan S99 91, 3w 3fR aneTr 1 oFTgE i
TUF U 5 BT B3 UG 7 181 5% 7 33 F ofvit =1 T e oran, 9 T 31 St 1d ot #1 327 evell R R ueT) 7oy +3% 37 4R 375 3 e °e 411 3
| €, I oM sl w1 R feaT § | 7 5 6 WY B $) 9§ T T 417 98 T ORE A TRT 9 BT $iR ufd Be Wi W ft IEA 5 & oS ot Tt 5=
A3wa vis W o A weR fFan| @R &9 v wis & gerad § 3g 9% 2 93 5 ge-ghs B T | 99 9E BT WaTe 6l O e g P R em
95 9011 97 3 50 B YRT B STavewil A% 71 U1 3d 98} o7 S XiGell §T T8 Tg7 47| §% = g 1 iRt /v o) o e a1 7w oz o, g =i v omi 97
oY w1 08wt off, O T 30 TS & Ty UE €11 9 &1 Hd YW 99 - H UST o1, 6 1 81 s, fArd e ovdt | 53 o & aw 7 gy ot wra afl
A BT g3 T 3if IHHT Tares o1 S ufdr it 1 s o €, 39 € I o Y yrradt o A TE

SUGe T B U} i IS T W BT I aage|
W §% & forg fram as g ane

1. REA

2. @ETA

3. SfyFIEER A

4. <garaf A
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Hlel: AP llelocle,

25) i
eeliehl afScar renfAfesery Ueaed gFHccl FaId -
AT Sfad ofieh 31TEeR eadiae |
TR QAGRIRT gHGITdGad TEeH ||
ol sia?‘r fET g3 emar corgsr: ?gﬂlfﬁ & |
IRTYIAT We[deeoAed TUUhRIRT HlT faegcid: ||

TGl e d-lt\cﬂd-lo:lo'l ATARET |

Correct Answer :-

$TTaleT

. 2

26)
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Ui Ifdcdr UTEd ?Aﬁaﬂgcdi I -

3T FEAHIGET Sied R0 IETEE, 23yy A I HFIYATA 3efac| 31
Oar ST el AT T AT 3loar el EaA| o o AT Id
Sfecdl AAd: STaTElellered AT THId| Teiaey TRiFerehr fuam feeelr
oI, SEUSAIR T 3| ITURIGTRY 31 $9eIUS G2l aredl fefeler
AEITICATeR! TaHAHd| fRIeTdecl a1Rd ufafegey 3 [aermrmernue
ufdfSad: 3erdd| 3ed fdarg: @ifaranfasar sefoa= AT T 387ad)
3T Th: g e TGel:, THN T Fodl 31 s Jer

IRIGHCATRITH 36 hidAvS: #TdT ANt HFIHUmTT: el 310 1Ty

Gcdl HIPEHEAAT: YUTHAG: N3¢ TFclay ¢y dH a¥ slaed
HTAT AT T AT 3diGiar: Mfelenliel: gdll dar A Jeiid:

U H-AT 37ad | ddled TIel dgdd U 31T e TTAHAT Uc
= o |

afAfSad: | Toola-Te ey, 3EHH-IGNT T FHEARIT: GATU Shedl 31T
g FASA: ;| 37T A, enfeafdrr:, Aerd), Feaaea 3|

ST 5cOF 3T U sfafa-

Taeff dcoey:
2. e | "o |

| Gfadr dege:

4t’mﬁra?q§6r:
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Correct Answer :-

28) .
eellehl fdcar SNfATGSCTT TeeTEd Y el AT -

HREFTA T Wol [qeTo:T a1 |

2

TR fAe=IiaedT A ied Jqe: ||
e . quﬁso—qdﬂa‘lli |
IRET AlccddASTelT of TSI iod ||

ToT deTHedY dcdl fdeafd AT |

AT qdehd &hé hdHTTTS d ||
o

eI UY: o & ST |
AT

Correct Answer :-

.Fhﬂ-:

29)

Page- 37



UR=Se fScar 9eaed gacal A -

3T FEISTAET STodl R0 PR, /Yy dH I¥ FFIYATH 3ie7acl| 31T
Oar TS aeedl AT o AT sfeedr aeell JEdEH| & & SEd I
sfeetr Al StaTetareed TAr 3| Totaear TRiFerhr e ool
AR, SESATR T HATA| FTANEGTR 31 $IIUS Gef aTear efAer
Aellacarerd JaAded | fAeTeal #Rd ufdfadea 30 AT
TCITSa: 3eTac| 3T faars: Wfaeiasar serfo AT TE efad)|
3T TH: I IR TEer:, Tl T FodT JAed FAsem| e

IIGHCATITH 3T Hielvs: HIdT ALl FHPHUETT: daT 3 IR

GcdT HETHEAT: TIHAHTOT: HHAdI3 JFCaY 2%¢y dH Iy TSiaed
AT HRAET THAT 3ATiGia: Mioenia: garl dar AT Jsia:
TEIAHAT 3T | Al T TgAT I 37 oT: TeTofofeAT Ie
UTCITSS: | USSIe-TeRREd, TEAHH-UGRT T FHAEIRAT: GATEN el 37T
TG TR SAMC: | 31T AT, Mfeafirr:, Aerdl, Fggaed 3]

TeilgeT OdaHs: TY: 3ifed-
| HEIcAT =T
PHTTG:

2

, ToRTIST, ameedt
, STaTgelel:

Correct Answer :-

B CIEEIE

30)
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uf=ae gfecar s AgHcal g -
o | e } o

3TEAT: Sled 2R% JH I TR HHad| HEAT: Uar Staelere: Adr
hAICHT TR SEHIVT el STaTeeler: RagoRevs gt Rfhcamry
NI TaT SeeRT 3 AT TE aF IPTTOd| URAT 59 USTIRED
TehEHe] [dearerd fehi>cepliel Arad eMicdisiehdaleel
faeasdifaeaidearertt @ 379ad| Jar eryy dH I Sfargleld:
TTTH e AUGH 3T dal Sheadl &g U Helideh! 387dd| AT 515w
HEIGIEY CEIaaTITelocH 31 Sllelagigy A HIRTET T feauge
3Telepclalel| el SNl SToadl Mot T T TaRUIHTTIIGH dTeead|
3rear: afd: TSt e FgTser: T8e: Hoaed: 3| Sleauan: gal g4t
Tellag=orl 7T 3T 2’6 dH I¥ FRTHAT T« UEdT 387dd,
m ¢2Q¢o gH ¥ get: I T3S Ffeeal UATACAUGH 3fesid| 5T
SERIRET RIS aqfr\ru‘]c—rr Qm 31T TdeT PacaUTaTdca?T 3T d| &
god! 2_¢y aﬁa’éma? fearsh s9e Sararfear Micramfa:

[CEE R

sTeceTeell FARTHRTRT: ST HGH -
TRITT:

i,

Correct Answer :-

T4l

Topic:- Science (SCI)

1 i i ¥
) Find x, v and z representing the number of moles of the reactants and products in the skeletal

equation given below: /
@ Ru v aed A FHiEReT A siffeRat AR 3caEl & A f e &t

gfafafeeg & aer x, v3R z9a =&
Fe:03 + xCO =2 yFe +zCO;

lLx=1 y=28&z=1
2x=3, y=282z=3
3x=2 y=3,&2=2

4x=4, y=3 & z=4
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Correct Answer :-

e X=3, y=28&z=3

2) What happens when a sound wave is propagated through a medium? /

afe @y o v W 9§ wia &, S e

1. The particles of the medium move perpendicular to the direction of propagation of the wave./
T & FV1, T S TR B =1 & daaa RFTRa 81 8

2, The particles of the medium remain in the state of rest./
HIEH & U1 ATy 7 W8 B )

3. The particles of the medium make to and fro motion about their mean position./
T & HU1, 391 A1 FRUfq & T 3eRseR- i g1 81

4. The particles of the medium are also propagated. /
e & 0 off TEE B B

Correct Answer :-

+ The particles of the medium make to and fro motion about their mean position./

AT & U1, 39 A1 fRufe & wviiu siraR. niasfia g 81

3) What are the common fishes selected for pond culture systems? /

aTeTs Fae yonirE & o Tafa Y 7E T wofnt B §2
1. Sharks and rays !QTF& 3RY

2. Sardines and mackerals lﬂTﬁg:I mﬂm

3. Mullets, bhetki and pearl spots / R[Aied, Ned! 3R uef wie

4, Catlas, rohu, mrigals, common carps and grass carps / cell, T_\E T, T 1Y SR IR B

Correct Answer :-

+ (atlas, rohu, mrigals, common carps and grass carps | S cl, ?‘1_@', e, g B iR ar e

4) The phenomenon responsible for the twinkling of star is: /
R @ fewnfenrge ¥ forg Suverd e &:

1. Dispersion and reflection / U4 SR wRrad

2. Reflection / TRTETA

3. Atmospheric refraction / THSTIT SHUadT

4, Dispersion / Y

Correct Answer :-

« Atmospheric refraction / ARIHSIT U

5) Which one of the following diseases is almost eradicated from our country? /

Frafefae & & fra fardt ) gar T} smm s s o mar g
1. Dengue f\aﬂ]\

2. Malaria / HalRa1

3. Encephalitis / FRKTSR QY

4. Poliomyelitis / Tiferar

Correct Answer :-

+ Poliomyelitis / i
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6) The hotness of an object can be measured by its Y ]
el g @t ige @ Tud FIRT 79T 1 T g1
1. volume / 3TEdA

2. Temperature / dYHA

3. Size / S

4, Density / 9-Tcd

Correct Answer :-

+ Temperature / dYHH

7) The frequency of oscillation of a pendulum is one hertz. What is the period of oscillation? /
& Ygem ¥ <A ) gy 0w g g1 e @t srafl g

1.05s

2.2s

3.18

4.0.15s

Correct Answer -

w15

8) A body of mass 10kg is moving along a horizontal plane with a uniform velocity 10m/s for 5 seconds. The acceleration produced in that body is: /

10 {571 Zoan &1 T Ao, 10 Hier A% & Te TUH AT § 5 §5s & o ve Afaw 9dg & IaiaR Tasid ¢ 1 39 e g

Ieaiferer @R 8:
1.0.5m/s?

2.2 mfs?

3. 0m/s?

4. 50 m/s?
Correct Answer :-

+ 0m/s?

9) Complete the statement with the correct option given below:
Matter is anything that .
=4 few T faeet & & TE Aoy TeT SUF &1 gl 3.
werd ag & ot
1. occupies space and has a definite mass. /

R ER § ST i1 U Afdid goawr i 31
2, accupies space but has no definite mass. /

R AT § AT 31 1S M Goaw 8 g 81
3. exists as a solid with a definite mass. /

% A GooHH & 9 U6 319 & w0 T Higg g ¢

4, has a definite mass and a definite shape. /

wa ff¥a g ud e AT sieR o1 diar gl

Correct Answer -

+ occupies space and has a definite mass. /

TIOR8 3R o e ¥ gomm g g
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10) Select the appropriate metal to be used to change the colour of an agueous solution of CuSO, from blue to colourless along with a red

brown solid getting deposited. /

cuso;&?w%m,ﬁmﬂmuﬁw%aﬁﬂmgﬁr%ﬁaﬂamﬁmaﬁ#ﬂﬂﬂmaﬂﬁ%ﬁmmﬁﬁmm
T T T B

1. Silver. / ATl
2. Gold. / |
3. Mercury. / UIRT
4. Zinc. / ST
Correct Answer :-

+ Zinc. / ST

11) Sharp edged metal pin will go easily into the wooden board because: /

A YR ATt urg F1 I omarh @ ae et & 91 A g seh R

1. As area of contact reduces force increases / HUP & HH BAETA dgdl %I

2. As area of contact reduces force decreases / TP & HH E,Pﬁ @raamfhm%l

3. As the area of contact reduces the pressure reduces /% &89 $H g § 319 FH BRI 21
4. As the area of contact reduces the pressure increases | WU & &9 € ¥ &1d TgdT &

Correct Answer :-

- As the area of contact reduces the pressure increases | HUH &5 ©H € 9 &€ dadl ¢

12) A screw gauge with zero correction gives the following reading when used to measure the diameter of a wire. Pitch scale reading = 0 mm
and head scale reading = 52 divisions. Given that 1 mm on main scale corresponds to 100 divisions of the head scale. The diameter of wire from
the above data is: /

I PUR & 1Y S T A9 TP AR F o S 419 & R gudh F o o or Frafaifea O 3ar 81 fra aroe O - o fndt sz
B "S5 = 52 T3 | fmn mar 3 o ey v 31 1 fr, 39 W9 & 100 ST F o 8 | SURIT gIAT 9 AR BT o019 B

1. 0.0052 em / 0.0052 T
2.0.052 cm / 0.052 Tt
3.0.26 cm /0.26 97t
4.0.52 cm/0.52 T
Correct Answer :-

+ 0.052 cm /0.052 94

13) A dull green colour coating formed when a copper vessel is exposed to moist air for long. The green material is a mixture of: /

T4 UF did ST U 6 WA P 3T JTaraRvr H ¥EaT 8, 61 S° W UF §¥ WIS uvd 5T S 8 1 e g uerd foh e &7 v fsn @
1. Cu{OH); and CuO / Cu(OH), Td Cuo

2. Cu(OH), and CuCO;3 / Cu(OH), Td CuCO;4

3. Cu(OH), and Cuy0 / Cu(OH), Td Cu,0

4. CuO and CuCO; / CuQ Td CuCO,

Correct Answer :-

« Cu(OH), and CuCO; / Cu(OH), Td CuCO,

14) Choose the incorrect property about colloids. /

HraTgs & sd Uiy HT T S

1. Colloidal particles do not settle down when left undisturbed i.e. colloidal sols are quite stable /

PGS P U a6 I el o €, oid dp 19 3= id e oie fear o €, o Slaged fduad w16 RR g §
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2. Colloidal particles are not visible to the naked eye. /
PGS HVI AR Sl 1 s 76 & ¢

3. The size of colloidal particles lies in the range 107 =107 ¢m /
PIAIFSE HUI T MTBR 107 ~107 Jl. B A H ST

4, A colloidal solution is homogeneous in nature /

TS BIaRsd [aad UFi i Tedia g ¢ |

Correct Answer ;-

+ A colloidal solution is homogeneous in nature /

% hlaged [Aag- Ul & wardy giar gl

15) Identify an isotope used as a tracer to detect the blood clot in human body /

AT IR ® o & Yo BT Ta1 T $ O 0P SR & F H ugad 811 aTd Th AHRITNE Bt Uga By |

1, Uranium — 235 / TRFAT0 - 235
2. Todine -131 / 3TATEH — 131

3. Sodium — 24 / QIfETH - 24
4. Cobalt — 60 / BIEIT — 60

Correct Answer -

. Sodium— 24 / TISTA 24

16) The product formed when iron reacts with steam is /
w8 R arw iffesar & = aren IwTg 3

1. FeO

2. FeH

3. Fey 0y

4. Fa30,

Correct Answer :-

. FE3O4

17) The role of decomposers in the ecosystem is /

uifRuferast oo & sroues! @ HfireT 81 8

1. They do not act on organic compounds. / d e AfiTep] R HRf gl dd |

2. To convert inorganic materials into simple forms. / HBTETD el BT TR Sl | gRafcid Sl

3. To convert organic materials into inorganic forms. / HTaHS el @1 e Sl i aikafdd s
4, To convert inorganic materials into organic compounds, / 3T Tardf &1 w-e GiRtE! ¥ uRafid A

Correct Answer ;-

+ To convert organic materials into inorganic forms. / P UGl Pl SpTa-e WUl # uRafia s

18) The lightning arrester helps: /

afeamzefim dus Fa A Tag s e:

1. To store the electric charges at the time of lightning /
afsa & o faggd S1ail &) Woehd &3 91

2. Dissipate the electric charges in to the atmosphere /

faqga el @1 argrsy 7 Bl Al
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3. Avoid the production charges on the clouds /
EIERIR S CR AR R CE R LR

4. To transfer the electric charges to the ground /
faqyd e @1 HiA A WHIIRT $37 H]

Correct Answer :- .

+ To transfer the electric charges to the ground /

faga snawi @ 4 & wEtaha s )

19) How much clectrical energy in kilowatt hours is consumed in operating ten Swatt bulbs for 10 hours per day in a month of 30 days? /

30 =1 & v wdt B wfer R 10 2 & Ry 5 are & < aedl & wai ¥ freitare wel & ot fRgga Suf &Y wua gkt 82
1. 15 kWh

2. 150 kWh

3. 15000 kWh

4. 1500 kWh

Correct Answer :-

+ 15kWh

20) Caleulate the formula unit mass of MgS0,4.7H,0
[Atomic masses: Mg=24u,8=32u,0=16u,H=1u]/
MgS0,.7H,0 & A §HTS FHHT P 0T By
[ARHI] 5 H: Mg =24 u, S =321, 0=16 u, H=1u]
1.286u

2,232u

3.246u

4,198 u

Correct Answer :-

+ 246u

21) A bullet just sticks on a fixed wooden board when it is fired from a gun, The kinetic energy of the bullet is mainly converted in to /
dg® B e g 9 R U Ruffa awdt & a9t w Mt g o @1 et 9t afoe et g wu @ gud el g 2
1. Only Heat energy / AT & Gt

2. Kinetic energy for the wooden board /W*ﬂg%ﬁmmw

3. Only Sound energy / ad &G FHsi

4, Sound and heat energy both / @f 3R FHugr Sl T

Correct Answer -

+ Sound and heat energy both / & 3R Fmm Tl ST

22) Ina sunny day, when the atmospheric temperature is 37°C, the temperature inside a car, which is parked on an open ground is: /
U yu gre i3 #, ora argegeita arow 370 AfRa a1 2, 9 U9 SR $ ey BT auHE, S ge e § @Il 8, FreE e
1. Greater than or equal to 37°C / 37°C & TR 41 D

2. Equal t037°C / 37°C & &¥IaR

3. Always greater than 37°C / 370C 9 3{f¥/

4. Less than 37°C /379C § &1
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Correct Answer :-

+ Always greater than 37% /37%C 9 3t

23) In a filament bulb the electrical energy is converted into: /

e framie avd (dq Tea) A Rgga oot ot gad wRafda R wmar @

1. Chemical energy / IS el

2. Only heat energy / Pad S S

3. Only light encrgy / e HHIT Sl

4, Light and heat energy both / W1 SR ST el gl

Correct Answer :-

- Light and heat energy both / UehTSI 31X T Groif G+

24) What is the valency of Carbon in Methane? /
AT P17 BT wAwar fea-it 2

1. Valency of C = 2 / C ®I HaIehl = 2

2. Valeney of C = 1 / C & YISl = 1

3. Valency of C = 4 / C B Wioladl = 4

4. Valency of C =3/ C ST Yol = 3

Correct Answer :-

+ Valency of C = 4/ C Tl Faraiddl = 4

25) Which among the following is a mixed anhydride? /

Frafefaa ¥ &« ve fifia tieggss @2

1.CO,
2.N;05
3.50,
4.NO,

Correct Answer :-

- NO,

26) Which of the following is not a contrel measure for the storage of grains? /

Frafeiaa & @ @ smme vsrw & forg Pz sura =gl @2

1. Chemical method / TS faff

2. Fumigation / ¢

3. Plant products like mineral oils / @f+Tol oel SR UTEY S

4. Cultural method / SR fafdl

Correct Answer :-

+ Cultural method / H@ﬁ—cﬁ fafy

27) Which of the following is a biotic component? /

T Asa e SRe s &

1. Air/aRg
2. Water / SlTl
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3. Soil / At
4, Living things / Sifad 9%¢

Correct Answer :-

» Living things / SHifad Ty

28) Which of the following is a chemical effect of electric current: /
fora A & v fagga ware &1 e yura §:
1. Producing a magnet using electric current /
fIggd TaTE W1 ITRT IR U Yo e DAl
2. Producing heat in an electric kettle /
T FAfE o H ST I
3. Producing light using electric bulb /
TeroTefl & S o1 IUUART B UHTA I DA
4. Production of Hy and O3 by passing current through water /

T R R TR SR Hy ST 03 T Sedad He

Correct Answer ;-
+ Production of Hp and Oy by passing current through water /

T & YR U1 S Hy 3R 0, T Iaed 31

29) Name the property of the components used for separating salt and camphor. /

TS 3R BYR BT 3 B $ Tore Wi ol o ard uest & qurad garsd|

1. Using separating funnel / GY&BT{] b1U T U]

2. Magnetic separation / 5 19 QUERRRUT
3. Sedimentation / Al
4. Sublimation / GeTTe

Correct Answer :-

. Sublimation / S tdUTa

30) Discoveries, inventions, laws, theories are all related to the
BEIGE

1. ease in daily living f%'{ﬁa’? Sita= o S

2. study of science / fogm 1 Srege

3. luxuries of life !W%W

4. satisfying human curiosity / TTAT ORI T TGP AT

Correct Answer -

- study of science r’ﬁ?ﬂ‘[ bl g+

e, enfase R, o, Ry woft

31) Not only formative but also summative assessment can be conducted through: /

= Saa Fatures, afer amEs s ot e & wrea I Ferterd foar s gedr g:

1. Homework / QE?FI'&

2. Question and answer sessions / UH AR IWITF
3. Projects / BRCIEEIE]
4. Self-evaluation of teachers / FRI&®T BT W-HR
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Correct Answer :-

- Projects / gRarerTa

32) The drawback of Case Study method is that it does not lead to a: ;W-R@‘I ﬁﬁl’ﬂﬂaﬂ'% fPag WG T8l
Fdl g

1. Generalization / STATITEHROT
2. Conclusion / Elea]

3. Categorization / Fffesor

4, Assimilation / S{THITTHIO

Correct Answer :-

. Generalization / JTHIRIER0T

33) Which of the following is not a feature of Continuous and Comprehensive Evaluation (CCE)? / ﬁ'&lﬁ?ﬁ@mﬁ A H
Hed Ud IS Geare+ (WwiTs) @t faraar 7t &2

1. It helps the teacher to learn about the existing concepts of students. / U8 BlEik:l ﬁﬁfﬂ YRS & IR T 5 | R1&® $i
SEECEZGIR

2. It involves more frequent tests and examinations. /@ﬁ TR Ti&or 3R CIfT&ITQ gffera ﬁ?ﬁ %I
3. It involves repeated assessment of the same parameter, / 3 U B HIAGUS & IR-GR 3ficpe- iRiferd gar g1
4, It is a school-based evaluation. / I8 U foeneg-sefed W%I

Correct Answer :-

- It involves more frequent tests and examinations. / Eﬂﬁ TR ULT&o 3R l3Iﬂ&I'I'Q gffera E?I?ﬁ %;I

34) Which of the following is not a scientific question? / fafafea A == mwﬁmﬁw uy q'éﬁ%’
1. What is the density of water? / Ut 1 O e 82

2. Why can we not see in the dark? / 89 3R H o} 7Y o9 epa &2

3. What is meant by a secular republic? / YHTFRU& 0 T T 31¢f 82

4. Why is the colour of sky blue? / 3TERTRT BT T e F4I 22

Correct Answer :-

« What is meant by a secular republic? / AR 0TS ST T 3 %7

35) A formal event where multiple experts deliver their speeches is known as WAL i YT SIgl T:h_é

Aoy oo WTEUT 34T, SO H S SR B
1. Laboratory / VRARTRITET

2. Symposium / TTGT

3. Exposition / U&gi1

4, Workshop /mﬁﬂ

Correct Answer :-

. Symposium / SIE!

36) What is the name of the satellite that was placed in the geostationary orbit specifically for increasing television-based education in

India? / 31 SUUE BT -TIH 1 &, o URa & Tehifaom-smurfya Rren & 9gr ¥ o fike = v @ yRifaw wan & w@r mr ar?
1. ERS2
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2. EDUSAT
3. TechEdSat
4, ATS-6

Correct Answer ;-

- EDUSAT

37) What is meant by intervarietal hybridisation? /
Sraxfafay wawor 1 a1 ard g &2
1. Crossing between different varieties of plants. /
et & Tl UepR & S eh=al BIRIT)
2. Crossing between different genera. /
o el o of T Tehvell (sPIRIT)
3. Crossing between genetically dissimilar plants. /
ST W @ fifer dveli 3 dter e @RI
4, Crossing between two different species of the same genus. /
T €199 & <1 3 veifadl & o Shval @i
cﬁrrect Answer :- . .

+ Crossing between different varieties of plants. /

el & faftr wepR & S Y (IR

38) Assessment standards are required to provide effective science education for all. To assess teaching of science by science teachers in a

classroom, which of the following is NOT applicable? / w%mm ﬁiﬂ:l ﬁ]’&" Wﬂﬂ%%m 3TF AD Bt
qag?ﬁna’rcﬂ%la&nﬁﬁﬁﬁﬁrﬁmﬁ?ﬁ%ﬁr&maaﬂmﬂqaﬂﬁ%mmﬁﬁaﬁqmm
?

1. Parents’ view of the teacher. / f-E!T&IT:Fai ATa-fiar o1 ?@Tﬁml

2. Performance report of the students in the subject. / o o s B Hﬂ"‘?ﬁ fraré)

3. Students’ feedback on the teacher. / TR1&f® TR @I 1 Uidfha|

4. Other school’s opinion of the science teacher. / 3= fq2ITardi & fagm Rerd & IR 7 34|

Correct Answer :-

» Other school’s opinion of the science teacher. / 3 el @ foam Riere & IR § 9|

39) The factor that does not influence the formation of winds is: /

arg Formfon Y wyrfe 7 =3 aren s =

1. Presence of mountain ranges / Tad e 31 Fufedfar

2. Presence of seas and oceans / H'ﬂﬁ-'f IR AR &1 Jufyfa

3, Uneven heating of the atmosphere in different regions of the earth / Q“Eﬁ ¥ faftys 831 I ardTeRr &1 SEE 9ge
4, Rotation of the earth / E[&fi Eal QPT:I

Correct Answer :-

+ Presence of seas and oceans fﬂﬁﬂ Eirg HEMFR] & Iuffa

40) When a force of 1000N is applied on a particular surface the pressure acting on that surface is found to be 10 Pa, then the area of the
surface over which the force is applied is /

g faeft fau wag W 1000 g1 &1 o< WAl g & oY S Tag U T 9T gaTd 10 Pa T WiaT 8, W) g6 SI[WART Tdg BT S fEa

1.0.001 m?
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2. 1000 m?
3,100 m?
4,10 m?

Correct Answer ;-

- 100 m?

41) Four objects P, Q, R and S have the speeds 10m/s, 36km/h, 18km/h and 30m/s respectively. Which of the two objects have the same
speed? /

R a¥gail P, Q, R U4 S W1 fa ur: 10 /R, 36 fvriieer, 18ftdl/ver s 301t/ &1 f6=1 &t awgail &t nfa wAr 82
1.RandS/RTES
2.Pand R/PTIR
3.Pand Q/PUF Q
4.QandS/QUAS
Correct Answer :-

. PandQ/PTEQ

42) How many times the bob of the oscillating pendulum crosses the mean position in 20 oscillations?/
2rer tgem o afe fraet TR 20 et & ares fRufa &1 oR F=e 82

1. 10

2.20

3.40

4, 60

Correct Answer :-

. 40

43) A ball is dropped from a height of 100m. Find the time taken by it to reach the ground. (g = 10m/s2) /
oW i 100 W 5 Farg I PR ot ®1 T &7 it w0 ugad 7 e 99 @i (g = 10m/s2)

255

1
- 5v2s

3.20s

4. 255

Correct Answer :-

255

44) Amount of energy transferred from one trophic level to the nextis /
TF IS &R 9 1T 0ine &R WEAaRd S s AE gt e

1. 5%

2, 20%

3. 15%

4. 10%

Correct Answer :-

+ 10%

45)
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The acid present in Rancid butter /
forpa et waRem # SufRe e T @
1. Butyric acid / e i¥e e

2. Acetic acid H;fﬁlﬁfﬁ ST

3. Lactic acid / Afded o/

4. Formic acid / DITH® 3%

Correct Answer :-

+ Butyric acid / SIfc e Td

46) In an electric motor, the energy transformation is from: /

o Fagd virex &, grotf afadT e g 2

1. Magnetic energy into electrical energy / YF@BIT Soll 1 [aggd FHuil §
2. Mechanical energy into electrical energy / WW@&E@ Sl 7
3. Electrical energy into magnetic energy / ﬁﬁ'ﬁﬁ cikeal gﬁﬂﬁ'q el H

4. Electrical energy into mechanical energy / fagad el @1 Tif® Ful &

Correct Answer :-
« Electrical energy into mechanical energy / fagaa S @1 1if® Sal

47) CANCELLED

Thick layer of fat called blubber is found in: /

SMEY IS THT B HI U 379 Ut ol g
Whalefé?l
2. Polar bear / §dTd HIg],

3. Camel | &T
4, Shark | 9Td
Correct Answer !-

. Whale/®d

48) Which one of the features mentioned below about decomposers is not applicable to decomposers? /
TS AuHTSTen ot A B v A gedt Y W B ¥
1. They transfer energy to the next trophic level in the food chain. /

J RI 4G H ST TP edl TR IR Foe| SFNd #3d ¢l

2. They are also called as saprophytes or reducers /

T FeTild 1 TYPRD T gl el 21
3. Decomposers are also scavengers and they clean the earth, /
Sieee SHTse W gl § IR 3 gl 1 A Hd ¢
4. They help in recycling nutrients. /
3 iy YRl § Heg A 8
Correct Answef -

+ They transfer energy to the next trophic level in the food chain. /

& arey e B ST Ui dar 'R W S wimiaRd Hea 8

48) Which of the following is not a child-centred classroom? / T # & BH-W Srer-hid Fam 181 82
1. Teachers promote collaboration in learning / fR1efer HTTH F TSR &l §e1dl od gl
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2. The teacher is a facilitator instead of an instructor / RI&® U WIS & Fug U TH-GIP ¢
3. The teacher decides content, instruction method and assessments / fRrere Q:Im?ﬂ, ﬁéﬂl fafd 3R anmepa w1 Fvfa exar %I

4, The students have a choice to pick assignments and decide assessment criteria / BEI & UMY SIS ﬂqﬁ AR HAip
TGS T A &1 fasey 3

Correct Answer :-

. The teacher decides content, instruction method and assessments / [7&f@ Y, frder fafy 3R 3e o1 Fufg ear %I

50) Which of the following wastes is not bio degradable? /
frrafrf@a & @ wi9-a1 srufne Sta g a1 S srawfia =8 82
1. Vegetable peel / wiewdl & fsads

2. Milk sachets / g4 & 92

3. Cow dung / T &1 TR

4, News paper [ 3gdlY

Correct Answer :-

« Milk sachets / g% & Tdc

51) which of the following learning approach is considered to be a derivative of the Ausubelian approach? / P A s ar

R efRwtor, shgaferas ef¥@ior o1 sgeus AT ST 82
1. Experiential learning / 3HaT&® 3{ETH

2. Collaborative learning approach .’EB'Q}I"TW T %f@fﬁl'ﬂT
3. Analogy strategy / HIERY BB

4, Concept mapping / ARG IEE |

Correct Answer ;-

. Concept mapping / RIGI A=

52) Which of the following can help the students to learn science through kinesthetic movements? / frafefea # & @9 ol &
iadY fpanaif & areaw @ Ry dhe? A 9eg o gpar &2

1. Written test / ferf@d oiefm
2. Debate / ATe-adIg

3. Drama / Fllc&

4. Quiz / THRT

Correct Answer -

« Drama/-I<P

53) If an object is kept in between the principal focus and the centre of curvature of a concave mirror, then the nature of the image will
be: /

it feft oy ) g Biew ok argae oior & amar & S H v o 8, @ ofF 3 wefa dhft
1. Real, enlarged and inverted / II(ae, 3if¥afiia td It

2. virtual, diminished and erect / HTHTH!, Hefyd ud et

3. Real, diminished and inverted / GRifde, Hepfid Ud Ied

4. Real, diminished and erect/ arafdes, Tpfaa ud Hid

Correct Answer :-

. Real, enlarged and inverted / aRaa®, 3fiaid wd I
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54) People of different age groups need different amount of sleep. Who among the following needs more sleep? /
fafirs omg et & it 1 sre-srem A # Aig # sravgewa gt @1 Frafifa § & f5d i o wad st s R @2
1. Child / &=l

2. Infant / 2Ig

3, Man /&Y

4. Woman / Higal

Correct Answer :-

« Infant fﬁl"{[,

55) The force of 100N is acting normally on a surface of 2.5 m2, The pressure acting on that surface is: /
2.5 m2 &} Us WA W AHIE: 100 N BT T eRIE1 1T €1 Wag W O aTal gard g

1,400 Njm?

2.40 Njm?

3.4 N/m?

4, 250 N/m?

Correct Answer :-

+ 40 Nfm?

56) A teacher is trying to nurture an aesthetic sense in his students, he should encourage them to: / o e 3 B

# wieaity BT A0 $IA 3 BRI B 6T 3, I I Wieanied ST Ay o5
1. Investigate ideas / faaR| &1 o B

2. Development of models of inquiry / &g CACIGEIE] (HT?:FI) CARCEAR IR

3. Observe phenomenon keenly / Wﬁ?ﬂiﬁ'[ ] 2|

4. Frame questions / AUy TR B

Correct Answer :-

« Observe phenomenon keenly / HeT I B bl HCH|

57) Which of the following would not promote active discussion? / Fafafea & 9 o9 afra =i ot deldl EHEUIE

1. Selecting topics from upcoming tests. / ST TieroT ¥ fawal &1 T HAT

2. Summarizing ideas with the help of learners at the end of a discussion. /Hﬂfai Wﬁﬁmﬁmﬁmﬂﬁ
AR &1

3. Acknowledging learners for responses. / vifdferar & forg Rienfidl &1 WeR Sl

4. Encouraging questions as well as responses to each other’s questions. / 4Tl 1 Wicled $H1 Td 1Y ﬁww & Ui BT
SaTd ol

Correct Answer :-

« Selecting topics from upcoming tests. / ST URTeroT ¥ fawdl &1 9u B

58) Which of the following statements is false with respect to scientific theories? / a1 Rigial & oy & fAafaf@a d
Y B 1 YA TAd 82

1. A theory must be tested with rigour. / U RIGId &1 Tgdl & T1Y YRI&0T fbam S =1fgal

2. Theories must follow observations. / RIGIdl &1 D&t &1 ra S =nfeul

3. Theories may be expressed as an equation. / RIGidl & U YHIH0 & &4 H Zad a1 off el gl

4, Predictions of theories must be reproducible. / Rl &1 wiawrarRl saea &9 d Wm:ﬂ'q ERELRY
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Correct Answer :-

« Theories must follow observations. / YTl o) H&fUT ST UTei BT 91zl

59) A scientific theory cannot be expected to: / T aﬂﬁﬂ?ﬁ@ﬂﬁ 3T&T T-Iﬁffﬂ' T "l P -
1. Predict all outcomes / FHT TRUTHI &7 ﬂﬂfﬂﬂﬂ AR |

2. Resist falsification / SEH0T HT [ FHX |

3. Receive questioning / vl Y U BRI

4, Change with time /TG & 1Y 95|

Correct Answer :-

. Predict all outcomes / G GRUITH} &7 ﬂjfﬂ'ﬁlﬂ qR

60) Overuse of chemical fertilisers in agriculture makes the soli acidic and the land infertile. What substance is generally added to the soil to
neutralize this effect? /

Py Irafe St & sifa v A ArdY srefia @t @ aum yfit ueTs 8 9Tl 8 | 39 wuTa $Y F3RR 4 & e wnr=r: i
uerd @1 firgh A Rremar s 82

1. NaOH

2. Mg(OH),
3. Na,CO5
4. CaO

Correct Answer :-

« CaO
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PROFESSIONAL
¢ Professiond EXAMINATION BOARD
@bgécmnqtfon Middle School Teacher
Eligibility Test - 2018
20th Feb 2019 09:30AM

Topic:- Child Development & Pedagogy (CDP)

1) The hyperkinetic disorder is characterized by all of the following, except: / Fﬁmﬁﬂ?

R 3t faua Fafafeq & 9§ 59 seor Ivad &
1. Distractibility / TS faaferct

2. Hyperactivity / ffaafeaar

3. Hallucinations / FfcTyH

4. Impulsivity / SO Ifad

Correct Answer :-

« Hallucinations / AfdYH

2) Teachers must constantly deal with changing standards and

teaching profession. /ﬁT&ﬁﬁﬂﬁ Rreor sggarg | me 3R
& 1Y St BT AT

1. Syllabus / GT3Y-fdaRor

2. Curriculum /q'l"o'ilﬂ"':lf

3. Assessment / 3{Tha

4. Exam system / Y& HoTTet

Correct Answer :-

« Curriculum / ureaaaf

3) Piaget believed that language develops in a child as a result of: / s sramaT U fe
= ¥ Yty &7 faer, e & aRumrasu ghar &:

1. Cognitive development / IITHD EEQES
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2. Egocentric development / A ad fabra
3. Behavioural development / HIERTHAD [AHg
4, Environmental development /EITITETUﬂ?IﬁHTm

Correct Answer :-

« Cognitive development / TS faer

4) Mary is very outgoing. She is an exceptional Bharatanatyam dancer but does not score well
in her academics. Which of the teaching method will give more productive results for Mary? /

¥ aga At 81 98 vo STURYT WRaATeTH TdW! 8 Afp a8 Rign # Hatwe® o
51 urdt 8 | 7Y & fore o= <t Raror faftr siftres ey ghfie

1. Excursions /HHUT T e

2. Brainstorming methods /mﬁfﬂ

3. Grade acceleration /ﬂg@

4, Individualized instructions / %ﬁﬁaﬂﬁr&m

Correct Answer :-

« Excursions /HITUTQTG'HThE

5) The occurrence of is an indication of stagnation in the learning process. /

P e, ity Y ufean § fRRar o1 e G 2
1. Motivation / S{fYTROT

2. Plateau / fRRI® (@iel)

3, Progression / WA

4. Curve / 9% (F9)

Correct Answer :-

. Plateau / RRI® ([ﬁﬂ)

6) What is the main objective of teaching in inclusive classrooms? / TRt SHEmed | ugH
&1 Y31 IERT FT 87

1. Preparing students for job/ B B AL P 1T IR AT
2. Preparing students to pass the examination / BT DI URI&T U B B fag TR AT
3. Developing thinking power of students / B B feid Xfdd oI faH™ BT

4, Providing notes to students / STl &I Al Xl HalHd bl
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Correct Answer :-

« Developing thinking power of students / BT I (e fad &1 g™ BT

7) Development does not include changes that happen due to: ACCaLE: | %uﬁaﬂﬂwﬁrﬁﬁﬂﬁ
B o e F FRUTE §

1. Illness / SR

2. Learning / ST

3. Maturation / GRUGl
4. Aging / gl

Correct Answer :-

o Tllness / START

8) The key agent in Erikson’s Psychosocial stage of “Autonomy versus shame and doubt” is /

“TGTIRIAT §TH X4 3R Heg” (TS HTH! a8 WA US BT3¢) & TR & HAIGHING IR0 H
TIEUCH ¢ -

1. Primary caregiver / IR Yghe
2. Family / uRaRr

3. Parents / rar-foar

4. Teachers and peers / fRrerep iR Tt

Correct Answer :-

« Parents / ATal-UaT

9) When a child breaks a vase, his parents explain that this was wrong and tell him that he will not
receive his pocket money for a week. What type of parenting is this? / STd b d=dT pelgl- ?ﬁ?:?lT
8, O I® graT-firdT §w3id ¢ 3 g erd o1 ok 39 9a1d § % ve g & fog 3
SIS g1 T | 98 f5d TSR &1 Ura=-uror g2

1. Behaviourist/ IAGRATG]
2. Authoritarian / STATGT
3. Authoritative / BEIIRET

4. Permissive / Hﬂmﬁ

Correct Answer :-

« Authoritative / TTIBIRE
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10) Children with Autism are: / TIeN-IdT (3TfevH) A difgaT= gla &
1. Unable to make eye contact with others. / QFI?-I‘ & 1Y 3G T YU Hed A argaef
2. Unable to move about comfortably. / 3IRTH J ‘aj:le[ T argeef

3. Unable to fall asleep. /e ey
4. Unable to follow instructions. / ISR &1 UTei &3 § 3rqaef

Correct Answer :-

« Unable to make eye contact with others. / §¥I§.| & 1Y 3G TGP Hed o argaef

11) During stage of cognitive development, children acquire knowledge through
manipulating objects. / ST [AHN & ATTT & SR, T TGl | BIWR FIS
I U $ed 51

1. formal operational stage/ NI HfehuTed TR
2. sensorimotor stage / HERIHIER =T
3. concrete operational stage / @ﬂﬁﬂm STaxT

4. preoperational stage / Jd TfhaTd® SR

Correct Answer :-
« sensorimotor stage / HERIHIER SR

12) One way of minimizing the effects of diversity is to allow the children to: / fafaear & yua &
FH I BT TP aslD] gal B =1 B Srgafa T R:

1. Win over each other/ W—@:{ TR ofid B'Iﬁlﬁ B DI

2. Operate in separate groups/ SICT-3{cT ﬂ&@f T B HH DI

3. Start small communities of their own/3{0" W4 & Bl W@ Gl L= P P
4. Socialize with each other/ W—Eﬁﬁ' & 1Y A a'c.rﬁ @t

Correct Answer :-

« Socialize with each other/ @-gﬂ% & 1Y A Wlﬁ @t

13) According to Ivan Pavlov’s idea of Classical Conditioning, a particular natural response to a
stimulus becomes a conditioned response to another associated stimulus. Which one of the following

examples satisfies that theory?/ §aT- UTGAId & FATD T DI P [TIR & AR, TH
o1 & fore ue faiy wipfaes ufafiear g das SaoT & fore v w=r wfafshar o St
81 FufarEa & & 319 971 3Tl 39 Risid & 6ge HaT1 82

1. Children responding to the bell at school to indicate recess and associating it to happiness./ [CEIGEE]

° TO BT I IAHTY BT Tobd JHA & IR I =M & Wy Asd g1
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2. Children maintaining silence when the teacher raises her hand/ GWQTW BIY oIl % o ﬁéfqﬂ:ﬁ
LG B |

3. Children expecting to receive medals by the end of a race/ ?IE% 3id TP Uad U HA D1 SHIG
G AT = |

4. Children getting star stickers for the right answers asked in class./ &I | @ U a1 3R & [y ®R
fReehR YTt 3 arel = |

Correct Answer :-

« Children responding to the bell at school to indicate recess and associating it to happiness./ ICEIGEE:]

°E) T DI I SAHIY BT Mhd THIAd ¢ SR I GeM & 91y Sigd g

14) According to Cognitivism, learning is defined as a change in the learners’

AIFATHSDAIG & AR, AR B Rramdfd ﬁw%mﬁuﬁmﬁaﬁw
ST gl

1. Behaviour / dgIR

2. Schemata/ Hdog @ﬂﬂm)
3. Mindset / AR

4. Morals / -ifdd

Correct Answer :-

« Schemata/ Had @'FI'IE'I)

15) According to Bingham, what does an aptitude test disclose? Aciekg SR, \?rlﬁ-IQﬁl'q'\Pf&I'UT
< &1 qa1 Tl 87

1. The tendencies and capacities inherent in the individual's original constitution./ fad & Hel WdHIg i fAfga

&S 3R ygfrat
2. The achievement in different dispositions./ fafts m Iradr § Iuafsd

3. The readiness to acquire proficiency and exercise ability./ T 3R 31T R &I d=dl

4. The strength of the different dispositions./ fafis 3@1&@ Tl Bt ar

Correct Answer :-

« The readiness to acquire proficiency and exercise ability./ T 3R 31T HRA 1 d=a|

16) A child was taught to be afraid of cobras. Now, he is afraid of all snakes. What learning principle

is evident here? / U = ) PIERT I ST FRIRGTAT 747 AT 374, I8 I A0 & ST 8 | I8l B
|1 AR Rrgia @y 82

1. Reinforcement / QT'IE{FFT

2. Spontaneous recovery / ¥dd: QFR'Iﬁ?ﬁ
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3. Stimulus generalization / Fe TS EIHT
4. Stimulus discrimination / J&IUe fancieur

Correct Answer :-

« Stimulus generalization / &0 THTAIHRT

17) Carl Jung’s approach for a personality assessment is:/ TfakTed B & [eTT BTl T BT

1 Judging/ﬁmﬁﬂ

2. Perception /Fde
3. Structured / AR
4, Projective / gadE

Correct Answer :-

« Projective / UAURT

18) Which of the following is the term used to denote inborn patterns of behavior that are

biologically determined? / wifde =u 3 ﬁiﬁhﬁ Hdgl} & SIS Ue] Dl a'ﬂ'ﬁ G ﬁi’[{
Frafafea & 9 fvw 2reg o1 3uah faar s g2

1. Arousal / SIS (TRI3TA)

2. Drives / H<IHIG (ST509)

3. Instincts / H?fﬂ@ﬁl’q\f (31@?13)
4, Incentives / TAIHT (mﬁaﬁ)

Correct Answer :-

« Instincts / HEVIREl GReTe)

19) Which of the following is not a part of the process of memory? /Fafafeada aﬁﬂmﬂﬁf ot
yfshar &1 fowar 181 82

1. Storing information /BRI m PIAT
2. Encoding information / BRI BT b0l Bl

3. Acting on information / =T U BT HAT

4. Retrieving information / SIECARRCIINECRE]

Correct Answer :-

« Acting on information / AT U BT BT
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20) What substage of cognitive development is apparent when a baby learns to press the ‘play’
button on the iPad in order to play his favourite nursery rhyme? / HTTH® forr ot o=
SU-SERIT WY BI1 §, SId TP T 30 Widier 78 fdar ¢um ¥ R aE-ds
@ ge garHT Jiaar 82

1. Coordination of secondary schemes / e droH13 BT 9H-ag
2. Primary circular reactions it qudlh R ufafeamg

3. Secondary circular reactions / Heate qulhiR IGIEI

4, Tertiary circular reactions lm ESIEZN ufafeang

Correct Answer :-

+ Coordination of secondary schemes AT sl &1 aHad

21) What age is a child the most impressionable? / foa 31y BT =T Had Tl m-n‘mﬁ‘eﬂm%‘*
1. 14 to 18 years / 14 ¥ 18 T

2.2to 8years /29 8ay

3.9to 12 years /99 12 9§

4,6t l4years;’6@ 14 99

Correct Answer :-

« 6t0 14year33‘6% 1499

22) CCEisundertaken /RIS s fHarwmargl
1. Four times a year / Qav_aﬁﬁﬁ'l? IR

2. Throughout the year / i R A

3. Periodically / JHI-JHY U

4. Twice a year / U a4 H g1 IR

Correct Answer :-

« Throughout the year / CLRITEE|

23) Questioning in the classroom : / PE&IT o Uy BT
1. Develops inactivity / fAfspadr fawRid Har %l
2. Clarifies subject matter / TdUT %7 P TF HAT 5|
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3. Creates indiscipline / 3[RIRITg-Tdl UG HRdl B
4, Is a waste of time / JHI Bl aﬁh"r %l

Correct Answer :-

« Clarifies subject matter / IELE q¥g Ga Y DHdl %I

24) Needs which grow stronger when unsatisfied are called: IW Eo'-'\ﬁ W WB}% arett
ATIIHATY =1 Hgard §:

1. Deficiency needs / U TR A

2. Primary needs / T SReRd

3. Growth needs / 3G SEvd

4, Being needs / TARIH Sl
Correct Answer :-
« Deficiency needs / U TTRA

25) Who proposed the theory of observational learning? /verotr iftnma &1 Rrgia fFas
Tgd foar?

1. Ivan Pavlov / $aT9 UTdQ@Id
2, B.F. Skinner / 1.3%. flpR
3. Aaron Beck / 3R §b

4. Albert Bandura / ST

Correct Answer :-

« Albert Bandura / SR

26) A scoring guide use to evaluate the quality of students is called: / BEl B
gmmqwﬁmmﬁ%ﬁmaﬁwaﬁaﬁmwﬁﬁﬁﬂmﬁmm

1. Checklist / IPpiee
2. Rubrics / & Ieiad
3. Rating scales / 3T Wheq

4. Inventories / 39dfcH

Correct Answer :-
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. Inventories / S7af¢H

27) Both pleasant and unpleasant feelings are associated with WA LCH

3R 31T =T HTITS A ISl Bl
1. Double approach — avoidance conflict / fg @0 - ufer e
2. Avoidance - avoidance conflict / Uﬂ?l'{ - uﬁ‘sﬂmﬁ

3. Approach — approach conflict / TP - TR TEY
4. Approach — avoidance conflict / PP - URER Ty

Correct Answer :-

- Approach — avoidance conflict / DI - URER gy

28) Authentic Assessment is a form of assessment in which: / UTHIOTS Sfiha fTHa-
B TP ©7 ¢ o

1. Students are asked to perform real-world tasks that demonstrate meaningful application of

essential knowledge and skills. /Wﬁﬁﬁ%ﬁ%ﬁﬁaﬂﬁ%mwm%
ST AT FT SR BT &b T SN B! Uefdfd Hd §

2. Students results are compared to hypothetical average student / EJF|| %Wﬁw
SIS NTd B Y B Sl &

3. Student performance is measured against a fixed set of predetermined criteria or learning standards

/ BT & USH F gd FuUia AMcs! a1 Wen $ AHs! & TP R I & R{odia qr s @

4. Teacher determines students' individual strengths, weaknesses, knowledge, and skills prior to

instruction /ﬁlw S| &I TfaaTTd W, mﬁﬁ,aﬁeﬁ?ﬁwﬁaﬁmﬁuﬁﬁ
FufRa®ars

Correct Answer :-

« Students are asked to perform real-world tasks that demonstrate meaningful application of

essential knowledge and skills. / PG ARIESIEED gﬁm%aﬁfﬁmﬁ%ﬁwm%
Sl AT FH SR BRI & s SN & Ueifd Hd §

29) CANCELLED
Classical gestalt theory was put forth by: / FATRIS o TIRCTee RIgid 9 §RT UNd T T4 A

1. Thorndike | UTHSISH
2. Kohler / EF-E?‘IT
3. Piaget / U
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4. Pavlov / UTdAId

Correct Answer :-

30) Which of the following factors influences a child's success and failure in school performance

éﬁaﬁ-@ﬁﬁﬁaﬁq-mwﬁam%wahﬁaéaﬁwsﬁ?maﬁmnﬁam

1. Parental education background / HTCTI-fUdT o RI& Bt qg‘l;l'\&l

2. Physical strength of child / T & ARING II\_schﬂ'

3. Teachers contribution in learning process / &@Tm qraﬁ_“:" 'Ef fﬁT&ﬁﬁ aﬂw
4. Social Influence on child's learning / TP AR R JHEING THE

Correct Answer :-

« Teachers contribution in learning process / Siferm ufepar o Rre/! &1 AN

Topic:- General Sanskrit(L1GS)

Y Jeeree T gTd: & 7

Za‘iql
_a |
A |

2) P
HEGETH $cITT HiewTaesse Fed |
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37T A |
3178 ST |
 31fer srEa |
4ﬁﬂﬁﬁ|

Correct Answer :-

318 37 |

Y HIIAINH $cIEd Ui, gUF qUE forEd |

o

AN A ANIGAAIATAA

1

CHT A Y AT H

S 3 A 31 o 3 9 3L 37 HA

3.

ST 3 o a7 T |
4,
Correct Answer :-

ST 9 A 3T o 3 A LA A

Y o scaeg afeen: &: 2

TaUTeIe: |

L
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 TTedIGe: |
quT |

3. ~
d[0T: |

4. =2

Correct Answer :-

quT |

' oy Y FETT U R |
W%Waﬁalﬁ: |

s

ITSCUTIRGPIATANTIRITH |

5

2

ST AIRIG APl T, |

3
3TSTUATRIG AR [T |
4,

Correct Answer :-
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chddad: |
3. [

et |
4.

Correct Answer :-

" scgrenT e fEr & ifeg 2
qus{h: |

1. =2

SIS |

I |

3.

, PRIT: |

2

Correct Answer :-

8)

HOUCTH UAseed 37: &t ?

AcHdhcaH |

HoEdlHcaH |

qoUTdehcdd |

, HOANEd<TH |
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Correct Answer :-

HOEdHcaH |

4,
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Y grafdafa st o otead |

1 qgdrgerdr|
ECIERIC
3 - .Qrﬁ: |

Usaraelid: |
4,
Correct Answer.:-

BRECICHIGE

g eeednEr @ faeted: TIead ?
1.al?ﬁ—__’ra‘i‘fl
z.qﬁnﬂl
_ fder |
A ad

Correct Answer :-
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4 7 I

Correct Answer :-

7.

TIHRT: |
3.

TR |
4,

Correct Answer :-

'FITT?IWI

* RIed scaey [Qusaed R 2
feem 3ed |
1.

feer: 3d |
2.
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3 'Iractg 31ra |

) feer 3ea |

Correct Answer :-

TAATAH |

1

doHHAH |
23 =

_ TcATH |

, AT |

Correct Answer :-

17)

Jeod scaey Hfavcnreey e 2
_ afeesad |

_ dogdld_ |

_m |

- doq |

Page- 17



Correct Answer :-

. afecsad |

18)

3T oIY UcdATcHSh: he 7
) eamg |

, AT |

N Il |

Riasa

Correct Answer :-

* forore: s ueEs Hel®d s ?
RCErE
eI
\ oo |
, oo |

Correct Answer :-

GELe
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“ O a7 Fear v T R 2
A |

_gTedT |

adr |

, i |

Correct Answer :-

i |

21)
JITass: hEdT: g ?

dTHATShET |

1

CIREE
|

2.

3 JHACTET |

4_aﬁm|

Correct Answer :-

araseEd |
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HEHATHIHA |
" o -

2

3 | ""l

ATCTRTHIH |

4

Correct Answer :-

HoUHATHIT: |

4

Correct Answer :-

HoUHATHIAT: |

* v.g sfa guer 36Ty OET |

SSCUSHRIGAH TG |

L

YU ARIGeNATAdGH |

2.
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“igq}dlﬂlggtd{{'l‘-‘dmdﬁﬂ |

3.

FCUARIGCALHTAdGTH |

9.

Correct Answer :-

RS ECINEIS IR EICTE i

1

 AGaT #T |
_ HARar o |

HATdar #q |

4

Correct Answer :-

_ AlGar &7d |

26)

3TF-LTan: oﬁc.-dcda-lgbui-qsuwl{«d fheT ?
o e 0 oy
3rarfeT |
A

3&Ed |
5 e

3. I

Page- 21



, e |

Correct Answer :-

37 |

27) ;
EOd 5380 9Igae fhH ?
378, |

I

3 |

JAEd |
_ )

3

Hodd |
i s

4

Correct Answer :-
3&d |
. Mo

28)

'\'flj?\'%clo-!'tlé'n HEAYL: |

1. “ |

. ACTHGNIAET |

3 THISTET |

4Oaﬂﬂ@aﬂ€a|

Correct Answer :-
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1

) gorH |

| FJETH |
4.3FI?ETI

Correct Answer :-

gUH |
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Topic:- General Hindi(L2GH)

1) dted 3 did ue, wm geA el

g Haafy ¥4 W), Tay udt gUTd i |

Fed Acd g fasra frea Raa afemara)

W U A Fvd § A9 & w9 Tl

ST U= Y TP - U T UY BT IR Ia153:
U - WHTA BT afaardt S ar 78 82

1. Fr=m

2. 3FUNEY

3. 4%
4, GaRT

Correct Answer :-

2) gd 3ie dia ve, | T |

HAG Aaul 9d W, AT WAt GHTE | |

Fgd Aed g g fraa feea aftrama)

WU A Fa & g A wa Il

SUYa Ui B UgHR 12 YD 7T ¥y T IR ga1gd:
TR - <3y BT 3 T |2

1. A

2.

3. 3%

4. 44

Correct Answer :-

3) Wed e fa e, | Fa |
g A d W, AT WA YHT 1 |
Fgd AAcd H3ra faga faaq fewa aferaral
WHAA P g I ST waaall
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SUYed U= Bl UgHR - IR 71T WY HT 3R qarsd:

- BE...... AT & TS It it AP 82
1. 3fiff1ep

2. 578 Y B Tel

3. i

4. TSI

Correct Answer :-

4) Higd 3¢ §ia ue, T\ waE d|

HIE A A W, ATTT WA YHT 1 |

Fed cd 9 e fHad faea aform|
WUTHFa g g aa

Iudad U= Bl UgH 1 YD T UY HT I JaIsd:
- Ud U ® ATS-ATST $4 aTd Hed 82
1.1y

2. 3G G

3.8 9

4. BT

Correct Answer :-

o

o S gRI

5) diga 3iie dia ue, ™ g |

g i S UR, TTY WA YTl |

gd Aed 3 fegra firera e aforara

WU AT g g A wa I

UG Ui B UGHR A1 I T WY BT IR ga1g3:

U=A- @gﬁaﬁ%tﬂﬂﬁ,mwﬁﬁmlmg:ﬂwﬁﬁaw,amqﬁmwﬁaﬁ?m
AAPRE ?

1, UHT
2. TUSH
3. IET
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4. Y

Correct Answer :-

6) Jgd 3N fia e, T Ta Ma|

g oAl A9 W, ST TR WHT ||

Fed "cd A3 Raga e feaa afermal
WHAA I g g S g arall

SUYeER TR PI TGP -4 IO T UH BT IR T84
U - T’ e BT A F1 82

1. IR BT

2, ST BT

3. 59d TGl

4. @I BT

Correct Answer ;-

. BRI

7) Sigd ite i ue, RmH Fa- Ml

g A 9d W, SITaTY TR WHT | |

Fgd "Acd Aera f&rd frea e afemrda)
WU A Fa § g g aa

SUYed UEi%T B UgHR 1H I T WY BT IR qa133:
W= - FreT § & B 2 31 vafaar 8 82
1. UKR

2. &R

3. fRrem

4.3%

Correct Answer :-

8) digd 3¢ Wid ue, W™ oA Wd|
nﬂg”ﬁaﬂﬁﬁa_w,&m@mu
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$gd Acd g fagd fHea feda afsmma)

WRUWTF A a g g aaaan

UG T B UGHR I T T Y BT S FAFA:
WS - TRl Ui fr ove A 82

1.8

2. Q5T

3. puUsSiear
4, Hiadr

Correct Answer :-

9) dHigd 3ile did ue, WrH |- |

7g eafy 9 W, a7 WA guTdi |

Hgd Hed dera R fraa R afmra)

WU A A § I T Ta ardil

SUY e U= Bl UgHR +1d Y 1Y WY BT I Fa1gd:
W= - e 82

1.%d

2.d

3. 7dd

4. 38

10) Wed 3ie Gid e, W e d|

7E fraufy I9 W, a9 W gyl |

Fed Jed fgr g fraa e afmm|

W U H pea § g S I Il

SIuded URIi=T Bl UgHR - YD U UY BT I aa1sd:

U - ‘BE....... Ao # fagRt 3 fpart frare &1 avf= fear &2
1. dR

2. 941d
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3. 8l

4, 9

Correct Answer :-

11) Teq 3N Mia Ue, W &= TE|

g A A W, T WA YHTd 1|

Fed Aed g e e feea aimm|

WU A Bra g g S aa i

IUYSd URIIRI BT U@ -1 TR T UY BT IR Jarsd:

UL -39 o8 A Bfa A w1 F v wu o velRfa fear g2
1. 7R

2. T8 A HIE a8l

3. iR

4, BTA

Correct Answer :-

12) Higd e Wid ue, @™ 9a- 14 |

g Hiawt~ A9 W), 19 U=Rat gHTdl |

Fgd ed Sed g fea e afmm)

W U A H & AT 8 wa il

ST UL Pl TGP 714 I TTC UH BT SR qa18:
U= - FT A 5 T & ava yror foed g2

1, dier

2. DIl

3, Sfer

4. dd

Correct Answer :-

13) ¥igd 3¢ Wia e, W gaq Tl
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g Al A W, 3Ta9 IR WHT 1 |

Hgd Icd S g fea e aforamal

WU A a g g gt aa e

U URIIRI BT UGHT 1A TR T UY BT IR FadTed:

TR - P & Figd TR TR UG 9 T a%d H97 Uelid 8 38T 82
1. Gd GRoT o

2. §TH A b1 Tl

3. A1 UBTS TR Yag oI fhxul

4. Td TeX Pl gordd

Correct Answer :-
« a0 UgTS W Ya§ $i [l

14) ired 3itg did ve, T wam i

g Al A9 W, TTY WA YHT 1 |

&ed Ted g fergra firea e afdraral

WU A HA ¢ T T Ta adll

U TR Bl UGHT -1 TR T UY BT IR Td13d:

U - AT d ARG A AdH S 91d S B Hgdl ¢ dl -

1. ATIGT Tl STt g1

2. AT A ST B

3. a1 gafdd gl 8 |

4. TG FAT R et |

e N
« 1T A1 FR el B
15) g4 3¢ Wid ue, T G- M|
g oAl 99 W, 3MMay WAt gHTd 1|
Fed -Ted Hera g e R afvmara)
W WA F3ad § g R aan
U U= Bl UgH -9 U T U BT STR gagd:
TR - BE...... I NI’ T BIH-T1 37 82
1. IR
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2. O
3. 3™
4, YR Y

Correct Answer :-

16) STSfad 3R g¥R UTa=T Ul | g A9 & U War &1 Ronsh fAerdr 81 3T 3RTel! 10 a=&w ATl
AfBT 3RT 7 TP I§ & D | TG a1 g1 ag TR {6 3y Rigwt W= Ad W | TS RO TH ST
F1 AT I§ & AW A TP IR TS 9rd Tl ToRT| 7§ A SU GPRd §U Hel- 'g¥ &l &l e P’ §xTH
T FIl B TG TS W4T 81 $ A ST GopR JIBR a1 foar- 1 # gt weif A Fwn §, 7 g 3wt
THE & 9 g1 | 991 aTe Had! °f Uh ¢l 21

wE | W o

@ & 9ot A=

e fPam a1 8,

FA D ugEEI

7€ A 99 T a1a G 3R g & ggd 9 <0 ¥ | HeTHRa § RIfBR T o ofd @ Ary fruTar TR eimar
2, 78 W vdioTeIe T U H U HT 8 UTI WS 1Y BISA T df $ad 98t 371 Thia B id $HT 8T AT

U TR F1 UgHR H1Y U9 T U BT SR Jaigd:
TR - ‘AHa 91 8?

1. X

2, ST BT A

3. UG YEd 9

4, 3RE G

Correct Answer :-

17) aisfaa 3R guR e vl § g AW & U Tnar &1 forss frear 81 37T Sryell 918 axew Tl
AP 3RT A ITH g & a®a A a1 fhar 71 98 safen fF oy Rigiht wR A9 7| 3901 FRU TE St
F1 YT ¢ & A | TP aR U 910d Gl ToRT| I8 A SH geRd §U Hel- ‘gR &l o Tie, I’ §wad
H il B TwaT T STd1 8 | T A SAD! gebR YADY 414 (¢dT- ' & Ut Tolt & H1 §, 1 g9 MU=
UG & S 81§19 aTen gad! @l v g 2l

ugt & wel e

@t & |t i
frad fram aiA g,
EE R EEIET

7§ A 99 ¥ 91a Gt 3R g 8 gEd 99 Ad I8 | WeTHRG | IRIBR F1 S ofd a9 ArY fuTar Ao smar
2, 98 W TdeTH® U § TP ST €1 UTI UG WY BISA T aF Hae I8t 37F Thid &Y Wi BT TaT UT|
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UG TR F UgHY Y T T Y FT IR IaIgd:
TR - AR WG PT I © —

1. 9

2. gfer

3.7
4, d=I

Correct Answer ;-

18) aTgfae 3R geR ura+T Hul ® g A9 & TP ey &1 Roreh firerar 81 7 3RTei 10 a< T
AP 3RT A ITH! I8 F TP W UTG a1 ¥ I8 TARMT F 3y Right 1R I | 7B RO T T
T AT ﬁ%%ﬁﬁwmwmwﬂwlﬁﬂaﬁgmﬁ%qm-‘gw’tmﬂ%ﬁr ERp
A il B TN THST ST € 1 P A IS GPR GADR ward feur- 7 F 3t woff @ pn §, 7 gw ot
UHG & $9M Bl 991 aTen 99! a TP gl gl

wel & wet e

@ & ait =)

foad fPam i g,

&9 8 ugarI

e 3 99 & ara T 3R g B ed a9 9 T | HeTyRa ¥ giufdR T oY ofd ae Ary fruTar AR eimar
2, 78 M uftoTere ¥u A te $T 81 4TI 99 9IY Bied T @) $ad 98l 3P THid B Wid L 8T 4T

ST TR B UgHR A1 T T UY BT I Ia154:
TR - ‘el | W e BT SRy 4 22

1. TTd o1 AISTaT G &) St 1

2. -3 W e S

3. iRt i A e o B

4, Ot w1 Ty 8 | Y 7 firet S 81

Correct Answer :-

o o) Qo g i B Y A iy ST 21

19) STsfad 3R gER UTa=T UUl ® I AT & TP WaR 1 Ronh fArerar 81 ST SRTel! 10 a=a AT
ARG 3RT A IS g & AHd | TG a1 81 a8 FHT 5 3y Rigwt wR A W | BT SR T SRSHT
$1 AT 5§ & AW | TP dR UH 91Gd G ToiRT| I8 A I R §T Hel- 'gR 8l o 7 i’ g&amd
T Fil B TG TUT 9TGT 81 F A IS PR AP 9aTd foar- 1 # gt weff F Fn §, 7 g oot
TS § SHH g | I aTe Jad! af T gl ' 1

wet A wgt ft

@t & aft A
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foud fra P 8,
& g1 ugaI |

98 A 919 U 9Td Gt SR gt 8t ged a@ d 39 | HETHRA B gIURR BT i 3id d |y fHruTer Ao imen
8, 78 Wt vdieTare ©0 ° Ue $T 8 UTI 99 1Y BISd T dF Had 98t Sk THid B Aid H 8T AT

SUYe TR S UeHR AIe IR T UY BT IR 9d154:
W= - "’ Xeg FT S FATE 2

1. QR

2. Th kil

3.qqfaq

4, S

Correct Answer :-

20) sr3fae ok gy T Ut # g AT & U Ve &1 sy fiieran 81 397 Srell A1 @%b ATl
AP 3RT A I g & aBa A a1g fhar 71 98 s [ oy Right R A9 7| 39S IR TH TS
1 UTI § & WA ¥ U9 9R U@ 91hd T ToRT| 8 3 SH gopRd §U Hel- ‘g 81 91 313 $al’ ey
H Pl B el G0 S1d1 g1 F A SAD! PR GASY waTd (Gal- " H U= 7ol d Ta1 §, 71 g4 (Ut
UiE | S 8| 991 aTen qae) dl ve g 8l

wgl & wgt fore

T & gt A=)

frad fPa 1A §,

&9 g ugar1I

T8 A 919 ¥ 97a T R g 8 ged 9 9 38| HeTyRa ® gRIR &1 S o a ary frutar e mar
2, 98 W Wit U § Te $T € A1 09 WY BISA Y df $Id Tt 3% TPHid B Wid B 8T AT|

ITYT TR P TSHY 1A TS T UY T IR Jarsd:
v - gt @l Aiffa s g FA § 2

1. SEAH

2. TRAR

3. TR

4, Srfed

Correct Answer :-

21) STSfaa 3R GO UTa Y § 98 AW & U e &1 forss et 81 ST Sryelt T a=as Tl
A 3RT A D! g F Thd A UTG a1 §1 98 TR & 3y Righ wR A W | 5751 HRU T it
$1 YT ¢ & WA | TP aR UH 9d $dl ToRT| 8 3 S gRd §U Hel- gR 8l o Tig il §¥amH
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o Hl B TG THST 94T 61 $ A IS PR B 9a1d foar- 71 & gt weif F =1 §, 1 g Sru=t
i | SHH g1 | S 9T W) of TP 8l g1

e | wgt

@t & it fmmm
frad fram B g,
&9 g wEEI|

¢ A 99 I 91a G 3R g B ed a9 U ¥ | HeTHRa § giufBR o1 o ofd @ Any fryTar AR simar
2, 78 W TdeTeH® U § TP HT €1 UTI G A1Y BISA T A Had T8 37 THid & Wi B TaT UT|

UG TR F1 U -i1d U 7T Y $T I Iagd:
= - GRURR & Twia &) S i H QT AR

1. fave

2, [refl-foa

3. SIFER

4, GOR

Correct Answer :-

22) STafae iR g UTas Ul ¥ g 70 & U Wiex &1 o1 fear 81 ST Srelt T axas Ut
AP 3RT A I I8 F THI W UTG AT 81 I8 TANT & 3y Right 4R I | 37BT PRI T Tt
FIT AT as%amﬁﬁwmwwwwlagﬁaﬁwnﬁ%qﬁﬂ- ‘R B AT TS Fr g
A il B TN AT ST R | P A IAD GHR GABR WaTd fur- 7 F 3ot woff @ e §, 7 gu ot
qHE | SHM &l g9 aTe 99! 9l TP gl gl

wel @ wet o

@ & [t A=)

foad fPam A g,

&9 8 ugEHI

7§ A 99 T 91a G 3R g B GEd 9% U T | HETHRG § IUfBR BT S ofd a% Ary FryTar TR Simar
?, 98 Wi uefioree ¥u o T $u 81 ATl 99 Y Bisa ¢ af $ad 98l 39 UHid B Wid D 6T T

I I Bl UgHs -1 T 7T UY HT IR 134

Correct Answer :-
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23) arsfya R g uras Ul # g 9 & U e &1 fores fraar 81 39T areft T awesw Tl
AP 3RT 7 37! g F TP W UTG U1 §1 98 TARMT F 3y Rt 1R I R | 3TBT FRUI T ST
T AT as%mmﬁﬁwmwmgﬁnmlasﬁa@gﬁnﬁ%qm—‘gs’tmﬂaﬁr ERe
A Pl B T5T TS AT 8 | $t A SAS] GebR GAD wiaTd fodT- = F g woff & Fr §, 7 qa 3o
T¥G & 9 811 9914 9131 99! |l U gl g1

gt & v Rt

& & a4t =)

s fPam eI §,

&4 8 wEar ||

98 A 99 A ard G 3R gl B ged 9@ 9 39 | HeTyRd ¥ gRIRAR &1 S ofd @y Hurar e smar
2, 78 M uftoTare ¥ A te Fr € 4TI 99 Y Bied T @ $ad 9gl 3% THid Bl Aid L 38T AT

SUY TN S UgHR A1 IS T UY BT I Ia154:
U - Hell Weg T 82

1. dad

2. fac=it

3. d8H

4, A

Correct Answer :-

24) arsfya iR g ura= U # 9 W & U e &1 fores firerar 81 ST Sreft T e Tl
AP 3RT A ITD! T P THd | I16 fHar §1 98 39w fF ey Rigdt 1’ a7 | 39T IR T sreft
F1 UT1 <I§ & A | U aR U 910d Sl IoRT| I8 - S g@Rd §U Hel- 'gR 8l o T $ul’ §¥ard
H ! B TwaT GHS 161 8 | T A SAD! g YADY oIdTd ¢T- ' & Uit wolt & H1 §, 7 gH MU=
¥ | U 8l | g9 aren JaH! af Th gl 1

wgl & Wl e

T & gt =)

forod fPaT PIA §,

FA B ugEEII

T8 7 919 T 97a T ok gt 8 ged 9@ U W | HETYR B gRIRR &1 S i 9% Ty fruTar o aimen
&, 95 W Tt ¥U § TP HT € U1 UG WY BISd Y A A Tt 3P Tpid B Wd B T AT|

IUT TR B TeHR A1E TS 7T UY BT IR 9d154:
U —Srsfaa wr g ?

1. HTfH® T~

2. ARSI
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3. SIS T
4, IWRd gt

Correct Answer :-

« THE T

25) TTEfaw iR g UTa Ul ¥ g W & Ue ey @1 forer firear 81 39T Srelt I awes ATl
Qe 3RE 7 ITH! g F TP W UTG (a1 §1 98 TR % oMy Right 1R I 31| T9&1 IR e woit
F1 YT 9§ & WA | TP dR T 910 Gl ToikT | I8 A S gebRd §T Hel- 'qR Bl off T Hol’ F¥aTH
T Fl DI T51 TUS AT B 1 $ A I@1 gopR YD wia1q 3qr- =1 & =it welf A F1 §, 7 g9 1ot
THE A SHM 8l | I 9T J9D! df Th g gl

g 3wl

@l & it fAmm)

il fpa A ¢,

&9 gl ugEHI1I

9 A 99 ¥ 97a Gt 3R g 8 gea 9o A9 ¥ | "eruRd J gRIMR $1 &Y o a9 |ry Aumar AeR aimar
2, 38 M udeT® T A U T 81 UTI T 1Y BISd 7T o Pad 961 3% Thid & td L 38T T

Iuded TR F1 UgHR Y U9 T Y HT IR a1z
U - 8 A T Bl ) GPRT ?
1, T STATH B Hil ! el GHS Sl 6 |

2. Fifeh il 38 bIe 8T T
3. Fifds G a7 T
4. it gl SeAT T

Correct Answer :-

. FfP 35H H Bl B e THST ST 6|

26) STsfa@ 3R g uras Udt & 95 919 & U Trer o1 s frer 81 39T st | a=e ATl
AP 3RT A ITH! I8 & dHa & g6 fbar §1 98 i i oy it wR 39 )| 391 FRUT T st
sl ﬁ%ﬂﬁﬁ@ﬁ@ﬂﬁﬁml%ﬁaﬁm?w- ‘R B TG Fr g
o Pl I =51 U ST 2 | P A SAD] GebR YD wiaTd fadl- = # Sra= wofl A 1§, = A 3u=i
TS A S E1 91 9T gy 9l U g gl

#gl @ wgl

@t & it fmm
e fram B g,
& g ugEI |

¢ A 99 & a1a G 3R g 8 ged 9 A ¥ | HeTHRa § giufRR 1 o ofd a@ Any fruTar AR simar
2, 8 W UfPTHS U TS ST &) UTI TG 1Y DS T A baet 81 3T Tebid Y id S 38T UT|

SUdad TR Fi UgHx 14 YD Y Y HT IR qa1gd:
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T - Y T b HIAE W o A T o &1 Ay far 82
1. SEATH DI

2. Y&al & TN Bl

3, A B

4, AR & THid b
Correct Answer :-

« AFEGRIA Bl

27) arsfye ok g ura= U ¥ 98 AW & Ue TnaR o1 forse firerar 81 ST Srelt = @ Tl
AT SR A Id! g P dHd | TG fHur §1 98 3R F oy Rigft w1 A 1| THST IR Th sl
$1 AT ¢ & WA | TP aR TS °91hd $ol ToRT| I8 3 S gRd §€ HEl- gR 8l ol Tig v’ §wamH
H Pl I 5T TH TG 1 Pt A SAD! GOR GAHR wiaTd folr- 7 F oo wolf & Far g, 7 qH oo
U¥E | SHH 811 I aTa §ad! af U gl gl

ngt & ul i

@ & qui frm

frud fFam FIA g,

&4 g ugaEI1I

T A 9 ¥ ard T 3R g B Ged 9% A 9| WETWRE § GRIRR 1 S o a9 Ay fuTar TerR emar
¢, 95 Wt udioTere ¥u A uw $ur €1 4Tl 99 9IY Bisd MU df $ad gl S9% UHid B Wid B 6T 4TI

SUT TR B UgH A1E ID 7T Y &7 Iux 9d153:
W - YRR Sfa: fad uRfora g smar g 2

1. AT H

2. PR T

3.9

4. fogt o

Correct Answer :=-

28) STSfaa iR g UTa= Ul H 9 A0 & TP TreR &1 forss firaar 81 ST areft 7 e Tl
AP 3RT A ! g F THd W UTg a1 §1 98 FARME & 3y Righ 1R A R | 3901 FRU U woft
F1 AT 98 & 9 A TP IR U °Urd $l ToRT| I A SU GopRd §¢ Hel- 'g¥ 8l ol 7ie sy
H Pl B TaT THT W11 g1 P A SAD! GHR GADR waTd feaT- *F H 3o 7l F F §, 7 gH Srust
U¥G ¥ 9 81| 9914 911 99! dl U gl g1

e § wel e
@t & gt A=
forad fraT B §,
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&9 g ugaHII

7§ A 919 3 91d Gt 3R g 8 ged 9@ Id ¥ | HeTHRG | IRITBR FT S ofd a9 ArY fruTar Ao ien
g, 98 Wi Ui o U ¥ Uw Gl €1 A1 Ud WY Bisd T df ad I8l 396 UHid &I /id B T AT

IUT TR B UgH? 1Y UD T UY BT IR 9d154:
U - 3R A 9P B! g 7m0 | a1g fpar 2

1. gy

2. ggal

3. TR

4.8

Correct Answer :-

29) ST3fye ok gk Ta Ut # g A9 F U YR &1 sk firedn & 1 ST Sryel AT a%eR U7l
AP 3RT A IAH! g & aPa A UTq fhar 81 95 s & 3my gt HR A 381 STDT DR TP ST
1 4T I & A A T aR U °91a9d a1 IoRT| I8 - 39 gebRd §U Hel- 'gR &l ol ¢ T’ F&
A Pl B T U TG & | Pt A S GbR YD wad fodT- 7 F 3o woff & Far §, 71 qd orwh
THE & SHH gl g9 a1e o) a Uh gl 811

g @ At

@l & gt fAEmE|

frad fFaT o 7,

&9 g ugaEII

76 9 99 I 91d G 3R g 1 GEd 9 I ¥e | HETHRG | rUTBR BT oI 3fd a@ A1y 11T TR Smar
2, 78 WM ydieae ©U H U HT 8l ATl T 91 BISd T af Had 98l 3% UHid @) Atd L I8T AT

IUT TR B UgHR 1Y TS T UY BT IR I8
W - il T Iga BHI?

1. B

2.9

3.l

4. TTH AP 1g!

Correct Answer :-

30) ST3faa ok gk T Ul # 7 AT & U TR &1 Rres fiiean 81 397 Srell A1 a=eR ol
AP 3RT A TP 5 & aPa A a1 fFar 71 95 sHiT F oy Right R A9 371 5901 FRU ve St
F1 YT -TE & A | TP TR TH 919d Sl ToRT| ¢ 3 S geRd §¢ Hel- 'gR 8l o 7 S’ gwad
H gl Bl TeaT THS ST & | T A SAD! gebR GADY 914 dT- & Uit Tolt & H1 §, 7 gH U=
NS @ SHIE &1 9917 aTel Had! df U g gl
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wel 9 wel ol

@t & [t =
forel fram1 B g,
& g ugEEI |

7€ A 99 3 a1a Gt 3R g 8t Yea a A 7| HETHRa § grUfRR o1 o ofd @ Ary fAruTar AR simar
2, 78 W Tt =0 A TP F1 &1 U1 94 A1Y BISd U df $ad Tel 37 Thid B Wid B TaT 4T

Sudad T $1 Ugd e IS T Y BT SR qaigd:
o - o’ 2eg & S ol &Y Farsul

1. TSI, IS

2. 91, fdda-rats auiH

3. 99, fem

4, G 3R GRS BT AT

Correct Answer :-

. a1, [daaTHes guiF

Topic:- Science (SCI)

1)
Find x, v and z representing the number of moles of the reactants and products in the skeletal
equation given below: |
A BT 0 9 HF GHIEIOT J ATEERET AR SR AHIAOE T AT A

gfafateca m—w‘raﬁrx: y3jﬁT z AT &
FeaO3 + xCO =2 yFe +zCOs

lLx=1lLg4=2 & 221
2.x=3, y=2& z=3
3.x=2, y=3,& z2=2
4.x=4, y=3 & z=4
Correct Answer :-

e Xx=3,y=28&z=3

2) What happens when a sound wave is propagated through a medium? /
afe eafy a7 U wrenw & yeia €, @ war gar g

1. The particles of the medium move perpendicular to the direction of propagation of the wave./
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AW & YT, T b UIR P {320 b dead MR 8d 81
2. The particles of the medium remain in the state of rest./
HIZH & HU [IHHEaRT H 35d
3. The particles of the medium make to and fro motion about their mean position./
HIEH & HUI, 37! {TeH TR & T SERSER- TN 81 & |
4. The particles of the medium are also propagated. /
wer & or o v i §
Correct A.nsw.'ér.:-
« The particles of the medium make to and fro motion about their mean position./

H1eaH & S0, 370! 71ed FRUTT & iy gerawR- nfaia gia §1

3) What are the common fishes selected for pond culture systems? /

arare Hae yonferat & forg Tafta $1 7€ wmea vefrt oH- §?
1. Sharks and rays /W 3R

2. Sardines and mackerals /ﬂ'l'%:[ 3R Aba

3. Mullets, bhetki and pearl spots / 11]@33?, e 3R Uet Wie

4. Catlas, rohu, mrigals, common carps and grass carps / Pcdl, ﬂE HITA, dHY cad GﬂT IS

EaL]

Correct Answer :-

« Catlas, rohu, mrigals, common carps and grass carps / dcdl, Q)IE, Hildd, dIH CDI'-Ir @ﬁ'\' Ul

4) The phenomenon responsible for the twinkling of star is: /

Rl @) feufeuge & forg IwRerh e g:
1. Dispersion and reflection / YRR 3R I
2. Reflection / TRTAT

3. Atmospheric refraction faTQIi?:?ﬂ'q SIPCLE|

4, Dispersion / UIR

Correct Answer :-

« Atmospheric refraction faTﬁﬁg?ﬁq IRE
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5) Which one of the following diseases is almost eradicated from our country? /

frafafee S foa ol &) gaR 3= S ay @@ & g g2
1. Dengue / ST

2. Malaria / AEIRAT

3. Encephalitis / ARTS® TMY

4. Poliomyelitis / iferar

Correct Answer :-

. Poliomyelitis/thﬁ"l'qu

6) The hotness of an object can be measured by its il
ot avg & ise @ 9P SRT HIYT ST ool g1
1. volume / 34

2. Temperature / dTUHIA

3. Size / HR

4. Density / YUcd

Correct Answer :-

« Temperature / A

7) The frequency of oscillation of a pendulum is one hertz. What is the period of oscillation? /
TP UGaH & SIa BI MG TP gedl ¢ | GIa Bt Sfafe T g2

1. 0.5s8

NG

3.1s

4,.0.1s

8) A body of mass 10kg is moving along a horizontal plane with a uniform velocity 10m/s for 5
seconds. The acceleration produced in that body is: /
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10 fFUT go0v= &1 Td FAd[, 10 Me/Ads & TH JUH AT A 5 Jhs & o8 TH &fas
Hdg & UG iaeie 8 1 39 e g1 Idfed @R 8:

1. 0.5 m/s?
2.2 m/s2
3.0 m/s?
4. 50 m/s?

Correct Answer :-

9) Complete the statement with the correct option given below:

Matter is anything that £
i fow 7Tt el ¥ 9 U8t iy gee Hy= @i guf &1
uerd a5 8
1. occupies space and has a definite mass. /

R BT 3 3R ot te Ffda geoaE g g

2. occupies space but has no definite mass. /
R ORT § < SHBT IS HIRd SoaH T8l sl g |
3. exists as a solid with a definite mass. /

T A3 Soq9M & 91 U 319 & &0 B HiSG aidl 6|

4. has a definite mass and a definite shape. /

wﬁ@ﬁwmwﬁ@aWﬁm%l

Correcl: Answer -

« occupies space and has a definite mass. /

R ORaT 2 3R Rorgest te Rfdd gorgM aidr |

10) Select the appropriate metal to be used to change the colour of an aqueous solution of
CuSOy from blue to colourless along with a red brown solid getting deposited. /

cuso, & TP faerg=, FoRTd a1a 4R 1 & 319 |1 §311 ¢ 3 g™ auT faass &) Fa
N [EH 99 & FT gged 814 arelt Sugad UTg &1 99+ H1 |

1. Silver. fﬁﬁ

Page- 41



2. Gold. / T

3. Mercury. / URIT
4, Zinc. / STl

Correct Answer :-

o Zinc. /Ol

11) Sharp edged metal pin will go easily into the wooden board because: /

A YR arell o1g 1 O ST & At & 91 | g At 4ife:

1. As area of contact reduces force increases / T REKR E’ﬁﬁ §c dedl %I

2. As area of contact reduces force decreases / JUPb éla' DH E?ﬁ qTd W“@?ﬂ %I

3. As the area of contact reduces the pressure reduces /[ & aﬂ wH 'ﬁ;ﬁ e B0 @Tﬂ %I
4. As the area of contact reduces the pressure increases /[ UG & FH A U ad dedl |

Correct Answer :-

« As the area of contact reduces the pressure increases / HU® &9 $H 814 § <19 9T 8l

12) A screw gauge with zero correction gives the following reading when used to measure the
diameter of a wire. Pitch scale reading = 0 mm and head scale reading = 52 divisions. Given
that 1 mm on main scale corresponds to 100 divisions of the head scale. The diameter of wire
from the above data is: /

YA JYUR & 1Y TP &P 7151 T R & AT D1 AU P g SuaiT § i o1 ®
Frafafaa & a8 1 e arae $fE = o findt ok 85 amues $f$n =52 @s1 R
w%ﬁs%g@nwm1ﬁ1ﬁ,%€m$$moﬁﬁ%sm%l SURTRT JET I dR
&1 T &:

1, 0.0052 cm /0.0052 T
2.0.052 cm /0.052 THT
3.0.26 ¢m/ 0.26 H

4.0.52 cm/0.52 9H

Correct Answer :-

. 0.052 cm/ 0.052 IHT

13) A dull green colour coating formed when a copper vessel is exposed to moist air for long.
The green material is a mixture of: /
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ST T did BT UTT dd GHY dP AT d1a1a307 3 IgdT 8, a1 39 UR TH g3 3 & Rd oH
w1t 21 98 &1 uerd fobe awdi &1 ue iy g:

1. Cu(OH), and CuO / Cu(OH), Td CuO

2. Cu(OH), and CuCO5 / Cu(OH), Td CuCO;
3. Cu(OH), and Cu,0 / Cu(OH), Td Cu,0

4, CuO and CuCO5 / CuO Td CuCO4

Correct Answer :-

« Cu(OH), and CuCO; / Cu(OH), Td CuCO;

14) Choose the incorrect property about colloids. /

PSS & IR qureH T I99 DI

1. Colloidal particles do not settle down when left undisturbed i.e. colloidal sols are quite stable /

BIASSH P HU e aF el OIHd ¢, 5Td T [ 3¢ Lid el DS a1 Sl 8,
FIaEed [dagd s1e RR 84 T

2. Colloidal particles are not visible to the naked eye. /
BIATLST HU A 38l BT femars 721 ol B

3. The size of colloidal particles lies in the range 107 107 em /
HIARSH HUI BT MHR 107 —1075 W, & HH A G T

4, A colloidal solution is homogeneous in nature /

TP FHIAZSd (9T UHia & Jolrdid gar gl

Correct Answer :-

« A colloidal solution is homogeneous in nature /

T BIESd [Aad- Upfa § goaig e g |

15) Identify an isotope used as a tracer to detect the blood clot in human body /

A9 TR # T & YFP BT Ud1 a9 & T Th TR & 0 H Uged g1 9T U
RIS ) Uga S|

1. Uranium — 235 / T - 235
2. Todine -131 / 3RS — 131

3. Sodium — 24 / QfSTH - 24
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4, Cobalt — 60 / BHIEIE — 60

Correct Answer :-

« Sodium—24/ oqfeay - 24

16) The product formed when iron reacts with steam is /
Tie 3R arey JTTHET | T el SUTG &:

1. FeO

2. FeH

3. Fe;05

4, FE304

Correct Answer :~

. Fe304

17) The role of decomposers in the ecosystem is /
uiRfRufad a3 § srqacs! Bt yfiieT gl 8
1. They do not act on organic compounds. / J FIe-d AP IR B BRG]

2. To convert inorganic materials into simple forms. / P TeTdl B TR T 0i § uRafid
DA

3. To convert organic materials into inorganic forms. / FED Uerdf ol fhTeHE =l
gRafdd &=

4. To convert inorganic materials into organic compounds. / BT US| BT Brar-iep AT H
gRafdd Bl

Correct Answer :-

« To convert organic materials into inorganic forms. / PSP UG Dl T =u) o
DA

18) The lightning arrester helps: /
1. To store the electric charges at the time of lightning /
qfSd & THY fagyd el ! IUBId B Al

2. Dissipate the electric charges in to the atmosphere /
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fagga sima<l &l argHsSd | Blg 71

3. Avoid the production charges on the clouds /
qTeel H 3TaRi & AT S g H |

4. To transfer the electric charges to the ground /

faqgd Smaen 1 HiH H RIFGRT X 7|

Correct Answer :-

« To transfer the electric charges to the ground /

frega sl T Hf¥r H RHdRd B3 Hl

19) How much electrical energy in Kilowatt hours is consumed in operating ten Swatt bulbs
for 10 hours per day in a month of 30 days? /

30 faY & ue wEA # ufd fo 10 62 & fR1E 5 91e & 20 Teal & w4l I fhalare gef &
frat fagga i @1 @ua gidl 82

1. 15 kWh

2. 150 kwh

3. 15000 kWh

4. 1500 kWh
(.:o.rrecl: Answ.re”t.‘.:; "
« 15kWh

20) Calculate the formula unit mass of MgSO,4.7H,0
[Atomic masses: Mg =24 u,S=32u,O=16u, H=1u]/
MgS0,4.7H,0 & T SHTs SHAT DI 0T H:
[UXHTY] SHHTT: Mg =24 u,S=32u,0=16u, H=1u]
1.286u

2.232u

3.246u

4. 198 u

Correct Answer :-

« 2460
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21) A bullet just sticks on a fixed wooden board when it is fired from a gun. The Kinetic
energy of the bullet is mainly converted in to /

dgd I Tt R 9TH W U Freifa awst & 9 uR et g9 ST § | et St afast
Soit g1 &0 A 30 ufkafdd g1 ot :

1. Only Heat energy/ebdcl ST Sl

2. Kinetic energy for the wooden board / m%@@%mmw
3. Only Sound energy/aﬁ'd g Sl

4. Sound and heat energy both / € 3{R ST SHuil Sl

Correct Answer :-

« Sound and heat energy both / @f IR AT Sl AT

22) Ina sunny day, when the atmospheric temperature is 37°C, the temperature inside a car,
which is parked on an open ground is: /

TP YU ard o ¥, 59 argdis ey arad 37° AT §ia1 8, ) TP $R & 3iey $I
ATIH, Y o Agr A @St ¢, e ghm:

1. Greater than or equal to 37°C / 37°C & SRR T HfUH
2. Equal t037°C / 37°C & SRT&R

3. Always greater than 37°C /379C T 3if¥p

4. Less than 379C / 370C ¥ &1

Correct Answer :-

« Always greater than 37°C / 37°C Y 3t

23) In a filament bulb the electrical energy is converted into: /
s fhamic g (4 9o) A fegd Suf ) 53w ufkafda frar smar @:
1. Chemical energy / IAH 3ol

2. Only heat energy / Bad &SI SHoll

3. Only light energy / BT T Sl

4, Light and heat energy both / UDIX] 3R ST Solf G|

Correct Answer :-

« Light and heat energy both / YPI[R] 3R ST Sult gl
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24) What is the valency of Carbon in Methane? /
WA F BT o TSTwar fea- 82

1. Valency of C = 2/ C &1 ATl = 2

2. Valency of C =1 / C P FISTSHT = 1

3. Valency of C = 4/ C &1 Ul = 4

4. Valency of C = 3 / C ! FaIoTehdl = 3

Correct Answer :~

. ValencyofC=4;’CﬁwW=4

25) Which among the following is a mixed anhydride? /

Frafafea & & w1 te A tiesss 82
1. CO,

2. N,0s

3.50,

4.NO,

Correct Answer :-

« NO,

26) Which of the following is not a control measure for the storage of grains? /
frafeea & & a1 sFTe HsRur ¥ g frizr Sura 5 32

1. Chemical method / JTTafes fafe

2. Fumigation / Qfﬁ

3. Plant products like mineral oils / WS T oI Uiey 3diq

4, Cultural method / ﬂw fafer

Correct Answer :-

« Cultural method / m fafa

27) Which of the following is a biotic component? /
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el d I FH-arve S aca &2
1. Air/ dIg

2. Water / SIcl

3. Soil / fg}
4. Living things / Siifad a¥q¢

Correct Answer :-

« Living things / Sfifdd a¥U

28) Which of the following is a chemical effect of electric current: /
e & 3 7 fagga vare &1 IR g

1. Producing a magnet using electric current /

faggd yarg &1 SugNT B Ueh Yaib Icdsl DRl
2. Producing heat in an electric kettle /
T 3aifded ddell H U Ie BRAT
3. Producing light using electric bulb /
feroTelt & Sed BT IUTNT DR UBTR I BIAT
4, Production of Hy and O, by passing current through water /

T YRT YaTfed P Hy 3R 0, BT T BT

Correct Answer :-

« Production of Hz and Oy by passing current through water /

g T URT TaTfed @b Hy 3R 0, BT IATGH BT

29) Name the property of the components used for separating salt and camphor. /

TP 3R YR P 3T B & forg T {52 S aTat gewp! & uier garsa|
1. Using separating funnel IWWWW

2. Magnetic separation / G [ GYdh Ul

3. Sedimentation / Sddlgq
4, Sublimation fGa"‘EEfCI'I?F[

Correct Answer :-

« Sublimation / 3edUTa
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30) Discoveries, inventions, laws, theories are all related to the il

@i, rfaseTR, fHraw, Rigia |t 9 Hefta g1
1. ease in daily living / &fee Shiga # 3Tt

2. study of science / o &1 ST

3. luxuries of life / STia- &b BSEERSIE]

4. satisfying human curiosity / ATATT ORI PI TP HIAT
Correct Answer :~ R Er

. study of science / A &1 3iema=

31) Not only formative but also summative assessment can be conducted
through: /

9 Had fAmtoare, afee amare s WY R & areaw @ denfera
forar & "o ar e

1. Homework / w

2. Question and answer sessions / UH IR B T
3. Projects / RIS
4. Self-evaluation of teachers / TRI&feT &1 -JAih

Correct Answer :-

. Projects / RIS

32) The drawback of Case Study method is that it does not lead to a: / $I-

welfafregquefdas____ uq@ Tl exdl 5l
i, Generalization / FTHTITEHRUT

2. Conclusion / FspY

3. Categorization / GFTIGBUT

4, Assimilation / THIATIHIU]
Correct Answer :-

« Generalization / AR
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33) Which of the following is not a feature of Continuous and Comprehensive

Evaluation (CCE)? / Faferfaa o 3 &9 WY wad vd sarus geais- ([1s)
CARCPIL G 3 K

1. It helps the teacher to learn about the existing concepts of students. / g EIEICE]

HISlal SaURUNST & IR § 9 J RRI1eie &1 ¥er™dl Hrdl g

2. It involves more frequent tests and examinations. /Eﬂﬁ TR TRTEOT 3R
ey wfmferd g &

3. It involves repeated assessment of the same parameter. / Eﬂﬁ Uh gl HFGUS &l
SR-SR 3Hidha Aferd gia g |

4.1t is a school-based evaluation. / T8 Teh [AITeTT-HTUTRT Tedich gl

Correct Answer :-

« It involves more frequent tests and examinations. /Eﬂﬁ TR G1&foT 3R
TRI&ME FiRTford gidl 8 |

34) Which of the following is not a scientific question? / Ffoafsf@add s

U Ay Uy 81 82

1. What is the density of water? / Uil &1 99cd feba %?
2. Why can we not see in the dark? / 8H 3R 1 o} el oW b %?

3. What is meant by a secular republic? / ﬂﬁﬁﬂﬁ&f MUTAH BT HT 3 21: %?
4. Why is the colour of sky blue? / SATHTT T T A1l T 872

Correct Answer :-

- What is meant by a secular republic? / gHAU T BT T Y %?

35) A formal event where multiple experts deliver their speeches is known

as . / T NS T Sigi s fIRuF MU= YTy 3d g,
9 ¥ W1 STl 2

1. Laboratory / TARTITAT

2. Symposium / gt
3. Exposition / PRI
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4, Workshop / PTIRITC

Correct Answer :-

« Symposium / TS

36) What is the name of the satellite that was placed in the geostationary
orbit specifically for increasing television-based education in India? /3 3UUE DI AH

1 8, A yRa | Sefifae-smurfia Rren &t 9gM & R iRy w3 y@Afas san
H 3@ T UT?

1. ERS2
2. EDUSAT
3. TechEdSat

4. ATS-6

Correct Answer :-
« EDUSAT

37) What is meant by intervarietal hybridisation? /
farfafaey Fawvor &1 Far 3k g 72
1. Crossing between different varieties of plants. /
e 3 s TpR & s Tepal (PIT)
2. Crossing between different genera. /
{21 TrSiifel & sftel Hehwal (hIRi)
3. Crossing between genetically dissimilar plants. /
TG T 9 s grel & o= Spar (i)
4. Crossing between two different species of the same genus. /

U ol 3 & ol f7 yonfaal & e Jaedn (ShIRi)

Correct Answer :-

« Crossing between different varieties of plants. /

qrelf & e TR & die HapvdT (hIRi)

38) Assessment standards are required to provide effective science education for all. To
assess teaching of science by science teachers in a classroom, which of the following
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is NOT applicable? / mﬁﬂ?ﬁmmné’rﬁirﬁﬁr&n WW%'I%I’E CIGaE]
P! B SATTIIDdl gial &1 P & g el gr1 o= & fRraror &1
i B34 & forg, Fafafea # ¥ i a1 Sugad 78 82

1. Parents’ view of the teacher. / fQT&IEF & rar-foar EFVE'@WI

2. Performance report of the students in the subject. / fawa & ST 3t uexH
RO |

3. Students’ feedback on the teacher. / QTWW BIEIEARIGIE R

4. Other school’s opinion of the science teacher. / 30 fa=Iadl &1 fa3m R1eid &
IRH|

Correct Answer :-

. Other school’s opinion of the science teacher. / 3= fagreral ot fogm R &
IRHM|

39) The factor that does not influence the formation of winds is: /

arg fmfor &t wyifae 9 @34 aren sRe = 8
1. Presence of mountain ranges / dd Rl & Sufufa
2. Presence of seas and oceans / TH&I IR TR &1 SURATT

3. Uneven heating of the atmosphere in different regions of the earth / q%?:i’rﬁs CIEEREIE:
qrdrdRur bl HAYHIA dld-

4. Rotation of the earth / qaapr Cal ‘Ej:Uf:f

Correct Answer :-

« Presence of seas and oceans / '\':Iﬂﬂ 3R TERITRI &1 JufRyfer

40) When a force of 1000N is applied on a particular surface the pressure acting on that
surface is found to be 10 Pa, then the area of the surface over which the force is applied
is /

w19 it faRiy Tae U= 1000 <Y1 FT 96 YU ST ¢ df 39 Wde UR T aTel ga1d 10 Pa Ul
ST ©, it 9 SFUANT | ST St foraT gt

1. 0.001 m?
2. 1000 m?2
3. 100 m?

4. 10 m2
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Correct Answer :-
« 100 m?

41) Four objects P, Q, R and S have the speeds 10m/s, 36km/h, 18km/h and 30m/s
respectively. Which of the two objects have the same speed? /

AR aegafi P, Q, R T S Tt 7ifal wH=T: 10 H/F, 36 [t/ wer, 18fdi/der ok 30+t/3 g1 fFa 81
axgait @t fa [ 22

1.Rand S/RTES
2.PandR/PTIR
3.PandQ/PTIQ
4.QandS/QUH S

Correct Answer :-

« PandQ/PUIQ

42) How many times the bob of the oscillating pendulum crosses the mean position in 20
oscillations?/

o Ugaw @ afa fraet 9 20 Siear & A R o 3@t 82
1.10
2. 20
3.40

4. 60

Correct Answer :-

43) A ball is dropped from a height of 100m. Find the time taken by it to reach the
ground. (g = 10m/s2)/

T® g 100 W Ft Sarg A RIS 91t 81 g &1 Yfdy 9@ ugea A fara=m Wy @i (g = 10m/s?)
2455

1
5425
%

3. 20s

4, 25s
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Correct Answer :-

2455

44) Amount of energy transferred from one trophic level to the next is /
TP T W1 A 30T Te TR H ARG SHoll #IART gl g

1. 5%

2. 20%

3.15%

4. 10%

Correct Answer :-

e 10%

45) The acid present in Rancid butter /
fagpa it wee & IufRa 3t g B

1. Butyric acid / SJf¢Re 3T

2. Acetic acid / URIeHh 31

3. Lactic acid / Qfgee 37

4. Formic acid / BIH® 3T

Correct Answer :-

« Butyric acid / Sg[CRe 31T

46) In an electric motor, the energy transformation is from: /

T fagyga Wiex #, Seit ufvad= a1 gian 3

1. Magnetic energy into electrical energy / '{j,dd?nlq Sl &l i'aqu Sl #
2. Mechanical energy into electrical energy / Wmﬁﬁﬂ'ﬂﬁmﬁ
3. Electrical energy into magnetic energy / faggd Sl &1 gadb i Hoil o

4. Electrical energy into mechanical energy / ﬁ?ﬂﬁ Sl &l S Sl A

Correct Answer :-

« Electrical energy into mechanical energy / faggd @il @1 TifAe ol o
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47) CANCELLED

Thick layer of fat called blubber is found in: /
TSR ATHS a1 B A} URa 399 Uil wire @
1. Whale / &9

2. Polar bear / §{d1d HTe[

3. Camel / 3

4. Shark | ¥$

Correct Answer :-

. Whale/ 9

48) Which one of the features mentioned below about decomposers is not applicable to
decomposers? /

s AqHTSie gl § 3R 9 7t &) are Hed §1

1. They transfer energy to the next trophic level in the food chain. /
d TR SEa § ST NYEHal TR W Holl RIHIdRd o g |

2. They are also called as saprophytes or reducers /

38 gaoiid! 1 TgHRS I HeTSTar sl

3. Decomposers are also scavengers and they clean the earth. /
3gee TS Hi BId § SR d gedt &I 61t e g

4. They help in recycling nutrients. /

+ They transfer energy to the next trophic level in the food chain. /
3 W ST H T NPT WR R Sl RIFTART $d 8

49) Which of the following is not a child-centred classroom? / fFafafead 3 PI-1

ATA-Pid DT Tl 82

1. Teachers promote collaboration in learning / FRI&® SMETH H TEANT Bl dgral
Sd gl

2. The teacher is a facilitator instead of an instructor / TRI&@® Uh RIS & T
TS TG0 5
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3. The teacher decides content, instruction method and assessments / Rrerw FI'EITﬂ,

e fafd SR 3neaq &1 fAvfg HRar gl

4. The students have a choice to pick assignments and decide assessment criteria /

BEI P UM RATZAHE T 3R Yeis AFES dd 63 &1 [adhe g

Correct Answer :-

« The teacher decides content, instruction method and assessments / e HITI"Jﬁ,

e fafdy 3R sirrer &1 vy wear g

50) Which of the following wastes is not bio degradable? /
frafafaa & & $19-T1 3ufkie a9 g o1 S sawfta 78 82
1. Vegetable peel / giesral o fad

2. Milk sachets / G4 & e

3. Cow dung / T T TR

4. News paper / 3WGdR

Correct Answer :-

« Milk sachets / §¥ & te

51) Which of the following learning approach is considered to be a derivative of the

Ausubelian approach? / AT # 9 P19 AT ARATH Ef@ﬂ'ﬂw, &ﬁ'{ﬁﬁm
T®I01 ST ST | ST 87

1. Experiential learning / ST D S{TETH
2. Collaborative learning approach / A ® SAfH I

3. Analogy strategy / FTE=T UM
4. Concept mapping / RIgT HHfHU

Correct Answer :-

. Concept mapping / RIT=d AR

52) Which of the following can help the students to learn science through kinesthetic

movemenb?]ﬁﬁ@ﬂﬁﬁﬁ@fﬂﬂﬁmmﬁﬁaimmﬂﬁmw
H W PR APl 8?

1. Written test / Terfad uteq
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2. Debate / Ale-fadrg
3. Drama / dICh

4. Quiz / THIRT

Correct Answer :-

« Drama/-Ich

53) If an object is kept in between the principal focus and the centre of curvature of a
concave mirror, then the nature of the image will be: /

gfe forsft ovg ) 4o1 By 3R 3aad gUUT & aspdl & Pg | @l ord 8, o S 3t upfa grit:
1. Real, enlarged and inverted /amﬁ?ﬁ, G{f\lﬁfﬁﬂ@ﬁ
2. virtual, diminished and erect / &Tlm, ﬂ?ﬁﬂﬁ@@iﬂ

3. Real, diminished and inverted IW, Q-ig?f%ld ud I

4, Real, diminished and erect/ drxifdd, Ygpfad Td Hiet

Correct Answer :-

« Real, enlarged and inverted /amﬁa, e@a’fﬁaqaaaﬁ

54) People of different age groups need different amount of sleep. Who among the
following needs more sleep? /

faftrer smg ovf & <l Y SreT-3rerT A/ § g $1 smazgwar gt 81 Fafafaa # @ fed g ot
T 3 S=d gl 82

1. Child / d<dl
2. Infant / fQT-’{L

3. Man /Y=Y
4, Woman /ﬂ‘%ﬁf

Correct Answer :-

. Infant/ﬁlﬂ

55) The force of 100N is acting normally on a surface of 2.5 m2, The pressure acting on
that surface is: /

2.5 m2 B! TP g W JHIA: 100 N BT I TTIT SI1dT 8 | Hag U= o arell gard 8:

1. 400 N/m?2
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2.40 N/m?
3.4 N/m?
4, 250 N/m?2

Correct Answer :-

« 40 N/m2

56) A teacher is trying to nurture an aesthetic sense in his students, he should

encourage them to: / WﬁT&ﬁ? 3 mﬁﬁaﬂﬁﬂmﬁwmﬁaﬂ
DI B ¥ET ¢, I 3¢ WieATigd BT AT fob:

1. Investigate ideas / [d@R] @1 S &Y
2. Development of models of inquiry / ST & yfaHH (ﬂu'l?:f'l) CARCEAR GRS

3. Observe phenomenon keenly / 9] Gal S Pl |
4. Frame questions / d Y IR B |

Correct Answer :-

. Observe phenomenon keenly / Bl bl S chdl g |

57) Which of the following would not promote active discussion? / Frafafaa Ao

A DI Alhd T4 B ggIaT A6l gIT?
1. Selecting topics from upcoming tests. / STTHT wRiefn 9 fawl &1 o A1

2. Summarizing ideas with the help of learners at the end of a discussion. / EElkd
3id o Rianfil o1 werdr ¥ fauRl & YRR BT

3. Acknowledging learners for responses. / Ufafshar & forg fRrenfial & Wier
Pl

4. Encouraging questions as well as responses to each other’s questions. / qaral &l

GreTied BT Ud H1Y B Teh-g &R & Ul T STaTd ST

Correct Answer :-

« Selecting topics from upcoming tests. / SATTHT Tiefur & fawl &1 9g= AT

58) Which of the following statements is false with respect to scientific theories? /

Ay Rigial & Jau A Auferfad 7 @ &4 91 oy Tad 872
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1. A theory must be tested with rigour. / TP TGId BT Toedl & 1Y GRI&07 fopam S

Bl
2. Theories must follow observations. / |%I§IEI { &1 DI&0T} BT T BT %IT%E{I

3. Theories may be expressed as an equation. / Rrgrdl ﬁ@ﬂzﬂm & TUH
e foan o T g |

4. Predictions of theories must be reproducible. / Rigr! & Hia=aTomT sEey
¥ Y GTEdIEHd gl 918t

Correct Answer :-

. Theories must follow observations. / @@Iﬂ K3 ﬁ&l'ﬂﬁ CARCINEICESI ﬂT%T{I

59) A scientific theory cannot be expected to: / T® e Rigia & sraem T8)
D oI Abell b -

1. Predict all outcomes / G TRUIHS &7 qﬁfﬂ'ﬂﬁ |
2. Resist falsification / 3TTHU BT [ARIY B
3. Receive questioning / Ul &1 U B

4. Change with time / q9g & 1Y dedl |

Correct Answer :-

. Predict all outcomes / THT GRUTHT BT q\fﬁﬂm:[ Sl

60) Overuse of chemical fertilisers in agriculture makes the soli acidic and the land infertile.
What substance is generally added to the soil to neutralize this effect? /

ST T IS FaP! &b 3ifey TanT & Frd arefta gt @ T yf¥T Srguess 81 ot 21
$H THTT B 3R H31 & fore Irar=aa: 5 uerd &t frdht & framar smar 82

1. NaOH

2. Mg(OH),
3. NayCO3
4. CaO

Correct Answer :-

« CaO
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